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Q-1 Read the passage and answer the question:
Maya Lin is an American artist and architect known for her unique and thought-provoking works. She gained
widespread recognition for her design of the Vietnam Veterans Memorial in Washington, D.C. The memorial features a
black granite wall with the names of over 58,000 soldiers who died during the Vietnam War. This design is both simple
and powerful, evoking a sense of reflection and remembrance.
What feeling does the Vietham Veterans Memorial design aim to evoke?

Happiness and celebration D B Anger and frustration D

Reflection and remembrance D D Confusion and chaos D
Correct Answer : C

Q-2 What is the synonym for BENEVOLENT?

Kind D
D Envious D
Correct Answer : B

Hostile

C Sad

00

Q-3  Synonym for ECCENTRIC
B Common D

D Strange D
Correct Answer : D

Normal

o0

C Boring

Q-4 What is the term for a fear of heights?
Claustrophobia O

D Hydrophobia D
Correct Answer : A

Acrophobia

00

C Arachnophobia

Q-5 What is the correct spelling?
Accommodate D

Acomodate D
Correct Answer : B

Accomodate

00

Acommodate

Q-6  Which option has the right spelling?

B Rehthym O

D  Rhythm O
Correct Answer : D

Rhythem
Rhythym

00

Q-7 Identify the word with the correct spelling:

Recieve Receive D

O B
Recievee O D Reiceve O

Correct Answer : B



Q-8 Which option corrects the sentence? My sister, along with her friends, are going to the concert.

A My sister along with her friends, am going to O B My sister, along with her friends, were going O
the concert. to the concert.

C My sister along with her friends is going to O D My sister, along with her friends, is going ([}
the concert. to the concert.

Correct Answer : D

Q-9 The artist is skilled creating intricate designs.

In O B On O

Into D D At D

Correct Answer : D

Q-10 The project's complexity many experienced engineers.

A Bewildered D B Has bewildered D

C Bewilders O D Bewildering O
Correct Answer : B

Q-11 By the time the rescue team arrived, the hiker for hours.

A Was missing O B Had been missing D

C Missed D D Has missed D

Correct Answer : B

Q-12 What does the idiom “A penny for your thoughts” mean?

A Share your opinion freely. D I'll give you money if you talk. D

C You're lost in deep thought. D You're thinking about spending money. O

Correct Answer : A

Q-13 What is the meaning of the idiom “Cry over spilled milk"?

A Don't cry at all. O B Clean up a mess quickly. O
C Don't regret past mistakes. D D Always be cautious. D

Correct Answer : C

Q-14 Arrange the following sentences in the correct order to form a coherent paragraph.
A) She decided to take a walk in the park.
B) The sun was shining brightly.
C) Birds were chirping in the trees.
D) As she strolled, she felt a sense of peace.
E) It was a beautiful day.

A-B-C-D-E O B B-A-C-E-D O
E-B-C-A-D O D B-E-C-D-A O

Correct Answer : C

Q-15 Arrange the following sentences in the correct order to form a coherent paragraph.
A) He decided to write a heartfelt thank-you note.
B) The surprise gift arrived at his doorstep.



C) John was overwhelmed with gratitude.
D) Inside the package was a beautiful watch.
E) It was from his colleagues who appreciated his hard work.

A-B-C-D-E O B B-D-A-E-C O

C E-B-D-A-C O D B-E-D-A-C O
Correct Answer : DROPPED

Q-16 Which sentence contains an error?

A He's been working as a doctor since five D B The book that I'm reading is very interesting. D
years.

C She was very tired, but she still cooked D D Every student in the class is eating. D
dinner.

Correct Answer : A

Q-17 What is the term for a brief outline or summary of the main points of a text?

A Synopsis D B Index D

C Prologue O D Glossary ()]
Correct Answer : A

Q-18 What is the term for a government ruled by a single person with absolute power?
A Democracy O B Monarchy O

C Oligarchy O D Autocracy D
Correct Answer : D

Q-19 What is the term for a word or phrase that reads the same forwards as it does backwards?
A Anagram D B Palindrome D

C Synonym O D Antonym O
Correct Answer : B

Q-20 Which word does not belong in the group?
A Esoteric Abstruse D

O B
C Lucid D D Cryptic O

Correct Answer : C

Q-21 Identify the sentence that does not follow the same grammatical pattern as the others:

A He is not only intelligent but also D B She not only sings well but also dances D
hardworking. gracefully.

C Not only did they complete the project, but O D Not only the cat but also the dog enjoys ([}
they also exceeded expectations. playing outside.

Correct Answer : D

Q-22 Which word is the odd one out?

A Inquisitive

00

Curious O
O

C Inquiry D Investigative



Correct Answer : C

Q-23 Choose the phrase that does not match the others in tone:
A Eager anticipation O B Grim determination O

C Jubilant celebration O D Nonchalant attitude D
Correct Answer : D

Q-24 Among the following idioms, which one is the odd one out?
A Beat around the bush O B Biting off more than you can chew O

C It's raining cats and dogs D D The early bird catches the worm D
Correct Answer : C

Q-25 What is the antonym of LOQUACIOUS?

Chatty 0O

D  Voluble O
Correct Answer : C

A Talkative D
O

C Reserved

Q-26 Choose the option that improves the sentence: He is not only a great scientist, but also a kind person.

A He is not only a great scientist, but also O B He is not only a great scientist, but also O
kind person. he is kind person.

C He is not only a great scientist, but he is D D He is not only a great scientist but a kind D
also kind person. person also.

Correct Answer : DROPPED

Q-27 This question has a sentence with three parts labelled (i), (ii) and (iii). Read each sentence to find out whether there is
any error in any underlined part. Choose the option with the option which has an error and if you find no error, your
response should be indicated as (iv).

I can’t agree with you more (i) / on the point that (ii) / the team needs a new coach. (iii) / No error (iv).

A (D) 0 8 i) O
c (i) ()] D (iv) O

Correct Answer : A

Q-28 The odd word from the following is
A Planets Sun D

0O B
C Universe D D Moon O

Correct Answer : C

Q-29 Identify the sentence with the correct improvement: The car is too expensive for me to buy it.
A The car is too expensive for me to afford. D B The car is too expensive for me to buy. O

C The car is too expensive that I can't buy it. D D The car is too expensive to buy it. D
Correct Answer : A

Q-30 The negotiations a positive outcome.

A Is leading D B Has led D



Q-31

Q-32

Q-33

Q-34

Q-35

Q-36

Q-37

Q-38

Have led D D
The rain for days, causing flooding in many areas.
Continues O B
Is continuing D D

What does the idiom “A taste of your own medicine” mean?

Taking a bitter pill.

Experiencing the same treatment you've

given to others.

O
O

B
D

Are leading

Has been continuing

Continued

Treating others kindly.

O

Correct Answer : C

O
O

Correct Answer : B

O

Have been treated differently than others. D

Correct Answer : C

Raghav said to Raman, “Don't count your chickens before they hatch.” What does Raghav mean to say?

Chickens can't be counted.

Don't rely on uncertain outcomes.

Choose the right spelling:
Embarras

Embarass

What is the correct spelling?
Inoccent

Innoocent

Change the voice of the following sentence:

The chef is preparing dinner.
Dinner was being prepared by the chef.

Dinner will be prepared by the chef.

Change the voice of the following sentence:

Someone has stolen my bike.

My bike was being stolen by someone.

My bike will be stolen by someone.

Change the voice of the following sentence:

She is washing the car right now.

O
O

00

00

00

o0

B
D

Be cautious while counting.

Always count your possessions.

O
O

Correct Answer : C

Embarrass D
Embarrase O
Correct Answer : B
Inocent O
Innocent D
Correct Answer : D
Dinner is being prepared by the chef. D
Dinner has been prepared by the chef. D
Correct Answer : B
My bike had been stolen by someone. D
My bike has been stolen by someone. D

Correct Answer : D



A The car is being washed by her right D B The car was washed by her right now. D
now.

C The car will be washed by her right now. O D The car has been washed by her right now. O
Correct Answer : A

Q-39 Change the narration of the question from direct to indirect and vice-versa:
She told me that she was reading a book.

She said, “I am reading a book.” D B She said, “She is reading a book.” O
C She said, “"She was reading a book.” D D She said, "I was reading a book.” D

Correct Answer : A

Q-40 Change the narration of the question from direct to indirect and vice-versa:
“I will help you with your homework,” she promised.

A She promised that she will help me with my D B She promised that she would help me D
homework. with my homework.
C She promised to help me with my homework. D D She promised helping me with my homework. D

Correct Answer : B

Q-41 Change the voice of the following sentence:
People must report any suspicious activity to the security office.

A Any suspicious activity must be reported D B Any suspicious activity must have been D
to the security office by people. reported to the security office by people.

C Any suspicious activity must be reporting to D D Any suspicious activity must report to the D
the security office by people. security office by people.

Correct Answer : A

Q-42 Change the voice of the following sentence:
They have awarded him the Nobel Prize for his contributions to science.

A He has been awarded the Nobel Prize for D B He has been awarded the Nobel Prize for D
his contributions to science by them. his contributions to science by them.

C He has awarded the Nobel Prize for his O D He has been awarded the Nobel Prize for ([
contributions to science by them. his contributions to science by them.

Correct Answer: ABD

Q-43 Arrange the following sentences to form a coherent paragraph.
A) She carefully examined the ancient manuscript.
B) The historian wore white gloves as he handled the delicate artefact.
C) After hours of study, she discovered a hidden message.
D) This discovery shed light on a long-lost civilization.
E) With excitement, she shared her findings with the academic community.

A, B,C D, E O B B,ACED O

C BACDE O D D,CABE O
Correct Answer : B

Q-44 Arrange the following sentences to form a coherent paragraph.
A) The author spent years researching the topic before starting to write the book.
B) The novel became an instant bestseller, captivating readers around the world.



Q-45

Q-46

Q-47

Q-48

Q-49

Q-50

C) Readers praised the book for its deep insights and thought-provoking themes.
D) The writing process was challenging, requiring multiple revisions and edits.
E) The book's success surprised even the author, who was overwhelmed by the response.

A, B,CD,E O B D,A C, B, E O

E,ACD,B O D B,C,A,D,E O
Correct Answer : DROPPED

Identify the adverbial phrase in the sentence: “After finishing his work, he went for a walk.”

For a walk D B He went for a walk D
After finishing O D  After finishing his work O

Correct Answer : D

Identify the infinitive phrase in the sentence: “To travel the world is her ultimate dream.”
To travel the world D B Is her ultimate dream D

Her ultimate dream O D Travel the world O
Correct Answer : A

Select the correct absolute phrase: “His hands shaking, he signed the contract.”
He signed the contract D B His hands shaking D
His hands were shaking D D Shaking his hands D

Correct Answer : B

Change the narration of the question from direct to indirect and vice-versa:
"I saw him at the park yesterday,” Mark said.

Mark said that he saw him at the park the O B Mark said that he had seen him at the O
previous day. park yesterday.
Mark told that he saw him at the park the day O D Mark said that he had seen him at the D
before. park yesterday.

Correct Answer : BD

Change the narration of the question from direct to indirect and vice-versa:
They told her that they had seen the movie before.

They said, “We had seen the movie before.” O B They said, "They have seen the movie O
before.”

They said, “They had seen the movie before.” () D They said, “We have seen the movie O
before.”

Correct Answer : D

Read the passage and answer the question that follow:

Art is a universal form of expression that spans across cultures and generations. It encompasses a wide range of
mediums, from painting and sculpture to photography and digital art. Artists use their creativity and imagination to
convey emotions, ideas, and messages through their work.

One of the most famous art movements is Impressionism, which emerged in the late 19th century. Impressionist
artists aimed to capture the fleeting effects of light and color in their paintings. Rather than focusing on intricate
details, they used loose brushstrokes to depict their subjects. Claude Monet, known for his series of water lily
paintings, is a prominent figure in the Impressionist movement.



Q-51

A

Q-52

Q-53

Q-54

Art can serve as a reflection of society, depicting cultural norms, social issues, and historical events. During times of
turmoil, artists often use their creations to voice dissent or inspire change. Picasso's "Guernica," for instance, is a
powerful anti-war painting that conveys the horrors of the Spanish Civil War.

The interpretation of art is highly subjective. Each individual may perceive a work of art differently based on their
personal experiences and emotions. This diversity of interpretation adds depth to the artistic experience, inviting
viewers to engage with the art on a profound level.

Why is the interpretation of art subjective?

Because artists use intricate details. O B Because artists only depict historical events. O
Because viewers engage with art on a D D Because each person's experiences and D
profound level. emotions influence perception.

Correct Answer : D

TP JHTEH! BT 3R SIRT R gU, TP AR 7 HgT, “IqD! A A [T BI Hhaid ot 871 Afgan &1 1 ¥ o1 Yaiey g2
Pointing to a man, a woman said, “His mother is the only daughter of my mother”. How is the woman related to the
mother?

|t O B & O

Mother Daughter
i O »o =@ O
Sister Grandmother

Correct Answer : DROPPED

U ¥gad YNGR H fudr, e, 3 faarfed 4o iR ueb sifdanfed & 31 9 # 9 &1 &1 al-al afedi § 3R TP $1 U& 9l 8| URaR |
forar Afge e &2
In a joint family, there are father, mother, 3 married sons and one unmarried daughter. Of the sons, two have 2
daughters each and one has a son. How many female members are there in the family?

O

2 O B
O

2
6 O D
6
Correct Answer : D

O v Ww

fufafed vde Wer yaar § a1 a1 Ue Ue g § A1 7Ted 7, o A IR fadedt & 9 uh & w9 H foar m g

1, 5, 14, 30, 55, 93.

In each of the following number series, either one term is missing or is wrong, which has been given as one of the four
alternatives under.

1,5, 14, 30, 55, 93.

97 O B 95 O

97 95
93 O D 55 O
93 55

Correct Answer : C

fafafd SHE & ergdes ug SR 3UP d1¢ 3 aTd UY & SR S|

TH IRAR S I ST IGW P, Q, R, S, T 3R U Th WY I R | 81 Q, R BT YA &, A1 R, Q &1 A &I &1 P 3R R T faarga
WASEIT,RFTUS RIS, PHI I 8l U, Q HT US Bl

IRaR & o 7oW 9ew §?

Read the following information carefully and answer the question that follow.

All the six members of a family P, Q, R, S, T and U are travelling together. Q is the son of R, but R is not the mother of
Q. P and R are a married couple. T is the brother of R. S is the daughter of P. U is the brother of Q.

How many male members are there in the family?



Q-55

Q-56

Q-57

i'e7) D B a D

One Two
ikl O D EUR O
Three Four

Correct Answer : D

fafafad SHER & ey ug iR 3P d1¢ 3 aTd UY & ST S|

TH URAR & I B8 S P, Q, R, S, T 3R U U 1Y IR IR | 8l Q, R BT YA §, Afba R, Q &t Al &l g1 P 3R R Uw faarfea
WS EI T, RHIHUE IS, PHI It 81 U, Q BT HIE B

frofifed & 9 oF O ofganst @t el 82

Read the following information carefully and answer the question that follow.

All the six members of a family P, Q, R, S, T and U are travelling together. Q is the son of R, but R is not the mother of
Q. P and R are a married couple. T is the brother of R. S is the daughter of P. U is the brother of Q.

Which of the following is a pair of females?

PT O B Qs O
PT QS
su O D PS O
su PS

Correct Answer : D

fafafed e B eFyde ue iR IS a1g 3 aTd Uy & SR S

BEAP, Q, R, S, TR U TH &9 & T § 3R Hedld, forde, 29, aRdedrd, defiicd 3R didiald &1 T A W Qad g
T, St P 3R S 9 o 7, T Wt 7

ITH § T 1 Afdd SRbesial Jerdl 2

I § Yo Blel fad dlefisia TeraT g

Q 3R S 7 I alciEid 3R 7 & IRPpedd Jad gl

R diciierd AddT g

Pedld Wa- a1 Q 3R SHAls F HH A P & oA T B

fafifed § ¥ & 91 By ¥ el 872

Read the following information carefully and answer the question that follow.

Six friends P, Q, R, S, T and U are members of a club and play a different game of Football, Cricket, Tennis, Basketball,
Badminton and Volleyball.

T, who is taller than P and S, play Tennis.

The tallest among them plays Basketball.

The shortest among them plays Volleyball.

Q and S neither play Volleyball nor Basketball.

R plays Volleyball.

T is between Q who plays Football and P in order of height.

Which of the following statements are not true?

P, R¥ BT ? (0 B Qs3dws O
P is shorter than R Q is taller than S
S, Ry T & 0O D T, RITNST 0O
S is taller than R T is taller than R

Correct Answer : A

fufafad SHER & ergds ug SR 3UF &g 3 a1 UY & SR S|

TP, Q R, S, TR U TH &6 & U ¢ 3R Heard, fhde, 29, TRwvesld, dsfiier ok aidiela &1 Ud e ¥ Jad o
T, Sl P 3R S ¥ & 8, Y QT g

I A G oaT Afad TRbesid Qad gl

I8 ¥ T BleT Afad draard Qerd g

Q ¥R S 7 d afcliard 3R 7 & SRFesld Ted g

R dTciiale AT |

Pead W a1 Q R Sas F HH AP H A T 7l

S o1 Jad 82

Read the following information carefully and answer the question that follow.

Six friends P, Q, R, S, T and U are members of a club and play a different game of Football, Cricket, Tennis, Basketball,



Badminton and Volleyball.

T, who is taller than P and S, play Tennis.

The tallest among them plays Basketball.

The shortest among them plays Volleyball.

Q and S neither play Volleyball nor Basketball.

R plays Volleyball.

T is between Q who plays Football and P in order of height.
What does S play?

A fbde O B Ssfied O
Cricket Badminton

= O b a@d(@)a(b) O
Football Either (a) or (b)

Correct Answer : D

Q-58 MHAfIET SIHHBRT &1 eMyd® U¢ 3R I¥P §1G 3 aTd U &b IR 4
TR 3R 2R0r Y 3R g Breb <) Ufkal B e AT W B8 Wi P, Q, R, S, T 3R U I 3fdfed fbu e Bl
Q Pl IR oz B 3R T qTen Wi Feiar € 3R 98 S b I § el §
S 3R U & fawula: faudia waie fired €1
U & &7 a1l R &Y a7 1 3R a1 Ueie fBedr 8 iR T &1 SR &1 3R a1al Ueie e g1
SU & 3fadT 3 fhd SiIe & Uale U gER & fawuia: faudia §2
Read the following information carefully and answer the question that follow.
Six flats on a floor in two rows facing North and South are allotted to P, Q, R, S, T and U.
Q gets a North facing flat and is not next to S
S and U get diagonally opposite flats.
R, next to U, gets a South facing flat and T gets a North facing flat.
The flats of which of the other pairs than SU, are diagonally opposite to each other?

A QP O B QR O

QP QR
c PT O D TS O
PT TS

Correct Answer : A

Q-59 MU 3rethl-gARD e H gui ue TIol:

Z1A, X2D, V6G, T21], , P445P
Find the missing term in the following alpha-numeric series:
Z1A, X2D, V6G, T21], , P445p

A  R88M O B S88N O
R88M S88N

C  Q676L O D  T2670N O
Q676L T2670N

Correct Answer : A

Q-60 MHfIEd uy 7, 98 Te g ot AT 1T de &1 Femaft & 99 3
faar mar ¥e: 992, 733, 845, 632
In the following question, choose the number which is similar to the numbers in the given set:
Given set: 992, 733, 845, 632

A 114 O B 326 O

114 326
c 425 O D 947 0O
425 947

Correct Answer : C



Q-61 MafiEd uy # IR Wz fad T 81 oM F o7 el TRe A Top ORA €, SIafob =T Sfervl &1 SR Wed |
In the following question, four words have been given. Out of which three are alike in some manner, while the fourth
one is different. Choose that odd one.

A o O B e O
Violet Blue

c wg () o dw O
White Yellow

Correct Answer : C

Q-62 &R P1 T8 FE I ol gl I 1A B

Choose the group of letters which is different from others.

A DXCLQZ O B PFZUBM O
DXCLQZ PFZUBM

C  XGKNTY O D  NWMBHJ O
XGKNTY NWMBH]

Correct Answer : B

Q-63 MAfET Je gfaen # a1 dl T UG qw 8 I1 7Terd 5, Sl 59 SicHid IR fabedl § T & ¥ H faar 11 51 98 4o gel
1, 5, 14, 30, 55, 93
In the following number series, either one term is missing or is wrong, which has been given as one of the four
alternatives under it. Find that number.
1, 5, 14, 30, 55, 93

A 97 O B 95 O
97 95

c 93 O D 55 O
93 55

Correct Answer : C

Q-64 UM RED &1 6720 & FU # HIfSd fbar 1 8, T GREEN &I bd Hifsd fohar smg?
If RED is coded as 6720, then how would GREEN be coded?

A 1677199 O B 1677209 O
1677199 1677209

C 16717209 O D 9207716 O
16717209 9207716

Correct Answer : B

Q-65 U MIfEd IS H, RAIN BI 8$%6 & =0 # el STl & 3R MORE &1 7#8@ & ¥4 H feral &Il §1 34 $Is # REMAIN & fera

ST@I?
In a certain code, RAIN is written as 8$%6 and MORE is written as 7#8@. How is REMAIN written in that code?

A 8@7$%6 O B #@7$%6 O
8@7%$%6 #@7%$%6

C  #@%$%68 O D 7@#$%6 O
#@$%68 7@#$%6

Correct Answer : A

Q-66 HfIREd STHHRT I eryd® u¢ iR Fafifed uy & Iw &
o Afda Pc HINT T, 481" &1 3 g ‘sky is blue’; ‘246’ &I 3 § ‘sea is deep’ 3R 698’ &1 31 § ‘sea looks blue’
‘looks’ BT HIE PIF I FeR §?



Q-67

Q-68

Q-69

Read the following information carefully and answer the question that follow:

In a certain code language, ‘481" means ‘sky is blue’; ‘246" means ‘sea is deep’ and ‘698’ means ‘sea looks blue.’

What number is the code for ‘looks’?

4 O B
4
8 0O D
8

v oo

O
O

Correct Answer : D

Tfe ENGLAND &7 1234526 forar 91 § 3R FRANCE &1 785291 forar ST §, df GREECE &1 &9 hifgd fhar Smam?

If ENGLAND is written as 1234526 and FRANCE is written as 785291, how is GREECE coded?

381171 O B 381191
381171 381191
832252 O D 835545
832252 835545

fafafied uds uy #, 98 I g4 S 3T U Je ot Jemsii & IuH §:
PQR,S, T, US3R VT MAHR I & IRl 3R 3¢ a1 Td 8 &

S, RT1 T &1 USIEt =gt &1

P, Q 3R R &1 TSR g

V, SIS FaC Y g VMW E, T 3R U BT ISR g1

gAY o oI 72

Read the following information carefully and answer the question given below it.
P, Q, R, S, T, Uand V are playing cards sitting around a circular table.
S is not the neighbour of R or T.

P is the neighbour of Q and R.

V, who is second to the left of S, is the neighbour of T and U.

Which of the following is correct?

QPIRsSFHAR O B S P3RVHHER

Q is between P and S S is between P and V

T, V& Mdcad e § O D U, V¥ Mecaaany

T is to the immediate right of V U is to the immediate left of V

fufafad vde uy &, a8 Wear g4 o U U I 3t Weasft F IHH -

PQ R,S, T, U 3RV TH MAHR I & IRl 3R 9 a1 Td 8 B

S, RO T &1 Usil gl g1

P, Q 3R R &1 USR8l

V, S SH MUY M IYFARE, T AR U FHT IS g

T 3R S R 3UAT R deeH & a1g MHfarad § & S &1 RIF SH I gim?

Read the following information carefully and answer the question given below it.
P, Q, R, S, T, Uand V are playing cards sitting around a circular table.

S is not the neighbour of R or T.

P is the neighbour of Q and R.

V, who is second to the left of S, is the neighbour of T and U.

Which of the following will be S’s position after T and S interchange their positions?

V 3R R ®1 TSt O B R® 3% g R
Neighbour of V and R To the immediate left of R
U & 31 arfett ol O D R 3R P& ISR

To the immediate right of U Neighbour of R and P

O
O

Correct Answer : B

O
O

Correct Answer : A

O
O

Correct Answer : A



Q-70 MHIREd g@em o1 gui ue Id Bifo:

4, 10, , 82,244,730
Find the missing term of the following series:
4, 10, , 82,244, 730

A 218 O B 77 0O
218 77

c 28 O D 24 O
28 24

Correct Answer : C

Q-71 R Us MfEd BIS #, BAT = 23, 3R CAT = 24 &, T BALL BT BIS §
If in a certain code, BAT = 23, and CAT = 24, then the code of BALL is

A 120 O B 32 O
120 32

c 28 O D 27 0O
28 27

Correct Answer : D

Q-72 U 321465987 H fob 3ieh! i FRUNT THI 871t &1l 3fehi bl SRIGT A H FaRd fobam Sem|
The positions of how many digits in the number 321465987 will remain same when the digits are arranged in
ascending order.

A T O B & O

One Two
c @ O D 3R O
Three Four

Correct Answer : C

Q-73 MafefEd demeli @ 8 arell af siepl areft emef & fbd- oM S S Wehdl &2

8,5 21,7,6
How many combinations of two-digit numbers having 8 can be made from the following numbers?
8,521,7,6

A 12 O B 11 O
12 11

c 10 O D 9 O
10 9

Correct Answer : B

Q-74 11950 o T fbaft Teamd € ot 7 § quia: fawrsa & dfet 3 9 &l?

How many numbers from 11 to 50 are there which are exactly divisible by 7 but not 37

2 O B 3 O
2
C 4 0O D O

Correct Answer : C

NN W

Q-75 60 TSH AR ASiHAl & g H TSP P! GBI ASH BT gl H QN &1 HHA T BT dsH] Y I T6d VM W 31 Ia A &
3T 9 TSl §, O IUP d1G ¥ | dSH! &I Wl §
In a group of 60 of boys and girls, the number of girls is twice that of boys. A boy named Kamal ranked Seventeenth
from the top. If there are 9 girls ahead of Kamal, the number of boys after him in the rank is




A7 O B 3 O

7 3
c 23 O D 12 O
23 12

Correct Answer : D

Q-76 3foTd ST &I g H 15 fiie usd TR ¥ 99 €4 & R | 99-% 7% ugar # 10 firie @d 81 98 Y98 8:40 T9l WA IR
Ugd| 98 AR R §9-%10 & o R foram I Fdparar g2
Ajay left home for the bus stop 15 minutes earlier than usual. It takes 10 minutes to reach the bus-stop. He reached
the stop at 8:40 A.M. What time does he usually leave home for the bus-stop?

A g8 8.30 T O B 9% 8.45 T O
8.30 A.M. 8.45 A.M.

C  YIE8.55% O D T IDE TR O
8.55 A.M. None of these

Correct Answer : B

Q-77 NMAR I UK fAaw BT SEHT UT| 1! HIH B1 14 ARG BT U R1awify T get 8. 14 G &1 S 41 a7 ure
Saturday was a holiday for Republic day. 14th of the rest month is again a holiday for Shivratri. What day was it on the

14th?

A 9HER O B  HIWAR O
Monday Tuesday

C TFaR 0O D HAR O
Thursday Friday

Correct Answer : DROPPED

Q-78 U 1 TRadl 2004 HI gYAR &, Al 3 HE 2004 P I A1 a7 82
If February 1, 2004 is Wednesday, what day is March 3, 20047

A RfdER O B &R O
Sunday Saturday

C  gHAR O D  UWaR O
Friday Monday

Correct Answer : B

Q-79 Ira § 5 < AT BT HeleR TP ST gl 82

Which two months, in a year have the same calendar?

A, HER O & i@ =R O
June, October April, November

c ol gems (0 b o%R RE=w O
April, July October, December

Correct Answer : C

Q-80 TR LB+ 8, MBI &, NBT 3 'x T ARPHI 3 '+'8, AW 14 N10L42P2 M8 B AN §
If L stands for *+’, M Stands for '-’, N stands for *x’ and P stands for '+’, then the value of 14 N 10 L42P2 M 8 is

A 153 O B 216 O
153 216

C 248 O D 251 O
248 251

Correct Answer : A



Q-81 U 'x B3R+, — B 3 'xB, '+ BT+ G AR+ BT~ §, A(3-15+19) x 8+ 6 BIAM

If *x" means '+’, '-" means ‘x’, '*+' means '+’ and '+’ means '-’, then the value of (3 - 15+ 19 ) x 8 + 6 is

A - 0O = > O
-1 2

c 4 O »o O
4 8

Correct Answer : B

Q-g2 It T Ut H U F9 § WA IbS T o, o1 & For | fheT WHI T?

If a clock takes Seven Seconds to strike seven, how long will it take to strike ten?

A 9¥bs O B 10 dbs O
9 seconds 10 seconds

C  101/9 b8 O D 101/2¥ds O
10 1/9 Seconds 10 1/2 Seconds

Correct Answer : D

Q-83 U 3MGH! & U U 3T & ie, Ui I & AIc 3R a8 39U & Hegati # 2480 & YD HeddTl & el B G SRR &1 3D U™
oo fpaa e g2
A man has %480 in the denomination of One-Rupee notes, Five-Rupee notes and Ten-Rupee notes. The number of
notes of each denomination is equal. What is the total number of notes that he has?

A 90 O B 75 O
90 75

cC 60 O D 45 O
60 45

Correct Answer : A

Q-84 U SAURD FHIG & 3fd H IJuRXYd Gl ¢l Teh-g&R  Ueb aR g1Y el €1 afe ot fHetrepr 66 &1y foremd T wier H SufRid
AN BT BT
At the end of a business conference, all the people present shake hands with each other once. If 66 handshakes were
made in total the number of people present in the conference is:

A9 O B 10 O

9 10
c 11 O D 12 O
11 12

Correct Answer : D

Q-85 SISl XM &1 S 7, 319 ¥ T ¥ a1G IHa! 31 12 IY U5A &1 ST H G 81 S 3 I8 BT 31y fobat g2

Today is Ram'’s birthday, one year from today he will be twice as old as he was 12 years ago. How old is Ram today?

A 259« O B 279 O
25 years 27 years

C 229M O D 209 0O
22 years 20 years

Correct Answer : A

Q-86 15 TN & U JHg #, 7 Ta UG Whd &, 8 S Ug ebd &, Sad 319 4 3 37 &l § 4 $o Hl 781 g Tbd 3| T ATl I Fe
§gd 31 3 S T 3R 3 ST Ug Tehd §
In a group of 15 people, 7 can read French, 8 can read English, while 3 of them can read none of these two. The
number of people who can read both French and English are

A1 O B 2 O

1 2



Q-87

A

Q-88

Q-89

Q-90

Q-91

3 O D 4 O
Correct Answer : C

Tdd Ug J1d difod: 3, 7, 15, 39, 63, 127, 255, 511
Find out the wrong term: 3, 7, 15, 39, 63, 127, 255, 511

127 O B 63 O

127 63
39 O D 15 O
39 15

Correct Answer : C

TH AT e U H, HANDHI S ZM W RRaT SIar 8, @ M I L K &T %e o1 gHTI?
In a certain code language, H A N D is written as S Z M W, and then what will be the code of M I L K?

ORNP O B PNRO O

ORNP PNRO
NROP O D RNOP O
NROP RNOP

Correct Answer : C

3 Yt fr IR Bt dETE ard U T &1 9t Iagl Bl e T 3 fmn man g ok R 1 It fRAR @t darg 9 e s & @e e
7 81 39 TR UK Bie g4 & I fhaa 3} € Tag ¥ g

A cube of 3 cm edge length has been coloured blue on all of its surfaces and then cut into smaller cubes of edge length
1 cm each. How many of the smaller cubes so obtained will have two surfaces coloured?

8 O B 12 O
8 12
6 O D 4 O
6 4
Correct Answer : B

4R FYF A 3R B’ & SIS T T €1 G HuAl Y Ue SR 3% R Bt Upfa a7 # | A o fb FuAl A ff 18 SR 9 ]
Statement A: Major Dayal was educated in one of the best educational institutions of India.

Statement B: Major Dayal has extremely fluent speaking power.

Given below are the pairs of statements ‘A" and 'B’. Read both the statements and decide their nature of relationship.
Assume that the information given in the statements is true.

Statement A: Major Dayal was educated in one of the best educational institutions of India.

Statement B: Major Dayal has extremely fluent speaking power.

Statement A is the effect and B is the cause. D B Statement B is the effect and A is the cause. D
Statement A is the effect and B is the cause. Statement B is the effect and A is the cause.
Statement A is an effect but B is not its O D Statement B is an effect but A is not its D
cause. cause.

Statement A is an effect but B is not its Statement B is an effect but A is not its

cause. cause.

Correct Answer : D

TR BT A 3R B’ B WIS U T | G Bl Y U SR I R B Upla q9 B A o b oAl H f 7 TR 94 B
Statement A: Manumita is suffering from scurvy.

Statement B: Manumita has had inadequate intake of vitamin C.

Given below are the pairs of statements ‘A’ and '‘B’. Read both the statements and decide their nature of relationship.
Assume that the information given in the statements is true.

Statement A: Manumita is suffering from scurvy.

Statement B: Manumita has had inadequate intake of vitamin C.



Q-92

Q-93

Q-94

A

Q-95

Statement A is the effect and B is the D B Statement B is the effect and A is the cause. D

cause. Statement B is the effect and A is the cause.
Statement A is the effect and B is the

cause.

Statement A is an effect but B is not its D D Statement B is an effect but A is not its D
cause. cause.

Statement A is an effect but B is not its Statement B is an effect but A is not its

cause. cause.

Correct Answer : A

T 3MeH! Ui H ST § 3R U Al Bl 3Tl ¢ o 98 3! RedeR AT 81 98 dsd! S9! §89 & Ufd Bt Uadl of 9t | dsaht
BT 3N I T YaY g2

A man goes to a park and sees a girl who he recognised to be his relative. The girl was the daughter of his sister’s
husband’s wife. How is the girl related to the man?

LRl O B dsh ]
Sister Niece

ECil O D unf O
Wife Sister-in-law

Correct Answer : B

Afed 7 3T TR J YFATT B 3R Gd B 3R 15 Hex I aall STgt SUBT GRd Hond f Iud 1 =mfiet g1 7471 3 T gt fG=n § 5
Hiex TF WY 9 SR R Afed 912 oiR T3 T SIafeh HUTa o=t &8 3R S T, 3R HH: 10 Hiex 3R 7 Wex &t A S| Homa
30 PTTC deb Uge & g 5 Hiex Tom & 1Y a1¢ gadT € 3R I9& o1c 2 Hiex o 3R ggdr 81 Afed o 3R gt € &R 5 fie?
P} AT HRaT 8 3R U PR Ugddl g1 -1 Brafadl & s Bt g o1 8 3R 3fd T Hunet fw fa=m o amn &R g7 ur?

Rohit started from his house and walked for 15 m towards the East where his friend Kunal joined him. They walked 5
m together in the same direction and then Rohit turned left whereas Kunal turned to his right, travelling 10 m and 7 m
respectively. Kunal turns left to travel 5 m followed by 2 m towards right to reach his office. Rohit turns to right and
travels 5 m and reaches his office. What is the distance between the two offices and in which direction was Kunal
travelling at the end?

17 e, ufzm O 8 whiRd O
17 m, West 17 m, East

19 Hiex, IW O D 19 e, g O
19 m, North 19 m, South

Correct Answer : D

1Fl'lc_\;]ﬁl?ilT:a_cf::GE'ﬁﬂ:l?ﬂ:?-I'IT:FiT::BE'I?ﬁ:HT:?

Analgesia : Pain : : Apathy : Feeling : : Avolition : ?

R O B &l O
Motivation Friendship

TR O »o =m O
Loyalty Love

Correct Answer : A

IE5@6=6134R8@10=164,A7@9 =
If5@6=61and8 @ 10 = 164, then 7 @ 9 =

125 O B 63 O
125 63
130 O D 32 O
130 32

Correct Answer : C



Q-96

Q-97

Q-98

Q-99

T U<l # AJIR W 3 IoipR 5 e R e a1 Safe I8t 7y 3 991 U7 I8 JAH FU J gedl § 3R 3T HddR &I Ad 9:00
o1 10 e dimr a1 man) gt A Fe vl 9y fe@mre

A watch showed 5 minutes past 3 O’clock on Sunday evening when the correct time was 3 O’clock. It loses uniformly
and was observed to be 10 minutes slow on the subsequent Tuesday at 9:00 P.M. When did the watch show the correct
time?

UIa: 8:00 & HHAR Bl O B Wk 10:00 & HHIR Bl O
8:00 A.M. Monday 10:00 A.M. Monday
Tk 7:00 S HHIR DI O D  Ud: 9:00 99 HHAR &Y O
7:00 A.M. Monday 9:00 A.M. Monday

Correct Answer : D

# 15 o ugd oun &g  firen, 39 o I H2R &l i a8 36 ol & &g dd= 71 Ul 3 gyaR §, df 39 I« & by e
gl fb a8 da amm?

I met my boss 15 days ago, on that day he told me that he will give the salary after 36 days. If today is Wednesday,
then on which day of week he told that he will give the salary?

TR O B  WKER O
Monday Tuesday

TSR O D §YaR O
Thursday Wednesday

Correct Answer : D

T e i @ 3 ofid, 1995 I fiya, 39 37 THaR o1 3R I oY siagsr & HEH A SN <aRT e &7 arar 3 - Afee Fad
faar oY1 Fafifed & @ 5y @7 & o fiy @ i avan g2

I met my friend on 3rd April, 1995 which was a Monday and promised to meet him again in the month of October in
the same year - but only on a Sunday. On which of the following days could I meet my friend?

74, 14d, 214, 284 O B 1,8d, 154, 229, 299 O
7th, 14th, 21st, 28th 1st, 8th, 15th, 22nd, 29th

2, 94, 164, 239, 304 O D 3,10d, 17d, 24d, 31d O
2nd, 9th, 16th, 23rd, 30th 3rd, 10th, 17th, 24th, 31st

Correct Answer : B

Assertion: Ravi, a dangerous criminal, is in police custody now.

Reason I: Ravi was injured by the police in yesterday's encounter and was caught finally.
Reason II: Ravi surrendered himself to the police.

Assertion: Ravi, a dangerous criminal, is in police custody now.

Reason I: Ravi was injured by the police in yesterday's encounter and was caught finally.
Reason II: Ravi surrendered himself to the police.

only I follows D B only II follows D
only I follows only II follows

both I and I follow O D either I or II follow O
both I and II follow either I or II follow

Correct Answer : D

Q-100 Statement: If it does not rain throughout this season, most farmers would be in trouble this year.

Assumptions:

I. Most farmers are generally dependent on rains.

II. Timely rainfall is essential for farming.

Statement: If it does not rain throughout this season, most farmers would be in trouble this year.
Assumptions:

I. Most farmers are generally dependent on rains.

II. Timely rainfall is essential for farming.



Q-101 I=TH TR & RITTAT baebl H Bl 15

A

Q-102 FaffEd & A B A1 T Frefe TgH 82

Which of the following is an Organic rock?

A

Q-103 ¥ gl # wfvferd fawdl & e 8

The number of subjects incorporated in the Union list is

A

Q-104 Wﬁﬁ%@@@fﬁﬁmﬁ%

The regulator of the credit rating agencies in India is

A

Q-105 Yol STOIR fred Taifda g2

Capital market deals with

A

Q-106 HRA ¥ 78 BV UM Hd = BT TE?

The new agricultural strategy in India was introduced in

only I is implicit.
only I is implicit.

both I and II are implicit.
both I and II are implicit.

0 0

The Supreme Court was established in Calcutta in

1771
1771

1775
1775

GITHRR
Marble

I3

Granite

97
97

82
82

SRS
RBI

st
SIDBI

AATEY s
Short term fund

dbq
Cash

O
O

O
O

O
O

O
O

OO0

only II is implicit.
only II is implicit.

neither I nor II is implicit.
neither I nor II is implicit.

1774
1774

19 A PIS Tl

None of these

Coal

Slate

102
102

89
89

SBI

SEBI

Irdwifere ws
Long term fund

3T (a) 3R (b)
Both (a) and (b)

O
O

Correct Answer : C

O
O

Correct Answer : B

O
O

Correct Answer : B

O
O

Correct Answer : A

O
O

Correct Answer : D

O
O

Correct Answer : B



A 1956 O B 1966 O

1956 1966

c 1976 1986 O
1976 1986

O

Correct Answer : B

Q-107 I . dl. I I Ib B o oY el REBR | G febar T U1

Sir C. V. Raman was awarded Nobel Prize for his work

A TP YPIUE 0O B fedfHa O
Light scattering Radioactivity

c  HENH O D  WHMHeR O
Cryogenics Sonometer

Correct Answer : A

Q-108 IMF &1 Uit {6 TNTEH & Sell 82
The Capital of IMF is made up by contribution of the

A Wfse O & 9o fumm O
Credit Deficit financing

C WeWy O D SR O
Member nations Borrowing

Correct Answer : C

Q-109 f3% PU 2018 FaT ST fpar T Ur?
FIFA World Cup 2018 was held in

A 9 O B 3®ISR O
Russia Ecuador

c wd O D  Hxdls O
France Netherlands

Correct Answer : A

Q-110 HRT $T I a1 AP AN §

The longest National Highways of India is

A TwWE-1 O B TATE-2 O
NH - 1 NH - 2

c T -3 0O D UTiTd-4 0O
NH - 3 NH - 4

Correct Answer : DROPPED

Q-111 HRANT I &1 I FHars aren g foermery fRyd @

High altitude warfare school of the Indian Army is located at

A GL O B Rynfem O
Gulmarg Siachen

cC @@ O D TR O
Leh Manali

Correct Answer : A

Q-112 SSYCISN Teick: §ETal ol &

WTO basically promotes



A ffg wgr@ O B dfie wifd

Financial support Global peace

C TH RGBT AR ey IR
Unilateral trade Multi-lateral trade

O

Q-113 FEfifad & 3 B9 o1 <X sieid Heaqul QR 3/awp SR & f S e 2

Which of the following countries is known for very important uranium ore deposits?

A FAET O B M
Canada China

c  ulfpxH O D R
Pakistan Zaire

Q-114 “ad! fag g du” & 9 ¥ Y S S ur?

Who was known as ‘Lady with the Lamp’?

A I AEg O B S 3 3
Sarojini Naidu Joan of Arc
C  HRew O D WIR® e
Mother Teresa Florence Nightingale
Q-115 HRA & UYH Bics A S 42
Who was the First Field Marshal of India?
A Tag O B .TH. BRI
A. Vaidya K.M. Cariappa
c el O D  UH.TA.UW.S. A&l
Sunderji S.H.F.J. Manekshaw

QHG@T@,%T%@?WW%&W%WW%QWQ?

Durgapur, Bhilai and Rourkella plants were set up during which plan?

A O A eEfy O B el dror 3y
2nd plan period 3rd plan period

c  uga e safy O D T Ao sy
1st plan period 4th plan period

Q-117 VBT HRANUT BT Yo fRR IdE §
The first stable product of photosynthesis is

A TR O B gHIA
Starch Sucrose

c TN O D WIIENS TRIS
Glucose Phosphoglyceric acid

Q-118 HRd H aoild IR&U A el A fobar T or?

Wildlife Protection Act was implemented in India in

O
O

Correct Answer :

O
O

Correct Answer :

O
O

Correct Answer :

O
O

Correct Answer :

O
O

Correct Answer :

O
O

Correct Answer :



1972
1972

1964 O D

1964

O

Q-110 TTETSAT Sy ST g e H fRud 32

A

Pagladia Dam Project is located in which state?

ST T O B
Arunachal Pradesh

ITH O D
Assam

1986
1986

1956
1956

IBIEE
Sikkim
BEEEIG
West Bengal

Q-120 U TA.UL. &1 3iftibaH 3rafy fbel Bl 87 ST Bt GHT | SFJURAd I8 Fhd 52

What is the maximum period for which an M.P. can be absent in the House of people?

A

KR O B
Two months
LEEGE! O D

Three months

Q-121 ¥ ¥R 3 "Bl &t <M 2.0 U Al fobar?

A

Q-122 3% 1 T 91 919 3ARVY "gHTANT Ioft TR Roid” _ # R 7

A

Which institution launched the ‘Pharma Sahi Daam 2.0 app’?

AP wHRgfeha Hed FrutRor wfteRor O B

National Pharmaceutical Pricing
Authority

A s O D
NITI Aayog

EREE]

Six months

LLCaRSIN]
One year

RRRSIR R BERU|
National Health Authority

2feg Afswa TalReeq

Indian Medical Association

World’s largest tiger reserve “Hukawang Valley Tiger Reserve” is located in __:

AR O B
Myanmar

5:3" D b
Thailand

Eikl
China

B
Nepal

Q-123 3fSHM 3R M@IaR Hu Jg udd gaa & womy 7R ¢ R $g1 ol &

The Andaman and Nicobar Islands are submerged parts of mountain range called:

A

SRTHT AT O B
Arakan Yoma

RIS feo O D
Aksai Chin

Q-124 T8 TR 'TYHTA 4.0 A1 RUIE' i< B1?

Which institution launched the ‘Education 4.0 India Report’?

e

Pegu Yoma

[ELGRIE

Tien Shan

O
O

Correct Answer : A

O
O

Correct Answer : C

O
O

Correct Answer : A

O

O

Correct Answer : A

O
O

Correct Answer : A

O
O

Correct Answer : A



A ETHTH O 8 s=wEw

IMF WEF
C fay ¥ O D IRw
World Ban UNICEF

Q-125 HRd B1 Ugal I5e WTs Gagorl' by Id/dbg T wex # Rftd g arer 2

India’s first-ever ‘Night Sky Sanctuary’ is set to come up in which state/UT?

A fRame mew O B 3 faweh
Himachal Pradesh New Delhi

cC W™ O D  ORIMA
Ladakh Rajasthan

Q-126 P! S MHT 1 Hg HRA b fobd RIM W g% P2

Vasco Da Gama died in which place of India?

A E. 1': O B ? .
Mangalore Aurangabad
C qor 0O D i
Pune Kochi

Q-127 U T 4al H Fufafed # 9 fobwe! o siftsdd gt

The number of which among the following would be maximum in a Food Chain?

A fwfar O B Ui Iusied
Producers Primary Consumers

c  fedias Sudie O D SHusR
Secondary Consumers Decomposers

Q-128 SRAMT ¥ A BT T AU 77

‘Astana’ is the new Capital of which country?

A JHHFRIE O B Pollepwe
Turkmenistan Kazakhstan

C R O D  Susfh&H
Afghanistan Uzbekistan

Q-129 B A1 TR U Ry Famsfai ok arg Wit W Sicrighy Fwier &1 Ao g2

O
O

Correct Answer : B

O
O

Correct Answer : C

O
O

Correct Answer : D

O
O

Correct Answer : D

O
O

Correct Answer : B

Which city is the host of ‘International conference on ‘Green Ship Recycling and Vehicle Scrapping’?

A TR O B S
Gandhinagar Mumbai

c = O D UG
Chennai Panaji

Q-130 ‘IR 59 3 H AT T HRA b weiea 72

‘SARANG’ is an Indian Film Festival organised in which country?

O
O

Correct Answer : A



A dH O B Gfar sifvar O

China South Korea
c  SiReferm O D o O
Australia Germany

Correct Answer : B

Q-131 S fefewr Sf&an Arrget &1 R fobw o g% o2

In which year, Bengal British India Society was established?

A 1839 O B 1840 O

1839 1840
C 1842 O D 1843 O
1842 1843

Correct Answer : D

Q-132 FafefEd & ¥ 58 gedl 1 I udeh wd & U H S &Il &2

Which of the following is known as thinnest layer of the earth?

A PR () B #ew O
Crust Mantle

C @R O D  SWiad H A IS TE O
Core None of the above

Correct Answer : A

Q-133 g &1 A "<t SH-d1H 37 €' A i dil Di?
Which institution launched the book titled ‘She Is — Women in STEAM"?

A i e O B UTHIMEeR O
NITI Aayog CSIR

C  HRd & YU 1P FAGPR PI Srated O D TWl O
Office of Principal Scientific Adviser to ISRO
India

Correct Answer : C

Q-134 [P I59 7 URT B UG SR WG b BAT P 10T AT AISHT HY AN HI 82

Which state has announced India’s first ‘Breakfast scheme for government school students?

A dftETg O B &d O
Tamil Nadu Kerala

c oy e O b ddm O
Andhra Pradesh Telangana

Correct Answer : A

Q-135 HRA H TSR SRR TIHRM (THE) TS JHaRIE I 2023 # B 1 TR 2 W 82
Which institution topped the Times Higher Education (THE) World University Rankings 2023 in India?

A SRR | T R O B IMEITSuHt dNge O
IIT Madras IISc Bengaluru

C  SHIS3MRS WSTR O D  IME3scl §iE O
IIT Kharagpur IIT Bombay

Correct Answer : B

Q-136 WAgR Wl # ARG Ffifad 7 3 feges! IuT #1818 82

The buildings in Fatehpur Sikri are built by using mostly which of the following?



T g% 3¢

Fired bricks
IR
Marble

OO0

ard IR
Red stone

ERSIRCRIN
Sand stone

Q-137 HRd & UEA TegHifaw e Y& &1 IgureH e Yad ©IH W faar mar §2

India’s First Aluminium Freight Rake has been inaugurated in which Railway Station?

A

YAy

Bhubaneswar

BES]

Chennai

Q-138 “feg UfeTe” YHRR W & Hules SIF 4?

A

Who was the editor of the newspaper “Hindoo Patriot”?

RIRR $AR 9
Shishir Kumar Ghosh
TIR Sifd 9y

Tusar Kanti Ghosh

Q-139 SAASIWH & TGP B 62

A

Who is the author of Devi-Chandragupta?

G RUREEAS|

Vishakha Datta
YR

Bharavi

Q-140 ﬁ%wwﬁw@ﬁmﬁqwé?

A

Q-141 I YHCH HRURRM {1 &1 7 U BTS Al B & ¢ by 32 & Dy o & Ay QR Bl 82

A

Which is the largest glacier in the world?

AR TARRR

Aletsch Glacier
e ARER

Lambert Glacier

O
O

O
O

O o

0 0

B

Hag
Mumbai

TR

Hyderabad

=T g 9w
Girish Chandra Ghosh

Tl ST ARTI0T
Lala Jagat Narayan

g.lg
Dandin
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Columbia Icefield
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Correct Answer : C

National Payments Corporation of India has partnered with which country’s central bank to launch Rupay Card?

g
Egypt

B G

Maldives

O
O
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Oman

TafRmr

Malaysia

O
O

Correct Answer : B

Q-142 9 59 BT a T4 TR UiS IR T SR BT APURA SUS T, R WIRG T RESR 2021 ¥ w1 fpam mare

Which state’s two nurses Shashikala Pandey and Ganga Joshi were awarded the Florence Nightingale Award 2021 by

President Draupadi Murmu?



feR O B URWUS O

Bihar Jharkhand
e O o owws 0
Kerala Uttarakhand

Correct Answer : D

Q-143 T g & 223 fafy omam & e & & ¥ ford fgaa fovar ar 2

A

Who has recently been appointed as the chairman of the 22nd Law Commission?

ST (Yes) Rt saxh ()] B ey (Yes) o Mis O
Justice (Retd) Rituraj Awasthi Justice (Retd) Ranjan Gogoi

g (¥eg) 799 TH O D  UfRH (W@s) dusd HAR O
Justice (Retd) NV Ramana Justice (Retd) Deepak Kumar

Correct Answer : A

Q-144 AR 2022 H SRY ITTF ol ¢ fagy ¥ & 2 ufe & ya= = arell ugell Wl il goret St &1 &t

Who became the first Indian mixed doubles pair to enter the top five in the ITTF Table Tennis World Rankings released
in November 20227

AT ST SR IRY HHA O B I IR 3R IRY BH O
Manika Batra and Sharath Kamal Mouma Das and Sharath Kamal

i vee SR S A O D AT T R St Wi O
Poulomi Ghatak and G. Sathiyan Manika Batra and G. Sathiyan

Correct Answer : D

Q-145 Wi &1 Ufadr & deH #, Faffed sy w fR &3

1. SUHT SATARY SIS, Fted H foar T

I1. 108 Hic Hdl ‘g 3T TRl 98 e i 3R 120 7 W ¥ &1 g

I11. I8 ATeYY HHaeT B 4f 2|

W T T B F F P YD T 22

With reference to ‘Statue of Prosperity’, consider the following statements:

I. It was unveiled in Bengaluru, Karnataka

II. The 108 feet tall ‘Statue of Prosperity’ is made of 98 tonnes of bronze and 120 tonnes of steel.
ITI. This is the statue of Nadaprabhu Kempwgowda.

Which of the statements given above is/are correct?

A ®ad Il O B FAdISRII O
III only I and II only

C  $ad I SR 11 O D I IISRIII 0O
IT and III only I, II and III

Correct Answer : D

Q-146 NG AT BH S AP &I YR RIPN e Helud (SMEUBUHSE) S 539 W0 H Ul Fesiid ¥
TRWERH SEaic fars’ ¥ wHId far T
Renowned Spanish firm director was honoured with the prestigious ‘Satyajit Ray Lifetime Achievement
Award’ at the 53rd edition of the International Film Festival of India (IFFI)

A PN AR O B WIiEH @RI O
Carlos Saura Martin Scorsese

c SRR O D  SER&R O
David Banner Dieter Berner

Correct Answer : A

Q-147 Wf?ﬁmumaﬁﬁwmﬁﬁv@aﬁmmﬁwmmﬁa@amwzozzéﬂ%—m?ﬁw%la‘s’%@a@r
grafdd g2

Indian player Sharath Kamal Achanta has been selected for the Major Dhyan Chand Khel Ratna Award 2022 by the



Ministry of Youth Affairs and Sports. With which game is he related?

A <uq e O B dMcF O
Table Tennis Lawn Tennis

c P 0O D g O
Wrestling Shooting

Correct Answer : A

Q-148 ¥ I3 # AFIE UETS! W Sffeardl Aryes Mfd T WR Ueb Wi BIishH WG YTH BT 1TRd T ARSI febar T U1

In which state, a public event ‘Mangarh Dham ki Gaurav Gatha’ was organised on the tribal hero Govind Guru on

Mangarh Hill?

A UEE O B ISRIM O
Punjab Rajasthan

c O D  ®lc® O
Kerala Karnataka

Correct Answer : B

Q-149 WA HRA & Uge HAGK B 414 &1 3, Tl ferrad ua &t 1447 fIymay & g ugelt SR S0 R I HAU BT SUAN Hb
HdaH fear?
What is the name of the first voter of independent India, who voted for the 14th Legislative Assembly of Himachal
Pradesh for the first time from his home using ballot paper?

A ¥ up Af O B =W g 31aR O
Ram Prakash Maurya Shyam Singh Thakur

c @y foer wmf O D M WA AR 0O
Avadh Bihari Sharma Shyam Saran Negi

Correct Answer : D

Q-150 TdeR 2022 H, fbg <=1 7 U1 UGS dii =R aTed qil=<l dTg= ¥H-100 di=l fobar?
In November 2022, which country launched its first three-stage launch vehicle Ghaem-100?

A TRl R4 O B T O
Saudi Arabia Iraq

c A O D I O
Iran UAE

Correct Answer : C

Q-151 &t HEdl U+ A 3MMF BT 50% fbRIT WR T $d ¢, R AW H , 98 URTET W 50%, HISH | 25%, BUSI |R 10% Td I &
3R 7 900 s €1 off T &t Wiy 3 §
Mr. Mehta spends 50% of his monthly income on rent, and out of the remaining, he spends 50% on transport, 25% on
food, 10% on clothes and saves % 900. Mr. Mehta’s monthly income is

A 6000 O B 12000 O
6000 12000

C 9000 O D 10000 O
9000 10000

Correct Answer : B

Q-152 500 H ¥ 6/7 H A 42% H A 35% § =
35% of 42% of 6/7 of 500 =

A 36 O B 52 O
36 52
cC 44 O D 63 O

44 63



Correct Answer : D

Q-153 ¥ 4,000 | 5% Ui a4 &I & ¥ Tehgfs 9 SR YR TS b s HT SR &1 91 H §

The difference between compound interest and simple interest on ¥ 4,000 at 5% p.a. in two years is

A 10
10

C 12.5
12.5

Q-154 U¥H 100 faww Hemshf #1 iwd 7

The average of first 100 odd numbers is

A 50
50

C 100
100

O
O

0 0

B

11 O
11
20 O
20

Correct Answer : A

51 O
51
101 ()]
101

Correct Answer : C

Q-155 2 5,600 ®I T, &, A 3R S & = 39 YHR AN fam 1 8 b T SR ot & o &1 3rgurd 1: 2 8, & ofR W &S IR #71 Srgurd
31T PMRAF IR AT UG 28: 3. AR CHF IR FT I
T 5,600 is to be divided among A, B, C and D in such a way that the ratio of shares of Aand Bis 1 : 2, that of Band C
is 3 :1andthat of Cand D is 2 : 3. The sum of shares of A and C is

A 1600
1600
C 2400
2400

O
O

B

2000 O
2000
3200 ()]
3200

Correct Answer : B

Q-156 A ¥ 25,000 & 1Y T T = H1 5| & 6 ASM 915 2 20,000 & H1Y M BIell &1 &1 I & a1a I7b &g A1 54 srgurd |
fa

yTfora fopam Sem?

A starts a business with ¥ 25,000. B joins after 6 months with ¥ 20,000. The ratio in which profit will be divided

between them after two years is

A 4:3
4.3
C 7:6
7:6

O
O

5:3 O
5:3
5:2 O
5:2

Correct Answer : B

Q-157 U 714 YRT & 3IFd U MEd g3 5 9 # T P Fbdl 3, Sai YRT P fauld I g 79 o1 # I 10 9 @l &1 20id it o

1a BT 7Y 3R URT BT Y BT 3T T B2

A boat can travel a certain distance downstream in 5 hours, while it takes 10 hours to cover the same distance
upstream. What is the ratio of the speed of the boat in still water and that of the stream?

A 4:1
4:1
C 2:1
2:1

O
O

3:1 O
3:1
1:1 O
1:1

Correct Answer : B



Q-158 U fAisurg # SRl SR die &1 3rJUTd 1:2 8 Sfafch ga fHsierg & Ugt offuId 2:3 71 Al 37 Migurgshl &) T 15 Migierg s & forg
TA 3uTd & firemen Wi 8, O i 3R a9 &1 Siqurd Aavied s erd §
In an alloy, zinc and copper are in the ratio 1 : 2 while in a second alloy, the same ratio is 2 : 3. If these alloys are
mixed in equal ratio to form a new alloy, then the ratio of zinc and copper in the newly formed alloy is

10:11
10:11

12:17
12:17

O
O

B

D

11:13
11:13

11:19
11:19

Q-150 TGN Byt 3 1S AT QUi GRT < W 31 gt et (anf g ) B

A

The sides of a right angled triangle are given by consecutive integers. Its area (in sqg. units) is

9

9
5
5

O
O

B

D

o o ®

Q-160 TR et Trqefst 3 et g gk ) WG PR ¥, A T g &

If the diagonals of a quadrilateral bisect each other, then the quadrilateral is

A

C

Tq
Kite

IR gy

Parallelogram

O
O

Q-161 If& T& e &1 smaa 18n I3 §, < 9@ A ©

A

Cc

Q-162 TP THd BT 30%, 20% 3R 10% P! HHPd P b SR §

A single discount equivalent to successive discounts of 30%, 20% and 10% is

A

If the volume of a hemisphere is 18n cm3, then its diameter is

3cm
3cm

12 cm
12 cm

49.6%
49.6%

60%
60%

O
O

O
O

B

D

D

B

ofsam

=

Trapezium
S0 A P T

None of these

6 cm
6 cm

1.5cm
1.5cm

50.4%
50.4%

40%
40%

O
O

Correct Answer : D

O
O

Correct Answer : D

O
O

Correct Answer : C

O
O

Correct Answer : B

O
O

Correct Answer : A

Q-163 ! T@m &1 & T et o/ e & oA T 9 2 oifi 71 Afe 37 Gemelt #1 AT 11 7, @ % o9 BT SfR §

Two times a number is 2 more than three times another number. If the sum of these numbers is 11, then the

difference between them is

O O ==

O
O

W w utwum

O
O



Correct Answer : D

Q-164 APQR H, 2P = 70° 3R £Q = 30°. YT I a9 dsl Yol &
In APQR, 2P = 70° and 2Q = 30°. The longest side of the triangle is

A QR O B PQ O
QR PQ

c PR O D Ul fur o Febar O
PR Cannot be determined

Correct Answer : B

Q-165 I8 T TS U1 & ol 764 3R 1829 Bl fAHITIG B W HH: 4 3R 5 AW &1 8, I8 &

The greatest number that divides 764 and 1829 leaving 4 and 5 as remainders respectively, is

A 52 O B 54 O

52 54
C 152 O D 154 O
152 154

Correct Answer : C

Q-166 TP el ¢ P! UIT A 3R B §RI HH: 2 9 3R 3 9 H 11 & obdl 3| TP TRRT UISY C Y ¢l B 6 U H Wrell B Fobell 6|
gfe gaft urgdl ) U WY T HR AT Y, O U Wieht Sbt Ot HR Tabat g
An empty tank can be filled by pipes A and B in 2 hours and 3 hours respectively. A third pipe C can empty the full tank
in 6 hours. If all the pipes are turned on simultaneously, an empty tank can get full in

A 30fe O B 60 fFe O
30 minutes 60 minutes

c 90 fie O D 120 fFe O
90 minutes 120 minutes

Correct Answer : C

Q-167 T fARIT Feu | 20% HHIRA &1 STl &, @ @MY 60% Bl ¢ A HHIRA 30% T ST far Sy o a1 1 Uf=rd &1 grmr?
If a commission of 20% is given on the written price, the gain is 60%. What shall be the percentage of gain if the
commission is increased to 30%?

A 20 O B 30 O
20 30

cC 40 O D 35 O
40 35

Correct Answer : C

Q-168 60 fHHil/ser B Tfa § TP ¢ 200 Hex @8 gt B 30 Yobs H UR FR TH §1 37 F e @

With a speed of 60km/hour, a train can cross a bridge of 200 meters in 30 seconds. The length of train is

A 500m O B 400m O
500 m 400 m

C 300m O D  200m O
300 m 200 m

Correct Answer : C

Q-169 T8 LI HBH T § o 450 BI T quf &l 1 & frg 1qom o S =nfew?

The least number by which 450 must be multiplied in order to make it a perfect square is

A 2 O B 3 O

2 3



c 5 O D 10 O

Correct Answer : A

Q-170 77 HIR &1 T IRA &I &l TSI H T UPR P S ¢ & U ¢bs B! als G gbs P ialg 4/7 8| Td gbs & 3/7d I B
EIEERIRE
A rope of 77 meters is cut into two pieces such that the length of one piece is 4/7th of the other. What is the length of
3/7th of the longer piece?

A 21m O B 24m O
21 m 24 m

cC 18m O D 27m O
18 m 27 m

Correct Answer : A

Q-171 $© U 3610 & U 3R $© fdory & U &1 S o1y, fasra @1 2 30 a1 &, o I7b U Hivg M 0¥ H §ad off S| 39b
oI, afe e, oo/ 1 % 20 AT 7, Y 3o/ & U fas ¥ ¥ 70 4 g1 3o & U fora X6 H §
There is some money with Ajay and some with Vijay. If Ajay gives ? 30 to Vijay, then the amounts with them would be
interchanged. Instead, if Vijay gives ¥ 20 to Ajay, then Ajay would have % 70 more than Vijay would have. The amount
that Ajay has is

A 40 O B 50 O

40 50
c 70 O D ORI [T o Wbl O
70 Cannot be determined

Correct Answer : D

Q-172 géﬂﬁwm, 50 T SR 25 W & 9 1: 2: 4 F U A &1 AR ST H pa AR 2 75 8, A 91 H 50 TN F Ryapl &1 G

A bag contains one rupee, 50 paise and 25 paise coins in the ratio 1 : 2 : 4. If the total amount in the bag is ¥ 75, then
the number of 50 paise coins in the bag is

A 25 O B 50 0O

25 50
C 100 D D None of these D
100 None of these

Correct Answer : B

Q-1733@a:b=3:7 (52 +b): (4a + 5b) B A I1d B
Ifa:b=3:7,find the value of (5a + b) : (4a + 5b).

A 15:44 O B 22:35 O
15:44 22:35

C  15:49 O D  22:47 O
15:49 22:47

Correct Answer : D

Q-174 Tl B BT H 20% B! HH! §3 3R R 50% B gi 31 31 b fevft @1 3o+ Wud H fba ufa=id o1 gig/®Ht Bl =1y rfes
T R TG 9 3872
The price of sugar decreased by 20% and then increased by 50%. By what percentage should a housewife now
increase/decrease her consumption so that the expenditure on sugar remains the same?

A 30% fiRmEe O B  16.66% fiRmae 0O
30% decrease 16.66% decrease
C  6.25% fiRm@e O b 6.25%dgad O

6.25% decrease 6.25% increase



Correct Answer : B

Q-175 TP I P! BIFA 25% ¢ T3 3R TP URAR 7 3TN GUd HH F BT a1 dlfes S g U<l o0 &1 g & Had 8% g
U afe ugd 25 fardl avg &1 @ud g3 A, d o fsan famy axg &t Wud gt afeu?
The price of an item went up by 25% and a family decided to reduce its consumption so that the total expenditure
would increase by only 8% as compared to the previous expenditure. If 25 kg of the item was consumed previously,
then how many kg of the item should be consumed now?

A 20 faom O B 21.6 fpamm O
20 kg 21.6 kg

c  23.2 fFanm O D 15 fhdum O
23.2 kg 15 kg

Correct Answer : B

Q-176 Uig ®1 U AT g 7 & # a1 @ 2 e 3ferep ovrd 81 I a8 3ol 1 S @R <, o T g 0 B # I A& q 3 9 A
TN S GRT GO T A H @ Hel BT WA A Do |
Pandu takes 2 hours more than Bunty to cover a certain distance. If he doubles his speed, he will take 3 hours less
than Bunty to cover the same distance. Find the number of hours taken by Bunty to cover the distance.

0O B 6 O
O o O

Correct Answer : A

8
8
7
7

u . O

Q-177 T8 UE & fQ i 7f &1 ¥ 60 fobeil/diet 81 S wios W =R foban Sirern &, o offgd i 48 fbedi/der 81 ot 81 efa ufd
He foham e wius 97
The average speed for an entire journey is 60 km/hr without considering the stoppages. When the stoppages are
considered, the average speed becomes 48 km/hr. How many minutes per hour on an average were the stoppages?

A 10 fFe O B 12fFe 0O
10 minutes 12 minutes

c 1e6fFe O D 18fFe O
16 minutes 18 minutes

Correct Answer : B

Q-178 200 HeX 3R 100 Hiex AaTE 1 &l S T WY 300 Hiex et GO # Yaw el § THMIR YRl R T & 999 & fowdid 8R1 a1
1 ot Tafda i 36 fow/ger § 8k 18 freily/der. QA1 S & QT H YA R4 & ¥ a6 [ T (Ydhe H) & a8 JIT R
IIarTd § gad 81 Ser?

Two trains of lengths 200 m and 100 m simultaneously enter a tunnel of length 300 m from opposite ends at the same
time on parallel tracks. The respective speeds of the two trains are 36 km/hr and 18 km/hr. After how much time (in
seconds) from the instant the two trains entered the tunnel will the tunnel be free of traffic again?

A 80 O B 60 O
80 60

c 50 O D 40 O
50 40

Correct Answer : A

Q-179 A, B 3R C Wdd ¥U ¥ 1 X §U o MIEd S B HHR: 20, 30 3R 60 AT H 1 B gavd &1 37 oA A 5 Al 7 v w1y
HTH fpar 3R R A = 71 B 3R C 3 3ATS 5 3 d & fara oiR AR B =an | fOR 9w &rif ¢ gR1 O_1 fopan mami ¢ 3 &l &t
e U 91 fohar?
A, B and C working independently can complete a certain piece of work in 20, 30 and 60 days respectively. All the
three of them worked together for 5 days and then A left. B and C worked for the next 5 days and then B left. The
remaining work was then completed by C. What portion of the work did C complete?



A 1/12 O & 5s/12 0O

1/12 5/12

c 712 6/12 O
7/12 6/12

O

Correct Answer : B

Q-180 TP THE B! 37T 3MY 2 T §¢ T3 IId 34 Y I MY F TP K B o718 58 TN B MY b Th ¢ A 7 & ot | Tg # b Fawa
7

The average age of a group went up by 2 years when a man aged 34 years was replaced by an old man aged 58 years.
How many members were there in the group?

A 10 O B 18 O
10 18

c 14 O D 12 O
14 12

Correct Answer : D

Q-181 TS 4320 H 1 3R T P! BISHR fba UGS &2

How many divisors excluding 1 and itself does the number 4320 have?

A 46 O B 48 ()]
46 48

c 50 O D 44 O
50 44

Correct Answer : A

Q-182 U FRIf¥d Sgyl 1 Yelsfl BT T 18 B1 TP U 3Rk PV BT AU §

The number of sides of a regular polygon is 18. The measure of its each interior angle is

A 160° O B 180° O

160° 180°
c  120° O D  140° O
120° 140°

Correct Answer : A

Q-183 AABC ¥, 2ABC = 80°, 2ACB = 40°, AP ~BAC &I JHIgHSI® § 3R AQ L BC. £PAQ TTd HIfor|
In AABC, £ABC = 80°, ACB = 40°, AP is the bisector of zBAC and AQ 1 BC. Find 2PAQ.

A 10° O B 15° 0O
10° 15°

c  20° O D  35° O
20° 35°

Correct Answer : C

Q-184 U AYSIBR AaH &1 URAT 58 Hicx g1 I 5H®! a1 Y1d 16 HieR 3R 22 HieR &, @ Ry B YaaH He1g T+ 8
The perimeter of a triangular field is 58 m. If two of its sides are 16 m and 22 m, then the shortest altitude of the
triangle is approximately

A 12.0m O B 12.5m O
12.0 m 12.5m

C 14.0m O D 150m O
14.0 m 15.0 m

Correct Answer : C



Q-185 PHR: 1 HIcR, 6 HieX 3R 8 Hiex fHIR aret 3 Tl 1 TGP Teb Tebel T 1T S ©| 7Y ° b1 A8 §

3 cubes each of edge 1 m, 6 m and 8 m respectively are melted and made into one single cube. The surface of the new

cube is

A 294m? O B 324m2 0O
294 m? 324 m?

C 486 m? O D 468 m2 O
486 m? 468 m?

Correct Answer : C

Q-186 YUY B! T& SR e 40 A x 15 It F1 4 Jeft ol 10! THA 77 &) B W FIC 71 51l § IR A I T Qe AIABR
o ST & foe As fean S 71 Sl &1 Smaad §
A rectangular sheet of metal is 40 cm by 15 cm. Equal squares of side 4 cm are cut off at the corners and the
remainder is folded up to form an open rectangular box. The volume of the box is

A 896 cm3 O B 986cm3 O
896 cm3 986 cm3

C  600cm? O b 916cms O
600 cm3 916 cm3

Correct Answer : A

Q-187 U B4 15 Hiex e ok 12 #iex =sT 71 Al B 3R B &b &7thall BT TN IRT AaRT P &GB! P AN b SRR 8, Al Bicl P
3, m3H, §
A hall is 15 m long and 12 m broad. If the sum of the areas of the floor and the ceiling is equal to the sum of the areas
of the four walls, the volume of the hall, in m3, is

A 720 O B 900 0O
720 900

c 1200 O D 1800 O
1200 1800

Correct Answer : C

Q-188 IU XW@Es 1 Hufdg & o RR (1, 6) 3R (9, 12) §

The midpoint of the line segment whose ends are (1, 6) and (9, 12) is

A (509) 0O 8 79 O
(5,9) (7,9)

c (5 8) 0O D (6 8) O
(5, 8) (6, 8)

Correct Answer : A

Q-189 TR (2, 6), (- 4, 2) 3R (8, - 4) TH THIR TGS & T HowTa < &, i <rer = B

If (2, 6), (- 4, 2) and (8, — 4) are three consecutive vertices of a parallelogram, then the fourth vertex is

A (14, 0) O B (0, - 4) O
(14, 0) (0, -4)

C (- 14, 0) O D (- 10, 12) 0O
(- 14, 0) (- 10, 12)

Correct Answer : A

Q-190 4TEN BT HIA 5, 11, 8, 3, 25, 39, x, 14, 23, 4, 25, 6, 9, 15, 29 & dd T & Hbel &
The median of the series 5, 11, 8, 3, 25, 39, x, 14, 23, 4, 25, 6, 9, 15, 29 can lie between

A 143R15 O B 93R11 O
14 and 15 9 and 11



c 113R14 O D  233R25 O
11 and 14 23 and 25

Correct Answer : C

Q-191 T UM 200 ¥ i FH feTsal €1 I § S= 10, 16 A1 20 S F I THH ¥ ¥ fJaRka e, @ W U9 g4® AW 7 1 731
st afe & 23 st § THE wu @ et &g, A R U 1S et T8 st W arg fea et 82
I have less than 200 sweets with me. If I distribute them equally among 10, 16 or 20 children, I would be left with 1
sweet in each case. If I distribute the sweets equally among 23 children, I would not have any sweets left with me.
How many sweets do I have?

A 161 (J B 138 O

161 138
c 115 O D 81 O
115 81

Correct Answer : A

Q-192 2360 BI 7 ¥ fIuIRIT 37 W Jvwa 7

The remainder when 23690 s divided by 7 is

O
O

Correct Answer : A

0O B
O D

A

(@)
vl Ul e e
ww oo

Q-193 U &9 HaM H aTs  foRT MAdIbR HES B Wilc Bl 3MAMH 40 HIeR x 14 HIeR 81 T T Bl Wiic b 6 TP B W 21 Hiex ol
TR gty 3T T g1 W BT A AFAmd, o W I8 W FHhdT § (m2 H) §
There is a fenced rectangular plot in a large field. The dimensions of the plot are 40 m x14 m. A cow is tethered
outside the plot at one corner by a rope 21 metres long. The total area of the field, over which it can graze (in m2) is

A 1050 O B 1100 O
1050 1100

c 1072 O D 1078 O
1072 1078

Correct Answer : D

Q-194 T WM 3x + 4y + 5 + k (x - 3y + 2) = 0, X-31& &b FHMIR ¢, Al k2 BT HH 8
If the line 3x + 4y + 5 + k (x = 3y + 2) = 0 is parallel to the X-axis, then the value of k2

S

A 4 O B 1 O
4 1

c 9 O D 16 O
9 16

Correct Answer : C

Q-195 n V&N BT gadl BT He f=e s 81 Al UdS faeiib Bl 3 J IO bl STl 8, Al n raclicp1l 1 13 el BT IR §
The standard deviation of a series of n observations is s. If each observation is multiplied by 3, then the variance of the
new series of n observations is

A s2 D B 9s D
s2 9s

C 3s2 O D 9s2 O
3s2 9s2

Correct Answer : D



Q-196 HMI g (x) = 4x2 + 12x + 20. 9d g (x) P 2x - 1 H fAHIAQ fobar Siran & o e gial §
Let g (x) = 4x2+ 12x + 20. The remainder when g (x) is divided by 2x - 1 is

A 25 O B 19 O
25 19

c 27 O D 26 O
27 26

Correct Answer : C

Q-197 Ife e feara Telie=ur & qet &1 ANt 22 7 SR IUP Hal HT 0EHA 72 §, df THIPRU & T 3

If the sum of the roots of a quadratic equation is 22 and the product of its roots is 72, the roots of the equation is

A 1,72 O B 236 0O
1,72 2, 36

cC 3,24 O D 4,18 O
3,24 4,18

Correct Answer : D

Q-198 U A Tl & Use IR Ual 1 AN 1 &, fordep! Ugell Uq 4 § 3IR WHRI UM 3 &2

The sum of the first four terms of a geometric progression, whose first term is 4 and the common ratio is 3, is

A 320 O B 160 O

320 160
c 80 O D T I TE O
80 None of these

Correct Answer : B

Q-199 U SIHIMICT WA H 200 TS &1 SRH ¥ pth U 15 81 3{d ¥ pth UG 45 g1 BT Tl & weft ual &1 anT 8
An arithmetic progression has 200 terms. The pth term from the beginning is 15. The pth term from the end is 45. The
sum of all the terms of the arithmetic progression is

A 12000 O B 6000 O
12000 6000

C 9000 O D U el fbar o Wbl O
9000 Cannot be determined

Correct Answer : B

Q-200 LIMPET eg & A4} 3{&RT b1 IUTNT X ST O eb! aTcd Real o WG T & clich TR GHAT Ueb A1Y @2

The number of words that can be formed using all the letters of the word LIMPET so that the vowels are always

together is

A 240 O B 120 O
240 120

c 180 O D 480 O
180 480

Correct Answer : A



PaperCode: 2001 Paper Name: 2001-ASSISTANT EVENING SHIFT Set Name: Original

Read the passage and answer question that follow:

Sports play a significant role in shaping individuals and societies alike. Beyond the thrill of competition, sports provide
numerous physical, mental, and social benefits. Engaging in sports activities promotes physical fitness, helps prevent
various health issues, and fosters a sense of discipline and teamwork. It encourages participants to set goals, work
hard, and persevere in the face of challenges.

Moreover, sports have a powerful impact on mental well-being. Regular participation in sports can reduce stress and
anxiety, improve mood, and boost self-esteem. The camaraderie among teammates and the sense of accomplishment
after achieving a personal best contribute to enhanced mental resilience.

Sports also have a remarkable social dimension. They bring people from diverse backgrounds together, fostering
friendships and a sense of community. Whether as spectators or participants, people rally around their favourite teams
and athletes, creating a shared sense of identity and belonging. Additionally, sports teach valuable life lessons such as
sportsmanship, fair play, and respecting rules — qualities that extend beyond the playing field.

In broader society, sports have economic and cultural significance. Major sporting events can stimulate local
economies, create jobs, and boost tourism. They also serve as a platform for cultural exchange and international
diplomacy, breaking down barriers and promoting understanding among nations.

How do sports contribute to a sense of community?

By encouraging isolation D B By creating division among people D

By fostering friendships and bringing D D By promoting competition and rivalry O
diverse people together

Correct Answer : C

A feeling of hostility or ill will. What is the one word for this phrase?
Gratitude D B Enmity D

Sympathy O D Humility O
Correct Answer : B

A person who loves and is highly knowledgeable about books. What is the one word for this phrase?
Bibliophile O B Philanthropist O

Anthropologist O D Theologian O
Correct Answer : A

A person who believes that the pursuit of pleasure is the most important thing in life is known as?
Hedonist D B Ascetic D

Altruist O D  Cynic O

Correct Answer : A

What is a synonym for AMICABLE?

B Friendly D

Indifferent O D Argumentative O
Correct Answer : B

Hostile



Q-6 Antonym for ARDUOUS.

Challenging O B Easy D
D D Demanding D
Correct Answer : B

Laborious

Q-7 A person who pretends to be what they are not is called

Hypocrite D B Authentic D

C Extrovert O D Introvert O
Correct Answer : A

Q-8 A brief and usually witty or satirical saying. What is the one word for this phrase?

Riddle O B Proverb O

C Maxim D D Epigram D
Correct Answer : D

Q-9 Give one word for the phrase, “A strong or habitual liking for something or tendency to do something.”

Aversion O Phobia O
C Penchant D D Repulsion O
Correct Answer : C

vy

Q-10 Choose the correctly spelled word:
Mischeivous O

D Mischieveous D
Correct Answer : C

A Mischievious

0o

C Mischievous

Q-11 Pick the properly spelled word.

A Persevere Perservere D

O B
C Perseveer O D Perssevere O

Correct Answer : A

Q-12 Choose the improved version of the sentence: “She is an excellent pianist. She is also a talented singer.”

A She is an excellent pianist, she is also a O B She is an excellent pianist, and she is D
talented singer. also a talented singer.

C She is an excellent pianist, but she is also a D D She is an excellent pianist but also a talented D
talented singer. singer.

Correct Answer : B

Q-13 She walked the park and saw a beautiful rainbow.

A Through D B By O
C At D D Between D

Correct Answer : A

Q-14 The book is the table, next the vase of flowers.



Q-15

Q-16

Q-19

Q-20

Q-21

In, with

O B
Under, of O D

On, to D
Between, for O
Correct Answer : B

I'm meeting Sarah 3 o'clock the afternoon.

At, in D B On, for D

In, during D D By, at D
Correct Answer : A

The keys to the car are hanging ____ the hook the wall.

In, at D B On, from D

At, by O D Over, with O

Pick the right meanings of the following idioms and phrases:
At the drop of the hat.

As soon as it was spoken O

Done in an instant D D
Pick the right meanings of the following idioms and phrases:
A man of straw.

A man with no means O B

A man of character D D
Pick the right meanings of the following idioms and phrases:
Hold one’s horse.

Keep one’s expectations D

Have patience D D
Pick the right meanings of the following idioms and phrases:
To flog a dead horse

To exhibit one’s anger on something D

To beat a horse and cause it to die D D
Read the passage and answer question that follow:

Correct Answer : B

Done easily, without any preparation D

After something is done D
Correct Answer : B

A generous man O

A man of no substance D
Correct Answer : D

Keep one's gift D

High on energy D
Correct Answer : C

To waste energy on a lost cause D

To undertake a foolish activity O
Correct Answer : B

Sociology is a discipline that goes beyond individual experiences and explores the intricate web of relationships that
form the basis of societies. It delves into how people's actions, thoughts, and emotions are shaped not only by their
personal traits but also by the larger social forces that surround them. By examining patterns of behaviour, social
interactions, and institutions, sociologists seek to unravel the underlying dynamics that drive human society.

One key focus of sociology is the study of social inequality. This encompasses disparities in wealth, education, and
opportunities that exist between different social groups. Sociologists investigate the origins of these inequalities and
their effects on individuals and communities. They also examine how factors like race, gender, and class intersect to



Q-22

Q-23

Q-24

Q-25

create unique experiences and challenges for different individuals.

Culture is another vital area of study in sociology. It includes the beliefs, values, norms, symbols, and practices that
shape the way people understand and interact with the world around them. Sociologists analyze how culture influences
behaviour and how it changes over time, often leading to shifts in societal norms and values.

Sociology doesn't just describe society - it seeks to bring about positive change. By identifying social problems and
their root causes, sociologists contribute to the development of policies and interventions that aim to address these
issues. From advocating for fair labour practices to proposing measures to reduce racial discrimination, sociology plays
a role in shaping a more just and equitable society.

What factors can contribute to unique experiences and challenges for individuals?

Social institutions O B Race, gender, and class D

Education and occupation D D Genetic makeup D
Correct Answer : B

Read the passage and answer question that follow:

Sociology is a discipline that goes beyond individual experiences and explores the intricate web of relationships that
form the basis of societies. It delves into how people's actions, thoughts, and emotions are shaped not only by their
personal traits but also by the larger social forces that surround them. By examining patterns of behaviour, social
interactions, and institutions, sociologists seek to unravel the underlying dynamics that drive human society.

One key focus of sociology is the study of social inequality. This encompasses disparities in wealth, education, and
opportunities that exist between different social groups. Sociologists investigate the origins of these inequalities and
their effects on individuals and communities. They also examine how factors like race, gender, and class intersect to
create unique experiences and challenges for different individuals.

Culture is another vital area of study in sociology. It includes the beliefs, values, norms, symbols, and practices that
shape the way people understand and interact with the world around them. Sociologists analyze how culture influences
behaviour and how it changes over time, often leading to shifts in societal norms and values.

Sociology doesn't just describe society - it seeks to bring about positive change. By identifying social problems and
their root causes, sociologists contribute to the development of policies and interventions that aim to address these
issues. From advocating for fair labour practices to proposing measures to reduce racial discrimination, sociology plays
a role in shaping a more just and equitable society.

Which area of study in sociology deals with differences in wealth and opportunities?

Cultural practices D B Social interactions D

Social inequality D D Personal traits O
Correct Answer : C

Which word is the odd one out?

Discernment D B Perception D

Penetration O D Insinuation O
Correct Answer : D

Which one is the odd one out?

Pen and nib O Water and bucket O

Ink and inkpot O D Oil and Lamp O

Correct Answer : A

In the following question, the sentence have been given in active/passive voice. From the given alternatives, choose
the one which best expresses the given sentence in passive/active voice:
You don't need to wind this watch.

This watch need not be wound. D B This watch does not wind. D



C This watch need not be wounded. D D This watch need not be winded up. D
Correct Answer : A

Q-26 In the following question, the sentence have been given in active/passive voice. From the given alternatives, choose
the one which best expresses the given sentence in passive/active voice:
One should not give unsolicited advice.

Unsolicited advice is not to be given. D B Unsolicited advice can't be given. D

C Unsolicited advice may not be given. 0O D Unsolicited advice should not be given. ([}
Correct Answer : D

Q-27 Sentence of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a
meaningful and coherent paragraph:
A - Perhaps no definition of democracy is more popular and universally acceptable than what is given by Abraham
Lincoln.
B - He defines democracy as “A government of the people, by the people and for the people.”
C - To bind the people and take the nation ahead on the path of progress, democracy is the most suitable form of
government for India.
D - Certainly, democracy is the most representative form of government.

DACB O B CBAD O
C  ABDC O D  ABCD O
Correct Answer : C

Q-28 Sentence of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a
meaningful and coherent paragraph:
A - When this extra water vapour condenses into precipitation, it results in heavier rain - or, if it is cold enough,
heavier snow.
B - The atmosphere can store an additional 4% of water vapour for every additional 1 ° F of warming.
C - More water evaporates from soils, plants, lakes and seas as the atmosphere warms.
D - One of the most obvious indications of climate change is heavier rainfall.

BCDA O B BADC O
ACBD O D DCBA O

Correct Answer : D

Q-29 Select the most appropriate meaning of the underlined idiom: The team members seem to be running around in

circles.
To be very active but with few results. O B To be extremely successful. O
C Hardly any time to breathe. O D Very dynamic and hardworking. O

Correct Answer : A

Q-30 At parties he is always in high spirits. Give the meaning of the underlined idiom.

A Talkative D B Drunk D

C Uncontrollable D D Cheerful D
Correct Answer : D

Q-31 Pick the right idiom which fits into the sentence: His friends told Amit not to and to attend the party.
A Be a wet blanket D B Die by inches D
C Be hand in glove O D Burn one’s boat O



Correct Answer : A

Q-32 Which option is spelled correctly?

A Bureaucracy B Bureaucracye D

C Bureaucraccy O D Buraucracy O
Correct Answer : A

Q-33 Change the narration from direct to indirect and vice-versa of the following sentence:
Karan asked me, “"Did you see the cricket match on television last night?”

A Karan asked me whether I saw the cricket O B Karan asked me whether I had seen the ()
match on television the earlier night. cricket match on television the earlier
night.
C Karan asked me did I saw the cricket match D D Karan asked me whether I had seen the
on television the last night. cricket match on television the last night.

Correct Answer : B

Q-34 Change the narration from direct to indirect and vice-versa of the following sentence:
I said to him, "Why are you working so hard?’

A I asked him why he was working so D B I asked him why was he working so hard. D
hard.

C I asked him why had he been working so O D I asked him why he had been working so O
hard. hard.

Correct Answer : A

Q-35 Select the option that improves the following sentence:
The weather was extremely hot, it made the hike unbearable.

A The weather was extremely hot; therefore, it D B The weather was extremely hot, and so D
made the hike unbearable. the hike was unbearable.

C The weather was extremely hot it made the D D The weather was extremely hot; making the D
hike unbearable. hike unbearable

Correct Answer : B

Q-36 Select the option that improves the following sentence:
Cooking dinner takes time, but it's worth it.

A Cooking dinner takes time, it's worth it. D B Even though cooking dinner takes time, but D
it's worth it.
C Although cooking dinner takes time, it's D D Cooking dinner takes time; thus, it's worth it. D
worth it.

Correct Answer : C

Q-37 What is a synonym for OBFUSCATE?
Illuminate D

D  Elucidate O
Correct Answer : C

A Clarify

oa

C Confuse

Q-38 Antonym of FLEXIBLE?

A Ductile O B Rigid O



Q-39

Q-40

Q-41

Q-42

Q-43

Bendy D D Malleable D
Correct Answer : B

The Mekong is also home the world’s largest catfish.

For O B In O
within O D To O

Correct Answer : D

Are you looking forward Nishant again?
Seeing D B To see D
To be seeing O D To seeing O

Correct Answer : D

Read the passage and answer question that follow:

Politics is the complex realm where power, governance, and ideologies intersect. It involves the exercise of authority to
make decisions that affect the distribution of resources, the functioning of institutions, and the lives of citizens. Political
systems can vary widely, from democracies that emphasize participation and representation to authoritarian regimes
that concentrate power in the hands of a few.

Ideologies play a pivotal role in shaping political landscapes. These belief systems provide frameworks for
understanding society and guiding policy decisions. Liberalism, for instance, emphasizes individual rights and limited
government intervention, while socialism advocates for collective ownership and wealth redistribution. These ideologies
often drive political parties and movements, sparking debates over the best paths for societal progress.

Political campaigns and elections are key features of democratic systems. Candidates vie for public support through
rhetoric, policy proposals, and charisma. However, these campaigns are not immune to manipulation and
misinformation, highlighting the challenges of maintaining informed citizen participation.

Furthermore, international politics add another layer of complexity. Diplomacy, alliances, and conflicts shape relations
between nations, often influencing domestic policies and global dynamics. The balance of power among countries can
lead to cooperative efforts or geopolitical tensions, underscoring the intricate interplay between domestic and
international politics.

How do political ideologies influence policy decisions?

They have no impact on policy decisions O B They provide frameworks for guiding D
policy decisions

They dictate policy decisions without any D D They solely focus on economic considerations D

flexibility

Correct Answer : B

The following sentence has been split into four segments. Identify the segment that contains a grammatical error.
Had you / not reached in time, / we will have / lost our lives.

Had you O B Not reached in time O
We will have D D Lost our lives O

Correct Answer : C

The following sentence has been split into four segments. Identify the segment that contains a grammatical error.
I was shocked / to see how much my grandmother had aged / since the last time we visited her.

I was shocked O B To see how much my grandmother had O
Since the last time we visited her. D D No error D

Correct Answer : D



Q-44 The following sentence has been split into four segments. Identify the segment that contains a grammatical error.
Each of the survivors of the tsunami / have been offered / free psychological consultation to ease the trauma, / by
some of the top consultants.

Each of the survivors of the tsunami D B Have been offered D
Free psychological consultation to ease the D D By some of the top consultants D
trauma,

Correct Answer : B

Q-45 Identify the type of phrases in the following sentence:
The cat, resting_on the windowsill, watched the birds

Prepositional phrase O B Participial phrase D

Infinitive phrase D Gerund phrase D
Correct Answer : B

O

Q-46 Identify the type of phrases in the following sentence:
To improve his skills, Akash practices the piano daily.

(o8]

Participial phrase O

Gerund phrase D
Correct Answer : C

Prepositional phrase O
Infinitive phrase D

W)

Q-47 Change the narration from direct to indirect and vice-versa of the following sentence:
Amy is going to ask the principal for permission to go on a study tour.

A Amy is going to say to the principal, "Might D B Amy is going to say to the principal, “Should D
we have your permission to go on a study we have your permission to go on a study
tour?” tour?”

C Amy is going to say to the principal, D D Amy is going to say to the principal, “Would O
“"May we have your permission to go on a we have your permission to go on a study
study tour?” tour?”

Correct Answer : C

Q-48 Change the narration from direct to indirect and vice-versa of the following sentence:
Rahul says that Yuvraj loves cricket.

Rahul says, “Yuvraj loves cricket.” D B Rahul said, “Yuvraj loved cricket.” D

Rahul says, “Yuvraj loved cricket.” D D Rahul said, “Yuvraj loves cricket.” D
Correct Answer : D

Q-49 Given below is question with four sentences in jumbled order. Select the option that gives their correct order.
A - But the eagle, in wrath, gave the beetle a flap of his wing, and straightaway seized upon the hare and devoured
him.
B - The beetle, therefore, interceded with the eagle, begging of him not to kill the poor suppliant, and pleaded with
him not to kill so small an animal.
C - When the eagle, flew away, the beetle flew after him, to learn where his nest was.
D - A hare, being pursued by an eagle, took himself for refuge to the nest of a beetle, whom he begged to save him.

ACDB O B  DCAB O
CBAD O D DBAC O

Correct Answer : D



Q-50 Given below is question with four sentences in jumbled order. Select the option that gives their correct order.

Q-51

Q-52

Q-53

Q-54

Q-55

A - Judy reached out one hand and laid it on the soft neck of the fawn.
B - He moved forward on all four until he was close to it.

C - He put his arms around its body.

D - The touch made him delirious.

ADBC O B BACD
O

BDAC D DACB

98 Ug J1d BifoTe STt gae § fibe 78T §odT: 1CV, 5FU, 9IT, 15LS, 170R
Find the term which does not fit into the series: 1CV, 5FU, 9IT, 15LS, 170R

S5FU O B OIT
5FU orIT
15LS O D  170R
15LS 170R

ol fddbeg g: W : dig @ W : ?

Choose the correct alternative: Lion : Den : : Rabbit : ?

ars O B 3q
Trench Hole
el O p fa

Pit Burrow

TG 1 e Tl ¥ I UBR 2 R UBR 3faer &1 gray Torel 4 §

Mathematics is related to numbers in the same way as history is related to

& O B ¥l
People Events
fafat O D 3=
Dates Wars

frafafad g & g ue 919 SIfoid: 10000, 11000, 9900, 10890, 9801,

Find the missing term in the following series: 10000, 11000, 9900, 10890, 9801,

10781 O B 10241
10781 10241
10423 O D 10929
10423 10929

Tt &7 B A1 Je fou T e (48, 24, 12) ST §?
Which set of numbers is like the given set (48, 24, 12)?

(44, 22, 10) 0O B (46, 22, 11)
(44, 22, 10) (46, 22, 11)
(42, 20, 10) O D (44, 22, 11)
(42, 20, 10) (44, 22, 11)

O
O

Correct Answer : A

O
O

Correct Answer : C

O
O

Correct Answer : D

O
O

Correct Answer : B

O
O

Correct Answer : A

O
O

Correct Answer : D



Q-56

Q-57

Q-58

Q-59

e FfEd Bie #, T 13479 & AQFIL & =0 H foral SIdT § iR 2568 &I DMPN & &0 ¥ forar 9Id1 81 39 $is | 396824 H
forar mar 82

In a certain code, a number 13479 is written as AQFIL and 2568 is written as DMPN. How is 396824 written in that
code?

QLPNMJ 0O B QLPNDF O
QLPNMJ QLPNDF

QLPMNF O D  QLPNMF O
QLPMNF QLPNMF

Correct Answer : B

Tdh RIEGRILI ff, ‘oka peru’ @Il 3ef % ‘fine cloth’; ‘meta lisa’ T 3ref % ‘clear water’ 3R ‘dona lisa T &7 31 % ‘fine clear
weather’, @ 39 4T # {59 2eg o7 31 ‘weather’ 82

In a certain language, ‘oka peru’ means ‘fine cloth’; ‘meta lisa’ means ‘clear water’ and ‘dona lisa peru’ means *fine
clear weather’, then which word in that language means ‘weather’?

dona D B peru D
dona peru
meta O D oka O
meta oka

Correct Answer : A

fufafad SHER & eFgde ug SR 3Ud &G 3 a1 UH & SR & |

IR RFATEI P, Q, R 3R S UAP & U IR FIS gl 370 I UAP & U T 3ah1, T (1, T S 3R Th O g1 37 I & o9
ot ge (397, @, &9, €R) B

(i) P % UMY §HH PI BT 3R &RI &t I B

(i) Q & UTH sl T bl 3R ERI BT ol B

(iii) R & U aall BT I 3R §HH BT Aol B

(iv) S & U Wb 31t Faid g

BRI &1 39T frgd Ty 82

Read the following information carefully and answer the question that follow.

Four players P, Q, R and S are holding four cards each. Each of them has an ace, a king, a queen and a jack. All of
them have all the suits (spades, hearts, clubs, diamonds).

(i) P has ace of spades and queen of diamonds.

(ii) Q has ace of clubs and king of diamonds.

(iii) R has queen of clubs and king of spades.

(iv) S has jack of clubs.

Ace of diamonds is with?

P

P
R ()] D
R

O

O
O

Correct Answer : D

nwnm OO0

fafafd SHER & ey ug 3R ITF d1¢ 3 aTd UY & SR S|

IR TS P, Q, R 3R S UAP & UG IR BI1S gl 374 ¥ UAP & UG U 39h1, U b7, Th B 3R U 9icb g1 31 Il & Uy
it e (599, few, 719, €R) B

(i) P & UTH gH &1 gaebT 3R ERI BT I 71

(i) Q P U IAs! BT 3BT MR ERI BT I B

(iii) R & U9 aal &1 I 3R §HH &1 Aol 7

(iv) S & U S 3Tt od gl

S & Uy Ffied & 3 @ 2

Read the following information carefully and answer the question that follow.

Four players P, Q, R and S are holding four cards each. Each of them has an ace, a king, a queen and a jack. All of
them have all the suits (spades, hearts, clubs, diamonds).

(i) P has ace of spades and queen of diamonds.

(ii) Q has ace of clubs and king of diamonds.



(iii) R has queen of clubs and king of spades.
(iv) S has jack of clubs.
S has which of the following with him?

A fd @ gEE O s fRasrw 0O
Ace of Hearts Queen of Hearts

c fRawrwen O D  FE P I 0O
King of Hearts Queen of Clubs

Correct Answer : C

Q-60 MARIET SHBRT ®I AMYID Ue 3R ITP I1G 3 aTd U4 &b IR |
e fas, o 3R faw Bt uien § 41T IR Aot 450 IWedR) BT Sl e far wa R
(i) oft fawat o 3fiof - 167
(i) Tt fowat & Sfgehivl - 60
(iiil) TR fagm § Sreitvi- 175
(iv) Tiord & 3itof- 199
(v) fom™ & Sfiof - 191
(vi) Had FHToIe fage & S<iof- 62
(vii) Pad Tord § I<hof - 48
(viii) bad fag # Il - 52
fora= Faa af fawal & srxitof gue
Read the following information carefully and answer the question that follow.
Data on 450 candidates, who took part an examination in Social Science, Mathematics and Science is given below:
(i) Passed in all the subjects - 167
(i) Failed in all the subjects- 60
(iii) Failed in Social Science- 175
(iv) Failed in Mathematics— 199
(v) Failed in Science- 191
(vi) Passed in Social Science only- 62
(vii) Passed in Mathematics only- 48
(viii) Passed in Science only- 52
How many failed in two subjects only?

A 56 O B 61 O
56 61

c 152 O D 162 O
152 162

Correct Answer : D

Q-61 ﬁﬂﬁ@ﬁﬁﬂ%ﬂﬁm@ﬂﬁ
1. 9e®; 2. 9id; 3. fegr; 4. WU, 5. 9|
Arrange the following in a logical order:
1. Frog; 2. Eagle; 3. Grasshopper; 4. Snake; 5. Grass.

A 1,3,524 0O B 3,4,251 0O
1,3,52,4 3,4,2,51

C 531,42 O D 534,21 O
53,1,4,2 53,421

~
~
~
~

Correct Answer : C

Q-62 T WA H (R dTell aeall &1 Heodl BIC! G M § - " a0 S GHA &l g, T e & YD &l s, 3R &l el o e b
gagr?
What is the smallest number of ducks that could swim in this formation — “Two ducks in front of a duck, two ducks
behind a duck, and a duck between two ducks”?

A 3 O B

3

c 9 O D O
9

NN ;g



Q-63

Q-64

Q-65

Q-66

Q-67

Correct Answer : A

T ARG TR & 3fd H, IURT 20 UfAHTT Th-gR ¥ Ue aR g1y e €1 o S8 &I Team ghit
At the end of a business conference, 20 participants present all shake hand with each other once. The number of total
Handshakes will be

40 O B 190 O

40 190
195 O D 200 O
195 200

Correct Answer : B

TP I TIUr} 307 TaATd & Ugd fod 3 1 Y 3 3ifld Rl 81 UAF AT o, a8 g SHfofd drar § St fed @ &t g
T IR Bt 31 P W F 109 e I9Y g (2 H) §

An enterprising businessman earns an income of ¥ 1 on the first day of his business. On every subsequent day, he
earns an income which is just double of that made on the previous day. On the 10th day of his business, his income is
(in %)

10 O B 100 O

10 100
512 O D 1024 O
512 1024
Correct Answer : C
B,L,M, N, P3RQUEG UK HEIPIRQPIxHE, BARLBSRWEIM, BF 13 3R I3 81 L & T3 3R DI 82
B,L, M, N, Pand Q are in a row. P and Q are in the centre, B and L are at the ends. M is sitting to the left of B. Who is
to the right of L?
: O & 0
B N
P O o O
P M

Correct Answer : B

Urg dfedl T Iy Io4 T & 3R $HTE 6, 5, 7, 10 3R 12 Yhs & AR W Foldl g1 3RYH P TP °e &l Blear, J T °ge o
fohal IR T 1Y T HUI?

Five bells begin to toll together and toll respectively at intervals of 6, 5, 7, 10, and 12 seconds. How many times will
they toll together on one hour excluding the one of the starts?

7 O B 8 O

8

7
9 O D 11 O
9

11
Correct Answer : B

fuffad SHERt & eargde U 3R IF a1 3 aTdd Uy & IR <

uiaaqﬁugao‘rwﬂﬂ;s'%— L, M, N, P 3R QI 379 ¥ TP SFTar oy 8, Th Wifds o= 8, Th TR §, Th IJANTU & 3R
s dDhId g

(i) T8 I i - TH, T 3R THhId DB P o 19 UG B & 3R 378 J &l - TH 3R TSR G & g HIh! THE Hd 8
(ii) JENTUfY 3R T @ik T U R P SR & Wb ST A &) I b SOy BB UG B ¢

IGNTAfY HH 2

Read the following information carefully and answer the question that follow.

There is a group of five persons - L, M, N, P and Q. One of them is horticulturist, one is physicist, one is a journalist,
one is an industrialist and one is an advocate.

(i) Three of them - L, N and the advocate prefer tea to coffee and two of them - M and the journalist prefer coffee to




Q-68

Q-69

Q-70

Q-71

Q-72

tea.
(i) The industrialist and P and L are friends to one another but two of them prefer coffee to tea.
Who is the industrialist?

O
O

Correct Answer : B

O B
0O D

oT
OO0 ==

i+ &1 3 By g; x’ BT 3 g fauiar; 7 &1 o g e’ 3R - T 31 § I, oY ifieafadd BT AN 252 x 9 - 5 + 32/ 92
If '+’ means ‘minus’; ‘X’ means ‘divided by’; /' means ‘plus’ and ‘-’ means ‘multiplied by’, then the value of the
expression 252 x9 -5+ 32 /92

95 O B 168 O

95 168
192 O D 200 O
192 200

Correct Answer : D

g fpeft af F 25 oA & AR 7, A 39 HeH H TR & T §
If the 25th August in a year is Thursday, the number of Mondays in that month is

4 O B 6 O
4 6
5 0O D  3THIPIE TG O
5 None of these
Correct Answer : C

SCD, TEF, UGH, , WKL
SCD, TEF, UGH, , WKL

CMN O B Ul O
CMN UJI

vIJ O D WT O
VI T

Correct Answer : C

gfe ue Ff¥d ST W &, '\RADAR’ &1 'RADAR’ & =Y § Hifsd fbar Srar 8, o ST 4ToT § "APPLE’ &1 & Sifed far Sem?
If in a certain coding language, ‘RADAR’ is coded as ‘RADAR’, then how will ‘APPLE’ be coded in the same language?

PAPLE O B LAPPE O

PAPLE LAPPE
ELPPA O D  PPELA O
ELPPA PPELA

Correct Answer : C

3:40 R, U3 Pt 4 BT gs MR e &1 Y &1 S0 §77aT1 §

At 3:40, the hour-hand and the minute-hand of a clock form an angle of

120° O B 125° O
120° 125°
130° O D 140° O
130° 140°

Correct Answer : C



Q-73

A

Q-74

Q-75

Q-76

26 SHaR, 2006 ¥ 23 AR, 2006 I et &t @ (g1 fafdal gfed) &
The number of days from 26th January, 2006 to 23rd September, 2006 (including both the dates) is

214 O B 241 O
214 241
249 O D 251 O
249 251

Correct Answer : B

=g quitTar & S IT 3R I &R & als 3R T34l &R § il guR ifaw qufaren & 18 3R gat 31er 82
ABCDEFGHIJKLMNOPQRSTUVWXYZ

Which letter in this alphabet is the eighth letter to the right of that letter which is the tenth letter to the left of the
second last alphabet?

ABCDEFGHIJKLMNOPQRSTUVWXYZ

X O B W O
X w
I O D H O
I H

Correct Answer : B

G 718 TP BT HAGIE ST B SR FGH q1G 31 T 8@ Tk &

FafiRad o o, gd 3 Wit AT &1 GIfdT g S 91 UG dRd g, 37 3 el @il &l
&Il & Sl BThT U8E P &, BbIor 371 Gt il b i @ fore o udie @ 3R 3md 34
gl <l Bl il 3 i FisT ude HRd T

Study the given information carefully and answer the question that follow:

In the following diagram, the circle represents all the people who like Tea, the square represents
all the people who like Coffee, the triangle represents all the people who like Juice and the
rectangle represents all the people who like Soda.

N

q
fraffad 8 A & 91 37 dinl &l 2 § o S T € Af 1wt ek

Which of the following represents the people who like Juice but not Coffee?

V, S, W, X O B vV, S,z a O

vV, S, W, X vV, S,z a
V, W, X, a 0O D STHADIS G ()]
vV, W, X, a None of these

Correct Answer : D

Il &1 U Ufad H, 0 S § Uid RIF W g SR A4 3 9 B8 RIF W g1 96 d U RIF 9Gad §, df o1 a1 F ARed 81 S
FARATMACI _ q @ e 3

In a line of children, Rajesh is fifth from the left and Mona is sixth from the right. When they interchange their
positions, Rajesh becomes thirteenth from the left and Mona becomes th from the right.



Q-77

Q-78

Q-79

Q-80

Q-81

10 O B 16 O

10 16
12 O D 14 O
12 14

Correct Answer : D

Tefdl @ U Ufdd ¥, e P S 10 | <Hai § 3R Q S g1 § Aiai B, 31U RIF §ad od €, O P 910 J Uged RIM W 8 ol g
tfed & fpa=t Trefmar g2

In a row of girls, if P who is tenth from the left and Q who is ninth from the right, interchange their positions, P
becomes fifteenth from the left. How many girls are there in the row?

15 O B 20 O
15 20
23 O D 22 O
23 22

Correct Answer : C

fafiied & @ Q ue 3R I9F 918 3 ard U F IR <

YA TSP A, B, C, D, E, FIRGUH TN A WS BIF D F 3P TR 3R BI G, ANRES SIH gl F IR A F oig & U asahl
BIESRCH AT asd &1 C 3R B F o9 diH a5 ¢!

E % a0 ¥ IR BIF 82

Read the following carefully and answer the question that follow.

Seven boys A, B, C, D, E, F and G are standing in a straight line. F is to the immediate left of D. G is between A and E.
F and A have one boy between them. E and C have two boys between them. C and B have three boys between them.
Who is third to right of E?

A O B
A
C O D
C

O
O

Correct Answer : C

OO0 W

3BT U HTATT J HE0T B 3R T I a1 L& Rl ¢ 3R 8 {3l gaar 7, R <18 gsar 8 iR 6 et gaar 31 urfie fig
¥ Yauf o 39 98 fory fazm & <1 @1 82

Arun start from his office facing southwards and walk 8 km, then turn right and walk 6 km. In which direction he is
going now with respect to starting point?

IR UfEH O B IRy O
North-west North-east

aféror afEm O »bo <Rug O
South-west South-east

Correct Answer : D

fau U fawedl & @ Yafid Tsg &1 9TI FLEXIBLE : RIGID :: CONFIDENCE : ?
Select the related word from the given alternatives. FLEXIBLE : RIGID :: CONFIDENCE : ?

DIFFIDENCE O B INDIFFERENCE O
DIFFIDENCE INDIFFERENCE

COWARDICE O D  SCARE O
COWARDICE SCARE

Correct Answer : A

TFh HaR H, THR 0 I Aid R R 81 IHE & RIF 3 I 316al g1 a1 a1 & g B gl g1 Ufdd & W dsd! &1 gAdd T
forat g Tl o2

In a queue, Sameer is ninth from the back. Wasim’s place is eighth from the front. Neetesh is standing between the
two. What could be the minimum number of boys standing in the queue?



Q-82

Q-83

Q-84

Q-85

Q-86

8 O B 10 O
12 14 O

12 14

O

Correct Answer : B

f=1id 3 PeT, "g8 dso! B 7 F Ul P Udl 81" 3T ASH! BT F=Id B 82

Nishant said, “This girl is the wife of the grandson of my mother.” Who is Nishant to this girl?

foram O B U O
Father Husband

aral O D R O
Grandfather Father-in-law

Correct Answer : D

gfe fHft Ay yreT §, BOX &1 &8 9 § 3R SUNFLOWER &7 81 §, ol FOLLOW T B8 81T
If in a certain language, the code for BOX is 9 and that of SUNFLOWER is 81, then the code for FOLLOW will be

64 O B 50 O

64 50
36 O D 24 O
36 24

Correct Answer : C

TF TG ST B 3R T& T 10 Hiex Iadl 3 3R {5 98 918 3R GSaT 3 3R 5 Hiex Fordn 31 98 R arff 3R gear 8 @R 10
Hiex FofaT 81 98 30 0o R I forat R 3R g fom &Y ek 82

A person facing north walks 10 m and then he turns left and walks 5 m. He again turns left and walks 10 m. How far is
he from his original position and towards which direction?

20 ez, aféor O B 15 iy, Uitm O
20 m, South 15 m, West
10 Hier, gd O p 5w, ufim O
10 m, East 5 m, West

Correct Answer : D

frafafed T @ @H ¥ ue ok 39 A9 3T T Uy & S <

AP, Q, R, S, T, U, VIR W T MAGR A & IR 3R H5 BT 3R TG P 96 81V, Q F a1 J dRRT 3R R & a1 I g
VAR Q THFINITNIRSF AP IWLIU, Q3R TH I H Bl

w = 7§ §31 8

Read the following passage carefully and answer the question given below it.

Eight friends P, Q, R, S, T, U, V and W are sitting around a circular table facing the centre. V is third to the right of Q,
and second to the left of R. Q is second to the left of T and immediate right of S. U is between Q and T. P is not at the
left of R.

W is sitting in between

USiRT O B R3RQ O
Uand T R and Q
TRV O D R3RV O
TandV R and V

Correct Answer : D

Statement: All windows are doors. No door is wall
Conclusions:

1. No window is wall.

2. No wall is door.

Statement: All windows are doors. No door is wall



Conclusions:
1. No window is wall.
2. No wall is door.

A Only 1 follows O B Only 2 follows O
Only 1 follows Only 2 follows

C either 1 or 2 follows D D Both 1 and 2 follow D
either 1 or 2 follows Both 1 and 2 follow

Correct Answer : D

Q-87 4 Ut fF IR @t g a1t U T 1 Wit TRt B H 1 F W7 o 7 o R 1 vt fFAR Y S ot B agew # e fean
T B 9 UHR U Bie T4 7 ¥ fFan #t I Tag T g
A cube of 4 cm edge length has been coloured blue on all of its surfaces and then cut into smaller cubes of edge length
1 cm each. How many of the smaller cubes so obtained will have three surfaces coloured?

A 8 O B 12 O

8 12
c 24 O D 18 O
24 18

Correct Answer : A

Q-88 I YT A 3R B’ F WIS AU M §1 AR Ful Y U SR I R Y upfa 7d H¥) 7 o b et 7 € T MRt 9§
Statement A: People in North Bihar take bath early in the morning even if it is very cold.
Statement B: In North Bihar, cleanliness is valued more than in the rest in the India.
Given below are the pairs of statements ‘A" and '‘B’. Read both the statements and decide their nature of relationship.
Assume that the information given in the statements is true.
Statement A: People in North Bihar take bath early in the morning even if it is very cold.
Statement B: In North Bihar, cleanliness is valued more than in the rest in the India.

A Statement A is the effect and B is the cause. O B Statement B is the effect and A is the cause. O
Statement A is the effect and B is the cause. Statement B is the effect and A is the cause.

C Statement A is an effect but B is not its D D Statement B is an effect but A is not its D
cause. cause.
Statement A is an effect but B is not its Statement B is an effect but A is not its
cause. cause.

Correct Answer : C

Q-89 W U< d SIfiQ: 13, 221, 17, 19, 437, 23, 23, , 29
Find the missing term: 13, 221, 17, 19, 437, 23, 23, , 29

A 617 O B 667 O
617 667

cC 697 O D 707 O
697 707

Correct Answer : B

Q-90 ¥udl H duilg @l Wi 3, 3, 6, 18, 72, 380, 2160
Find the odd one in the series: 3, 3, 6, 18, 72, 380, 2160

A 3 O B 18 O

3 18
c 72 O D 380 O
72 380

Correct Answer : D



Q-91

Q-92

Q-93

Q-94

Ird €1 77 AIferehT ¥, Wsgl b Udh UG bl dietH-1 7 feral 711 g 3R U I & i 37dh

Yl DTS DIcH-11 H o7 U § | Udh Weq BT U 3Hfgdld HIS gidl §. Usal &b TG 3R

T Heifd BIs Bl gl b 2R Fafefad usl & S| ¢

In the table given below, a group of words are written in column-I and their respective codes are

written in column-IT against each group. Each word has a unique code. Compare the group of

words and their respective codes and answer the following questions.

Column —1I Column —IT

(i) Diamond in Bag. @zx

(i1) Diamond are exported. ¥z

(1i1) Bag was Black. +@ %

(iv) Black is exported. f+*

‘Diamond is Black’ a’ﬂ%’m Bis I E)P[ Hehdl %’?

What can be the code for ‘Diamond is Black’?
@zf D B zf + D
@zf zf+
@f+ 0O D Tu - frar o Gl O
@f+ Cannot be determined

Correct Answer : B

TH U313 UHR W TS ¢ % 3R1E 3:00 99t fire o) Y2 STR-UfYH &t iR IIRT Fell g1 UTd: 9:00 T & &t g3 b fzm &
3T Pt 82

A clock is so placed that at 3:00 P.M. the minute hand points towards North-West. In which direction does the hour
hand point at 9:00 A.M.?

SW-gd O B ufdH O
North-east West
Eféror-ufdm O D  aRm O
South-west South

Correct Answer : C

QPFITRASHRIRRIUIIAT 7 MR WREIS, RITRAZHRRRIT, ST A6 HRWREI VI UBAAIR, U T
frat R 82

Q is 8 m to the north of P and 7 m to the west of R. S is 3 m to the north of R. Tis 6 m to the east of S. Uis 11 m to
the south of T and 4 m to the west of V. How far is R from U?

9 Hiex O B 8H® O
9m 8 m
10 Hex O D 12X O
10 m 12m

Correct Answer : C

Y e Fafifed SMeRt W enuid Bl

T g AT TRMH, I Wea! &1 U I 301 ST § < TROT & RO Ulcham & A1y ¥ T faRiy o &7 ure akd g 84 R $8
TaTeH an) ddl g | Fafifad 39ge SR ufshar & RO &1 U ISR B

g9c: Always Feel Great Of Whom You Love

WU I: 20 18 27 21 36 46 17

WY II: 2 17 23 527 34 15

WU III: 2515 17 23 27 34

WU IV: 3 12 48 72 120 168 245

WY V: 3232 14 0 48 40

XY VI: Always Of Love Feel Great Whom You

SR 3T 7T TROT & 3ER0T fby MU ot & SuR, foU TN $Ye R IWIad JaTa & a1 ddb, FEfifad Uy &1 3R <
%4c: Sorry Sir Not Meant To Tell You

RY V H UgdT ded T 82




Q-95

Q-96

Q-97

Q-98

The question is based on the following information.

A word arrangement machine, when given a set of words applies certain operations on them following a particular rule
through a step by step process. The following is an illustration of input and the steps of the process.

Input: Always Feel Great Of Whom You Love

Step I: 20 18 27 21 36 46 17

Step II: 217 23527 34 15

Step III: 251517 23 27 34

Step IV: 3 1248 72 120 168 245

Step V: 32 3214 048 40

Step VI: Always Of Love Feel Great Whom You

As per the rules followed in the steps given above, answer each of the following questions, by applying the above
operations on the given input.

Input: Sorry Sir Not Meant To Tell You

What is the first element in step V?

0 O B 2 O
0 2

16 O D 64 O
16 64

Correct Answer : B

3y FEfiad THeRt W snuifid g1

Ufg 99 B1, B2, B3, B4 3R B5 & WA S1 3R S2 & o9 et g1 Ugah 89, St S1 § FAdadd! 8, S2 d% Ugan arat diest 99 B

B1, S2 % UgeH aTell gOR &4, B5 & §1G Ugdd gl B4, WM S1 SIS aTdl gOsl 99 §, B2 & qXd I S2 d% Ugd- arelt et
T9 g, S HH: B5 3R B1 P 91¢ S1 Jlsdl gl

S1 ¥ FAdan arelt ugd 99 ®IF It 82

The question is based on the following information.

Five buses B1, B2, B3, B4 and B5 operate between two stations S1 and S2. The 1st bus, which leaves from S1, is the
3rd bus to reach S2. B1, the 2nd bus to reach S2, reaches after B5. B4, the 2nd bus to leave the station S1 is the last
to reach S2, immediately after B2, which leaves S1 after B5 and B1 respectively.

Which bus is the first bus to leave from the S17?

B4 O B B3 O

B4 B3
B2 O D Bl O
B2 B1

Correct Answer : B

Genius : Ingenious : Stupid :: ?
Genius : Ingenious : Stupid :: ?

Perfect : Imperfect : Impeccable D B Intensive : Rigorous : Superficial D
Perfect : Imperfect : Impeccable Intensive : Rigorous : Superficial

Punctilious : Careless : Lazy O D Innocuous : Innocent : Benign O
Punctilious : Careless : Lazy Innocuous : Innocent : Benign

Correct Answer : B

12 @13 =1823R 17 @8 = 162, W15 @ 16 =
If12 @ 13 =182and 17 @ 8 = 162, then 15 @ 16 =

186 O B 240 O

186 240
272 O D 145 O
272 145

Correct Answer : C

Tfeg 17 * 18 = 306 3R 14 * 23 = 330 10 * 12 =
If 17 * 18 = 306 and 14 * 23 = 330, then 10 * 12 =



A 121 0O
121

c 345 O
345

Q-99 P BT b T defer ¥ H 436 a7 3R T 9wie & 9 a7 4, @ 39 av & fove faww fa i

306
306

129
129

O
O

Correct Answer : A

Imagine that in a calendar year, there were 436 days and 9 days in a week, then how many odd days will be there in

that year?

A1 O
1

c 3 O
3

A NN

Q-100 XfAAR ¥ 26 &7 yga et i34 & 15 &7 91 Al &7 &1 W@ &1 S A1 7 Fa1 oirell 2
What the day of the week is on the day which is 15 days after a day which is 26 days prior to a Sunday?

A §uER 0O
Wednesday

C IR O
Friday

Q-101 IS U SRIaeht udd e ford et & o 32

The oldest mountain Aravalli ranges between

A ISR 3 et O
Rajasthan and Delhi
C ISR 3R 3R] O

Rajasthan and Agra

Q-102 YR B TR YA & 3fafd qad 981 &5 Fel 872

The largest area under wasteland in India is in

A IRRY 0O
Uttar Pradesh

c e O
Rajasthan

Q-103 U STl # T & IR BT &7 el o

B

In West Bengal the region north of the Ganga is known as

A TR O

Tanr

c e O

Barind

Q_104ﬁqﬁf®aﬁﬁaﬁ={wwa@:¢%aq?w%?

Which one of the following is a rootless plant?

B

AR
Thursday

AR
Saturday

IEIPR 3R TR
Udaipur and Jaipur

ASIRYT 3R GoTa
Rajasthan and Punjab

e U
Madhya Pradesh

Gujarat

Bhabar

Rahr

O
O

Correct Answer : D

O
O

Correct Answer : A

O
O

Correct Answer : A

O
O

Correct Answer : C

O
O

Correct Answer : C



A

Weiftped O B
Ceratophyllum
T O o

Monochoria

Q-105 1946 &1 NS fasie TR™ gen

A

The naval revolt of 1946 started in

HAB O B
Calcutta

are O D
Bombay

qus%ﬁﬂ'l‘s“%ﬂﬁ"ﬁ%ﬁﬁ\?{ﬂ'ﬂﬂﬂw%

A

The state which leads in the area under tank irrigation is

dafireTg O B
Tamil Nadu

snfs=m 0O D
Odisha

Q-107 %8 Y@l 1 b s 1 AT el &1

A

Durand Line determined the border between

YRA 3R I O B
India & China
YR 3R fosad O D
India & Tibet

Q-108 YR AU gRT TRAGT Aifcisd AIGRI Bt T §

The numbers of Fundamental Rights guaranteed by the Indian Constitution are

A

o 0O s

Six

35 O D

Eight

Q-109 VT aY fhua! 318 82

A

Light year is a unit of

T O B
Time
BEIRI O D

Light

Q-110 TR ST Ugel IR Hol Y& bl T UT?

Operation Barga was first introduced in

SIESIED

Eichhornia

fufkean

Pistia

Ha™
Madras

CANIET

Calicut

BRI
West Bengal

G|

Kerala

YR 3R Y™
India & Bhutan

YR 3R BT

India & Afghanistan

qrd
Seven

Gl

Nine

Al

Distance

GIEGII

Intensity

O
O

Correct Answer : A

O
O

Correct Answer : C

O
O

Correct Answer : A

O
O

Correct Answer : D

O
O

Correct Answer : A

O
O

Correct Answer : B



A Sice O B  uf¥wema

Karnataka West Bengal
c ¥ O D f®Rr
Kerala Bihar
Q-111 W.T.0. &1 qd A I
The earlier name of W.T.O. was
A g@HE TS O B udtd
UNCTAD GATT
C gwaEdal O o S
UNIDO OECD
Q-112 Ifpdiferar T %?
What is Septicemia?
A WARG (PR O B & fawraar
Mental disorder Blood poisoning
c  wr furEdr 0O D  ITHIPIE R
Food poisoning None of these

Q-113 @Y 2022 & T Rfra & o PR ¥ fFA Fwfa fhar w82
Who has been awarded the Nobel Prize for Medicine for the year 20227

A id e O B B 3ifecy
Swante Peba Harvey Alter

c Iy O D SWd gl
Charles Rice Jefry Hall

O
O

Correct Answer : B

O
O

Correct Answer : B

O
O

Correct Answer : B

O
O

Correct Answer : A

Q-114 PSId TUC 2023-24 P IR, WER 7 4 & N A&l TR H i PiHH JlGA Ipvdl g MU B 1 Iy o1 82

According to the Union Budget 2023-24, the government has announced to set up how many ‘Artificial Intelligence

Centres of Excellence’ in top educational institutions of the country?

A 0O s > 0
1 2

c 3 O »o 4 O
3 4

Correct Answer : C

Q-115 3R JA&MT 2022-23 F AR, HRA g B Iy g1 AiaRd HHfd g1
According to the Economic Survey 2022-23, India is the largest mobile manufacturer in the world.

A TS O =& @ O
first second

c A O o 0
third fourth

Q-116 PEId TOC & IHTAR, AUl B SICHSIY SbY TS BT fbe1 uferrd Bt ergwfa o smut?

As per Union Budget, what percentage of GSDP fiscal deficit will be allowed to the states?

Correct Answer : B



A 3% O B  3.5%
3% 3.5%

C 4.5% O D T8 9 PIs T
4.5% None of these

Q-117 FFA IR FT pH AH fobeT Ear 82
What is the pH value of the human body?

A 92398 O B  6.196.3
9.2t09.8 6.1t06.3

c 7.0978 O D 54356
7.0t0 7.8 5.4t0 5.6

Q-118 T TT TN F F e TN 7 pUly F R Fdene w=ied RdTwt W weula 3 sifard s e

O
O

Correct Answer : B

O
O

Correct Answer : C

Which of the given amendments made it compulsory for the president to consent to the constitutional Amendment

bills?
A 274 O B 294
27th 29th
c 2z O D 244
22nd 24th

Q-119 FERTET & & & o1 THR 3ifie Ml T8 HR FHaT 87

Which of the following animals can tolerate more summer heat?

A HE O B WM
Buffalo Cow

c T O D T
Donkey Goat

Q-120 “TRIS & gEash” BT EYRUN fbud Haferd 82

The concept of “vicious circle of poverty” is related to

A BT AR O B IR THA
Karl Marx Ragnar Nurkse
c uenfaw O D  ITHIPIE TG
Adam Smith None of these

Q-121 MHRIREd # ¥ fbg ®IM R HRA &1 Ugdll S SRAMT R fobar ar ur?

At which among the following places, India‘s First steel factory was established?

A SERIGER 0O B @R
Jamshedpur Durgapur

cC TR O p frER
Burnpur Bhilai

Q-122 Hw1 Twifd W, T 1 ot Fafafed # ¥ fbg 90 W daad v 77

On Summer Solstice, Sun’s rays fall perpendicular on which among the following circles?

O
O

Correct Answer : D

O
O

Correct Answer : D

O
O

Correct Answer : B

O
O

Correct Answer : C



&R T

Tropic of Capricorn

Fb @l

Tropic of Cancer

0 0

YA T
Equator
370 A B 61

None of them

Q-123 ﬁaﬁ@aﬁ%ﬁm&a@z%mwﬁrﬁmaﬁmw%

Under which among the following articles, President has pardoning power?

A

3w 70

Article 70

TG 74

Article 74

Q_124uﬁwnﬁaﬁmﬁo—aﬁaﬂ%?

A

Q-125 TTECS fbirsn 7 by IR & WY TaSwR TpHah' W &R fBU?

A

Q-126 Afs® i WA BT J3& F g 3fd 2023 TP Y0 W T 82
What is the repo rate as of April 2023, after the Monetary Policy Committee Meeting?

A

Who has composed the FIFA anthem?

RER:|
Rob May

i Aac

Franz Lambert

O
O

0 0

DG 72

Article 72

3T®E 73

Article 73

qrgA g
Simon Hill

SRIad Tt
All of the above

The United Kingdom signed ‘Windsor Framework’ with which institution?

3M18.T4.T

I.S.A

SH-20
G-20

6.2 ufa=rd
6.2 per cent

6.8 ufa=rd
6.8 per cent

O
O

O
O

Q-127 "PRIRIW W FR&M 3R Wy & o fay feaw e #Hmn S 82
When is the ‘World Day for Safety and Health at Work’ observed?

A

Q-128 TR TaUY 59 siafer Tolkf gRT waftd oo siafer o g2

Mars Express is a spacecraft launched by which space agency?

23 30d
April 23

28 30d
April 28

O
O

B

3.4,
E.U.

-7
G-7

6.5 yfa=ra
6.5 per cent

7.2 yfcr=rd
7.2 per cent

26 30
April 26

30 30T
April 30

O
O

Correct Answer : C

O
O

Correct Answer : B

O
O

Correct Answer : C

O
O

Correct Answer : B

O
O

Correct Answer : B

O
O

Correct Answer : C



NASA

JAXA

ESA

ISRO

Q-129 UM A F &RM, g et gfdar sififram &1 #uar frad gR TR fovar T ur?

During the company rule, the Hindu Widows Remarriage Act was drafted by

A

TS BT
Lord Canning
SIS

Lord Hardinge

Q-130 S0 ¥ & 91 Tiar &7 & Tt 77

A

Which of these is the regional music of Goa?
LK |
Mando

R

Sohar

Q-131 G-l H, &l WR Pesl b aret fEeniedl i

A

In Kho-Kho, the players occupying the squares are known as

GIEl
Lobby
o1 H31 arat

Chasers

Q-132 WWW%UW 3fege Hi U?

Who was the first President of the Commonwealth Games Federation?

A

3R gifve
Arthur Porritt

ST A-g8
James Leigh-Wood

O
O

O
O

O
O

O
O

B IS sagei
Lord Dalhousie
D IWIad § I Pig g
None of the above
B difear
Lotia
b . 5
Pandavani
$ EUH T S ¢ |
B FHATR
Raiders
D YdhY
Chukker

B

Q-133 FaffEd & 3 B A Fwpfa 1R gt & sl & forg o St 82

Which of the following culture is known for Grey pottery?

A

TTdT Pl
Malwa culture
goleIv I¥pfa

Burzahom culture

O
O

B

JAoieR AT
Alexander Ross

diex gleat

Peter Heatly

&l AU i
Eastern Neollithic culture
Sd T

Jorwe culture

Q-134 P 1 I TRPT TgUeNy §aT3 31 "TRRAIZS Suic T VIII' T Ao &2

Which country is the host of the international multilateral air exercise ‘Exercise Desert Flag VIII'?

O
O

Correct Answer : B

O
O

Correct Answer : B

O
O

Correct Answer : A

O
O

Correct Answer : C

O
O

Correct Answer : C

O
O

Correct Answer : C



UK

Japan

Q-135 SHERI # fi@rs & ardl e fv ueifa & 82

Lipizzans, which are seen in the news, belong to which species?

A

ursT O
Horse
rifarer O
Poultry

B

HYH 3R HRTT O
UAE

il O
Sri Lanka

Correct Answer : B

el O
Dog
foreet O
Cat

Correct Answer : A

Q-136 U4H WERT! Ufersiiey fdta g 3ifth  $oR ¥R &1 fasiar i ifia fova ma &2

Who has been named winner of the first-ever Queen Elizabeth II Woman of the Year award?

A

e Yaia O
Suella Braverman
T e O

Naga Munchetty

Q-137 ‘PR 3MuF e 5 TR 1 1 33T FHFH 72

‘Nidhi Aapke Nikat’ is an outreach programme of which institution?

A

SRS O
RBI

sulTwan O
EPFO

Q-138 RIEPHAR T by arey 43 &1 a9 & o Ui &2

A

Shivkumar Sharma is famous for playing which instrument?

RGN O
Sitar

TR O
Santoor

Q-139 “HRd BT TTd Y2V’ {5 B8 §Ial 87

A

Who is known as the ‘Steel Man of India’?

3 @ Rfea O
O P Jindal
SHYS St T O

Jamseth Ji Tata

B

B

B

BTG DR O
Karenjeet Kaur
BRI <idl ()]

Harpreet Chandi

Correct Answer : A

A SRETTaTE O
IRDAI

Ll O
SEBI

Correct Answer : C

e 0

Tabala
Srgd O
Flute

Correct Answer : C
THRIG o gL O
Jamshed J Irani
qeHt e O

Lakshmi Mittal

Correct Answer : B

Q-140 ¥RA & T USHR AW &) gRES A forel! W ¥ feielt o F7 3 Ao 32

Which neighbouring country of India is set to receive electricity from power plant in Jharkhand?



A ficipT D B qiee D

Sri Lanka Bangladesh
c e O D  HWHR O
Nepal Myanmar
Correct Answer : B
Q-141 B &1 H, 3 100 fesdl archt gfar & TR st TEh 37 9 &1 Rl s mr 32
Recently, has made a record of running the world’s longest passenger train with 100 coaches?
A Hied O B fRigoRds O
Sweden Switzerland
cC I O o wm O
USA France

Correct Answer : B

Q-142 MUHAd IuANTSHANSH & Y & g V= H=R HaT (THUATH) UaH B dTell Ugel! AT IuTe Jumrelt i A &2
Which is the first navigation satellite system to provide Regional Short Message Communication Service (SMS) for
authorised users?

A TEAN O B fd® O
GLONASS NAVIC

c iy O o s=B O
GPS BeiDou

Correct Answer : D

Q-143 3 AR, 2022 Bl T 11 dfiRes Frmsd feha (HTAsh) & ded SIeRSIsl gRT fF LR A= &1 Ueeh IR IHAdgdd
TRi&ror fopar T Ur?
Which interceptor missile was first successfully flight tested by DRDO under Phase II Ballistic missile Defense (BMD) on
November 3, 20227

A T -1 fEEa 0O B Uel- 2Ry O
AT - 1 missile AD - 2 missile

c wt-1fhusa O D 3MEuH - 1 frgd O
AD - 1 missile IM - 1 missile

Correct Answer : C

Q-144 ¥R sEWIMhe B RUIE ‘< Tegd foile Ty - Teiigy fdq ¢ e g aes RUle’ & SR 2.92 e vl & Y gfar
&1 gaq g1 (Aaiaar HH 82
Which is the world’s largest employer with 2.92 million people according to Statista Infographic’s report ‘The World’s
Biggest Employers — Employers with the Most Personnel World Report’?

A HRd BT & HAO O B SN T &l Hlrer™ O
Ministry of Defense of India Ministry of Defense of America

C  HRdWY ¥ O D ol O
Indian Railways Tesla

Correct Answer : A

Q-145 B9 & # STEHTHR-T Yo TR &1 Ugal Afeen Fowies $iF &+ 82

Recently who has become the first woman director of ICAR-Sugarcane Breeding Institute?

A RS O & hadem O
Bharati Das Sunit Chauhan

C 3gar Rig O D SISt gRUN O
Amrita Singh Dr. G. Hemarprabha

Correct Answer : D



Q-146 39 UdT &1 T &, R 811 81 H HRAG I 7 g & g 1 RI6R B & oy ufRiféra foban @

A

The name of the kite, which has been recently trained by the Indian Army to hunt down enemy drones, is

iy O & e O
Bhima Arjuna

GEZ O D ¥ O
Vikram Shakti

Correct Answer : B

Q-147 fafifed saHl & ¥ Sia = 82

A

Which of the following statements is true?

FISRIRICES] Yo dep dea fater tag dear () B XISYY I T 3fd Piod Y P o T g O
| Y oY HY BT I Tl Rajpath has now been renamed as Kartavya

From India Gate to Rashtrapati Bhavan is Path.

called Central Vista Avenue. It was also called

Rajpath.

o A1t 3 37T Igured o &, O D SR g 0O
PM Modi has inaugurated it. All of the above

Correct Answer : D

Q-148 SUHIEI AHA! & HAT & AR, B A1 G g1 BT Ja¥ TST A SAGH SR JUHIe & 11 &2

According to the Ministry of Consumer Affairs, which country has become the world’s largest sugar producer and
consumer?

HRd O B WU O
India Japan
EISINS O D =N O
Brazil China

Correct Answer : A

Q-149 HRA # HIgE g7 HIftha1 & I Feadh Bl diger HRA H S debdl W G M & I | Hlalefg T HIF A1 AR e U2

Which operation was carried out by the CBI with the aim of curbing drug trafficking in India by breaking the foreign
network of drug mafia present in India?

STOR FRaf O B SRR dol O
Operation Suraksha Operation Tejas

TR TES O D SifREE ¥=R O
Operation Garuda Operation Sachar

Correct Answer : C

Q-150 Fuffed ¥ & frd 4R &1 Ugan 24 x 7 IR Sl waiferd Ma D fovar mar §2

A

Which of the following has been declared as India’s first 24 x 7 solar powered village?

GO (TORT) ()] B TR (RIA) ()]
Punsari (Gujarat) Modhera (Gujarat)

TR (WERTY) O b ¥ (wRE) O
Manghar (Maharashtra) Bhuj (Gujarat)

Correct Answer : B

Q-151 U Wrsfde arae 8 U # gl 1 &l ¢1 UG a8 Ut i 3 fobefl/eiet 5igr 3 &, ol 98 WM gl 6 °e H a9 IR Fehdl 5| Wgfbel

AP BT URMNS T T 22
A cyclist covers a distance in 8 hours. If he increases his speed by 3 km/h, he could have covered the same distance in
6 hours. What is the initial speed of the cyclist?



A o fest/der O B 12 fedide O

9 km/h 12 km/h
c  fedyda O D 18 fdHy/dHa O
6 km/h 18 km/h

Correct Answer : A

Q-152 31 UIZYU A 3R B T TH! Bl HH: 15 U 3R 20 U # R ebd ¢8| e GHI UISUl P! Ueb A1y Wel AT S, ot SBT 1 HRA H T
foae am @R
Two pipes A and B can fill a tank in 15 hours and 20 hours respectively. If both pipes are opened together, then
approximately how long will it take to fill the tank?

A 7H O B 9H O
7 hours 9 hours

c 124 O D 15%e O
12 hours 15 hours

Correct Answer : B

Q-153 T8 Hou fore R Ufd af ¥HH Ufed &) R &1 auf § 220 BT MYRY 16 3R 221 BT Tehgls ST UK BIell 62
The principal which yields a simple interest of ¥20 and compound interest of 21 in two years, at the same per cent
rate per annum?

A 520 O B 480 O

520 480
C 420 O D 200 O
420 200

Correct Answer : D

Q-154 T forall TR TR 2 e & T FURY &S 2600 & SR I AR W 2 Iuf b AT Fhgfs TS § SR JHH G R 2645 §, 1 AT
F X 1 gRA?
If simple interest for 2 years for a sum is ¥600 and compound interest for the same sum for 2 years and same rate of
interest is ¥645, what will be the rate of interest?

A 10% O B 15% O

10% 15%
C  30% O D 5% O
30% 5%

Correct Answer : B

Q-155 Ife I¢ TP ¥0 # 2 g wiad § ok 5 T T08 # S=a1 3, @ ITPT A WloRd 3

If Chandu buys lemons at 2 for a rupee and sells them at 5 for three rupees, then his profit per cent is

A 15 O B 10 O
15 10

c 20 O D 25 O
20 25

Correct Answer : C

Q_15611f3a:b:c=3:4:7,ﬂ3f31§mﬂ(a+b+c):CERT@R%
Ifa:b:c=3:4:7,thentheratio(a+ b+ c): cisequalto

A 12 O B 2:1 0O
1:2 2:1

c 32 O D 4:3 O
3:2 4:3

Correct Answer : B



Q-157 16 T R 3R 2 Y+t Fe1g &b U 31 Rieisy @1 fUueie e g1 SMHR & 12 et S ST 8 | T Ml BT 1™ ©

12 spheres of the same size are made by melting a solid cylinder of 16 cm diameter and 2 cm height. The diameter of
each sphere is

2 St O B 439 O
2cm 4 cm
3 O D 13 O
3cm 1cm

Correct Answer : B

Q-158 Ul febdll ol &1 A Sl Bl 10% T a1 WY, T THPT B §g S

A

If each side of a square is increased by 10%, its area will increase by

10% O B 20% O
10% 20%
21% O D  40% O
21% 40%

Correct Answer : C

Q-159 5 4 AW # 1.5 B SHIA ¥ THHT Y ST Hept aet ani A &1 AR (m3 H) §

A

The volume (in m3) of rain water that can be collected from 1-5 hectares of ground in a rainfall of 5 cm is

75 O B 750 O
75 750

7500 O D 75000 O
7500 75000

Correct Answer : B

Q-160 WM T n = 22/71 T wEfoba 11 [ Te@ & 5000 IaP A &1 Ul &1 Bear (34 ) ©

A

C

Let n = 22/7. A bicycle makes 5000 revolutions in moving 11 km. The radius of the wheel (in cm) is

35 O B 70 0O
35 70

140 O D 175 O
140 17.5

Correct Answer : A

Q-161 UE BIS cAf Uit Bl 2 720 H ST &, A SY 25% BT JHHM BN 25% WY UK B & T I 34 a1 =1y

A

C

If a man were to sell his chair for ¥ 720, he would lose 25%. To gain 25% he should sell it for

1200 O B 900 O
1200 900

1000 O D 1250 O
1000 1250

Correct Answer : A

Q-162 & HEATSH BT UG 2028 § 3R TP H.C.F. 13 71 U SISl B I ©

A

The product of two numbers is 2028 and their H.C.F. is 13. The number of such pairs is

0O B
O D

O
O

Correct Answer : B

wWww ==
A DA NN



Q-163 F 309 9 F 7 1 9T 1 15 A 91G, A IW A I¢ § A R | TR el g B AvT §

I am three times as old as my son. 15 years hence, I will be twice as old as my son. The sum of our present ages is

A

48 I1d
48 years

60 JTel
60 years

O B

O D

64 WA O
64 years
56 el 0O
56 years

Correct Answer : C

Q-164 TP URAR &1 AIRS 3 3R AR Y BT S 10:7 ¢ Al URAR &1 AY® @4 2 10,500 8, Al URAR H1 aiies §/9d o
The ratio of the monthly income to the monthly expenditure of a family is 10 : 7. If the family's monthly expenses are
% 10,500, then the annual savings of the family is

A 4500 O B 15000 O
4500 15000

C 54000 O D 180000 O
54000 180000

Correct Answer : C

Q-165 18 Tt x 14 eft Yol a10 T 3T F SR Wi o Teb AT G IS I T ATBA @

The area of the largest circle, that can be drawn inside a rectangle with sides 18 cm by 14 cm, is

A 49 JER O B 7792 O
49 cm? 77 cm?2

C 254 3 O D 154 92 O
254 cm? 154 cm?2

Correct Answer : D

Q-166 T B30 et T T 3R T T Geiid S 1 ST SRIeR 8| 7 o ST 3R 9a &1 HaTs Bl U o
The volumes of a sphere and a right circular cylinder having the same radius are equal. The ratio of the diameter of the
sphere to the height of the cylinder is

A 3:2 D B 2:3 O
3:2 2:3
c 21 O D 1:2 0O
2:1 1:2
Correct Answer : A
Q-167 Gt T3 THGNI &1 T B 3R D 916 3 I Ui & S| o

it €1 77 IfeiepT 2023 & T&W 71U HeH & SR Uil Hied gRT 9R dRye A Ianied
ST aTe-i & YRITEd Um0 &1 U (@l 5 oIl &1 98 2 919 & i Swiad s@fy
T SO gR1 $ad 3 dIe-i &l JedTa- fadl a1 ol

Study the given information carefully and answer the guestions that follow:

The table below represents the number (in lakhs) of the modified version of two-wheelers
produced by ABC Motors in four variants during the given months of 2023, It is also known
that only these vehicles were produced by the company in the above mentioned period.

;‘;‘; or April May June July
Bike A 1 3 6 8
Bike B 2 5 3 6
Bike C 3 2 6 1
Bike D 4

2 3 4
S HIY & R (50 USR &1 IdTe AU ad sidl 82

Which variant 1s produced maxumum during the given period?

Bike B O

Bike B

A BikeA O B
Bike A



C

Bike C O

Bike C

D

Bike D O

Bike D
Correct Answer : A

Q-168 U FIET aoH 1 & YFT & 59 UPR AT fam ST & b ugel YT 1 5 1 SR g8 WM &1 11 T e R R a9 BT 7 TA1 8l

ST 81 U8 T § &R HITT T 30T §

A certain weight is divided into two parts such that 5 times the first part added to 11 times the second part makes 7
times the whole weight. The ratio of the first part to the second part is

1:2 O

1:2
2:1 O
2:1

B

5:11 ()]
5:11
2:3 D
2:3

Correct Answer : C

Q-169 9 3R RFRA 8 Hie/fHe 3R 6 Hiey/fre &1 7 I Teb g 1 3R SIS | Sfd o e, 1 91 7 deb &1 & b o fob I Ry

T 20 e 3ifip G T B 81 URH H S T B G (Hiex H) i

Raj and Simran ran towards each other at 8 m/min and 6 m/min. When they met, Raj started arguing that he had
covered 20 m more than Simran. The distance (in m) between them initially was

60 ()]
60

140 O
140

B

120 ()]
120
160 O
160

Correct Answer : C

Q-170 Thgls SATS W, ¥ 2000 1 AR 2 uf & ¥ 2420 B I | U 9N S & A 82

On compound interest, ¥ 2000 amounts to ¥ 2420 in 2 years. What is the rate of interest per annum?

A

8% D

8%

12% O

12%

B

10% O
10%

9% O
9%

Correct Answer : B

Q-171 T 3R TSt 1 afAH 31y 7 I 48 ¥ B, o1 TSt AT & 4 7 9 ¥ Ran SR A F W 31y FT 37U 4:7 F1 ) 9 v TR

A

C

DI 1Y AT AP?

The sum of present ages of Riya and Abby is 48 years. Today, Abby is 4 years older than Shweta. The ratio of the
present ages of Riya and Shweta is 4 : 7. What was Abby’s age two years ago?

30 AT O
30 years
32 91 0O
32 years

B

28 9ra O
28 years
34 9 0O
34 years

Correct Answer : A

Q-172 X, 4, 8 3R 10 PT NI AU &1y, 5 3R 125 T 3 UMD Bl y 3R x BT IR UMD §

x is the fourth proportional to 4, 8 and 10. y is the mean proportional to 5 and 125. The third proportional to y and x is

A

C

256 O

256

20 O

20

B

D

4 O
4

16 O
16

Correct Answer : D



Q-173 CIUIE & TN 25 Hiex &1 g W &1 T 3 IR WHl & U § ToRd I I a1 g1 afe ¢ &1 7Ifd 45 fbefieiiex ufd der g @t @

4 °¢ # fooait g 0T HT?

Telegraph poles are at a distance of 25 meters. A railway passenger counts the poles as he passed them. How many
will he have passed in 4 hours if the speed of the train is 45 kilometer per hour?

A 3600 O
3600

C 7800 O
7800

B

D

6800 0O
6800
7200 O
7200

Correct Answer : D

Q-174 <l YR &1 fAgergell # ¥, usat # =it ok o7 5:1 & ofgurd # iR g&R H 3:1 & gurd # g1 3 Fsrerqaft 1 fb srgurd # Mrereman
ST AT SR T AT FeAran ST <1feq a1 T fAsyor 899 9?2 80% didl # 5 bt soqwm?
Of the two kinds of alloys, silver and tin are contained in the first in the ratio 5 : 1 and in the other, in the ratio 3 : 1.
In what ratio of two alloys should be melted and mixed together so as to make up a 5 kg mass in 80% of silver?

A 3:2 ()]
3:2

C 3:1 D
3:1

Q-175 50 3R 100 & s fael suTey TeTt &2

How many prime numbers are there between 50 and 100?

A 8 O

8

c 10 ()]

10

B

B

2:3 ()]
2:3
1:3 D
1:3

Correct Answer : A

o O
9
11 O
11

Correct Answer : C

Q-176 Sa, fawd SR Udie T R | 9Id & IR G RISR-SRIR e TR YgHd 8id & | TP BI YH3d 2 1,000 U Bt § 3R &R & 3fd
H, A & UG ¥ 576, fa5 & U 7 448 3R Udll $ UM 2 512 T &1 I8 U1 RTE-fbdia $& gohal BT A1gT?
Anil, Vijay and Prateek go on a tour and agree to share the expenses equally. Each starts with ¥ 1,000 and at the end
of tour, Anil has % 576, Vijay has ¥ 448 and Prateek has ¥ 512 left. How should they settle their accounts?

A TS @l Ul 1 % 52 BT YIAH $HAT =16 O
Vijay should pay ¥ 52 to Prateek.

C 3 &I Ucllb Bl 264 T YITAM BT =16 0O
Anil should pay ? 64 to Prateek.

B

D

faorg &1 Uciiep @1 2 64 BT YA BT =BT O
Vijay should pay ¥ 64 to Prateek.

frer ) fasra #1 2 64 &1 YA s alerl ()
Anil should pay % 64 to Vijay.
Correct Answer : D

Q-177 QUER 12:30 W.TH. F51 # 10 e A9 W & U F FIRET S0 A7 $ T Seveg & & Ugd| 96 IS & o 9=l &1 garl §
19 e uga 9 o Fuiia 99a & 30 fiFe <& 9 uge Sevey fora wmy fwifea fosar mar are
The Chairman of a company arrived at the interview room for conducting an interview at 10 minutes to 12:30 P.M. He
was earlier by twenty minutes than the other members of the board who arrived 30 minutes late from the scheduled

time. At what time was the interview scheduled?

A 12:00 4t.TH. 0O
12:00 P.M.

c  12:209L.EA. O
12:20 P.M.

12:10 W.@H. O
12:10 P.M.

12:30 dl.eA. O
12:30 P.M.

Correct Answer : B



Q_178§$Hﬁw$weﬁﬂfﬁ1%ﬁraﬁaﬁaﬁ?w$uﬁﬁ 15 e & 1 ot &t vfa & Tt g1 wid o/ & 1@ &t 1fd @
?

A boat moves down stream at the rate of 1 km in 6 minutes and upstream at the rate of 1 km in 15 minutes. What is
the speed of boat in still water?

5 fopedl/der O B 6 faHiy/der O
5 km/hour 6 km/hour

8 fonei/wier O D 7 fedtyder O
8 km/hour 7 km/hour

Correct Answer : D

Q-179 TR 3P| BT T TS GLAT 3R A 3! F T BICT WS F a1 BT R §

A

The difference between the highest four digit number and the smallest three digit number is

8999 O B 9899 O
8999 9899
9989 O D 9998 O
9989 9998

Correct Answer : B

Q-180 T YRR ! <fi auf & fo7Q Ueb MEd aR TR JIURw <1l # et faan | afe §4 2% e &R WR @1 Sffell «f 2 360 e frerd|

o Y BT AN &
A sum of money was put into simple interest at a certain rate for three years. Had it been put at 2% higher rate, it
would have fetched ¥ 360 more. The sum of money is

% 12,000 O B %9,000 O
% 12,000 29,000
% 6,000 O D  ¥3,000 O
% 6,000 ? 3,000

Correct Answer : C

Q-181 TP W& H, HIFl &1 4P T8l IR & o 3 3 firerd 8 SR U TTerd IR & AT 2 3ic 1 b gidl o1 I 30 U 8 b

3R 40 3% U fHd | I R Uy Teid fopd, Iep! T ©
In an examination, Moni gets 3 marks for each correct answer and loses 2 marks for each wrong answer. She
attempted 30 questions and got 40 marks. The number of questions she did wrong is

5 O =8 15 O

5 15
20 O D 10 O
20 10

Correct Answer : D

Q-182 & THIGHS & ol @) daTs Haen: 24 it 8k 32 7t R 1 wHaqS &1 ofv @ 82

A

The lengths of diagonals of a rhombus are 24 cm and 32 cm respectively. What is the perimeter of the rhombus?

10 I O B 203w O
10 cm 20 cm
40 I+t O D 8o O
40 cm 80 cm

Correct Answer : D

Q-183 2 ¥ =T 3IR 3 JHl ¢faTS B U ©F I JHM HieTs b 3 Hiex o dR # uRafdd febar S g1 TR 1 o §

A rod of 2 cm diameter and 3 cm length is converted into a wire of 3 metre length of uniform thickness. The diameter
of the wire is



Q_184ﬁﬁ§3ﬁﬁﬁﬁﬁmﬁﬁlﬂ?ﬁﬁm%

The point where the medians of a triangle meet is called

A

Q-185 Wfd 21, 42, 63, 84, ... B P A U 210 &?
Which term of the progression 21, 42, 63, 84, ... is 210?

A

Q-186 S YW &1 = § s <M (3, - 7), (- 8, 6) 3R (5, 10) ¥
The centroid of the triangle whose vertices are (3, - 7), (- 8, 6) and (5, 10) is

A

Q-187 T & TIER T g I I W W S Fh areil =R@nsdl 3t ¥ ¢

The number of tangents that can be drawn to a circle from a point outside the circle is

A

0.1 gt

0.1 cm

0.01 9+
0.01 cm

R

Circumcentre

Gt

Centroid

9th
9th

11th
11th

(0, 9)
(0, 9)

(1, 3)
(1, 3)

0
0
2
2

Q-188 (sec2 A - 1) (1 - cosec?2 A) =

A

Q-189 14 Hiex e TF ¥t T <laR R et g2 71 e Wt &1 urg AR F 7 Hiex 7, A IFA 07 7

(sec2 A-1) (1 - cosecz A) =

-1
-1

0
0

OO0

O
O

O
O

O
O

O
O

O 0O

B

B

0.2 IHt
0.2 cm

0.02 9#
0.02 cm

NS

Incentre

D=

Orthocentre

10th
10th

12th
12th

(0, 3)
(0, 3)

(3, 3)
(3,3)

1
1

2 9 3ffd®

more than 2

NN ==

O
O

Correct Answer : D

O
O

Correct Answer : C

O
O

Correct Answer : B

O
O

Correct Answer : B

O
O

Correct Answer : C

O
O

Correct Answer : A

A ladder 14 m long rests against a wall. If the foot of the ladder is 7 m from the wall, then the angle of elevation is



Q-190 Tf& SR faaRwr &1 F&md 1 - 10, 11 - 20, 21 - 30, ..., 61 - 70 &, T P&T 11 - 20 HY HU FAT 3

A

c

15°
15°
45°
45°

OO0

30°
30°

60°
60°

O
O

Correct Answer : D

If the classes of a frequency distribution are 1 - 10, 11 - 20, 21 - 30, ..., 61 - 70, then the upper limit of the class 11

-20is

20
20

19.5
19.5

O
O

Q-191 UX B g 3R cosec 6 = 17/87%, WMcot 8 Bl

A

C

Q-192 T x = (125)10, y = (625)° R z = (25)16, I

A

Q-193 & PO 9ot 7 Ugl ST Fem foRiehT ©ol Ug 19 ¢, IRgal UG 37 3 AR 3 ug 67§, ©

If 6 is acute and cosec 8 = 17/8, then cot 6 is

15/8
15/8

8/15
8/15

O
O

If x = (125)10, y = (625)° and z = (25)16, then

X<y<z
X<y<z

y<x<z
y<x<z

O
O

21
21

20.5
20.5

17/15
17/15

15/17
15/17

x<z<y
x<z<y

z<x<y
z<x<y

O
O

Correct Answer : D

O
O

Correct Answer : A

O
O

Correct Answer : B

The number of terms in an arithmetic progression whose sixth term is 19, the twelfth term is 37 and the last term is

67, is

21
21

20
20

O
O

22
22

23
23

Q-194 Rk, 2(k + 1), 3(k + 1) TF ST T F AR I U2 §, @ k ST 99 7

If k, 2(k + 1), 3(k + 1) are three consecutive terms of a geometric progression, then the value of k is

A

-1
1

O
O

-4
-4
4
4

O
O

Correct Answer : B

O
O

Correct Answer : B



Q-195 U 1 & g & Faxied o = & sifaH fig (- 2, 3) R (4, - 5) %, €

A

The coordinates of the centre of a circle the end points of whose diameter are (- 2, 3) and (4, - 5), are

(2, -2) O B (1,-1) O
(2, -2) (1,-1)
(-1, 1) 0O D (-2,2) O
(_ 11 1) (_ 21 2)

Correct Answer : B

Q-196 dfd sec ® - tan 6 = k, @ sec © + tan © &I A 8RT

A

If sec ® - tan 8 = k, then the value of sec 8 + tan 6 will be

1+k O B 1-k O

1+k 1-k
1/k O D TIPS el O
1/k None of these

Correct Answer : C

Q-197 AABC #, £A = 30°, 3[R £B = 90°1 Af AC = 8 i &, T TP & &

A

In AABC, 2A = 30°, and «B = 90°. If AC = 8 cm, then its area is

16v/3 JHr2 O B 16 92 O
16V3 cm? 16 cm?

8v3 a2 O D  89HR O
8V3 cm? 8 cm?2

Correct Answer : C

Q-198 AD T Il Pl NI & 3R AB T Sffdl &1 AfG AD = 34 Yl SR AB = 30 ¥l 8, M FT HF = A AB B g &

AD is a diameter of a circle and AB is a chord. If AD = 34 cm and AB = 30 cm, then the distance of AB from the centre
of the circle is

17 I O B 153 O
17 cm 15 cm
4 3+t O D 8% O
4 cm 8 cm

Correct Answer : D

Q-199 Gl 3PN JEafl B WS Sl 3 1, 2, 3, 5, 7, 8 BT IUAN I &1 ol il 8, WY fob Udeb AT # 8 BT <1feq

The number of two digit numbers that can be formed using the digits 1, 2, 3, 5, 7, 8 such that each number must
contain 8 is

5 O B 6 O

5 6
10 O D 11 O
10 11

Correct Answer : D

Q-200 TP I H 256 T ¢ oI ¥ 144 IRPesla @ad 3, 123 T Wead § 9fR 132 fibdbe Werd 81 59 3(amal, 58 Jad IRbeard

3R 4 g Wad §, 25 fopdre iR A9 ST Tad €, Safd 63 Yo dRdbeald 3R fhdbe gl Tad gl I Tdd Joa HH J &F
T U JAdT §, I $ad g W ard I} Bt T fbamt g2

A group has 256 members of whom 144 play basketball, 123 play tennis and 132 play cricket. Moreover, 58 members
play both basketball and tennis, 25 play both cricket and tennis, while 63 play both basketball and cricket. If every
member plays at least one game, then the number of members who play only tennis is

45 O B 32 O

45 32




C

38
38

D

43
43

O

Correct Answer : D
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Q-4

Read the passage given below and answer the question that follow.

The companionship between humans and pets has been a timeless bond that spans cultures and centuries. While pets
bring joy, comfort, and loyalty to our lives, the responsibility of caring for them is not to be taken lightly. From the loyal
dog to the independent cat, each pet comes with its own unique characteristics and needs.

Dogs, often referred to as “man’s best friend,” have a long history of domestication. Their loyalty, playful nature, and
ability to form strong emotional connections with their owners have earned them a special place in our hearts.
However, dogs also require regular exercise, training, and social interaction to lead healthy and happy lives.

Cats, on the other hand, are known for their independent nature. They have been revered in various cultures for their
mysterious and enigmatic behaviour. Cats may not demand constant attention, but they still need care, regular meals,
and a clean environment. Their purring is not just a sign of contentment; it has been shown to have therapeutic effects
on humans, reducing stress and promoting relaxation.

Exotic pets, such as reptiles and birds, offer a different kind of companionship. However, their unique requirements can
be quite demanding. Reptiles need precise temperature and humidity conditions to thrive, while birds require mental
stimulation, social interaction, and proper housing.

The responsibility of pet ownership extends beyond basic needs. Regular veterinary care, grooming, and proper
training are essential for the well-being of any pet. Additionally, adopting a pet is a long-term commitment, often
spanning a decade or more, depending on the species. The decision to bring a pet into one’s life should be made with
careful consideration of the pet’s needs and the owner’s ability to provide for them.

What is the therapeutic effect of a cat’s purring?

It signals that the cat is content D B It reduces stress and promotes D
relaxation in humans

It indicates that the cat is hungry D D It signifies that the cat is agitated D
Correct Answer : B

Choose the closest word in meaning for the given word: Deceptive
Misleading D B Make a thorough search D

Coupe O D To hide O

Correct Answer : A

Choose the ‘opposite’ word of the given word: Economise
Waste D B Accustomed O

Good D D Wicked D

Correct Answer : A

You have to omit a word from the following sentence to make them grammatically correct. Identify that word:
She was an extremely dedicated worker; she took up into all responsibility.

Was D B Into D
Up D D An D

Correct Answer : B

Identify the correctly spelled word.
Indispenssible D B Indisppensible D



C Indispensable

Q-6  Choose the correctly spelled word.

Conscientious

C Consciencious
Q-7 She put her on the table.
Bag

C Baggage

00

O
O

Q-8 Find the common noun in the following sentence.

The girl arrived in the state last week.
Girl
C Week

Q-9 Find out the abstract noun in the following sentence.

The theatre was engulfed in darkness.
Theatre

Darkness

O
O

O
O

O @

Indisppensable

Conscienctious

Conscieentious

Bags
Bagged

State
All of these

Engulfed

None of these

Q-10 Select the most appropriate antonym of the given word: BEFOUL

A Flounder

C Buoyant

O
O

B
D

Cleanse

Fumble

O

Correct Answer : C

O
O

Correct Answer : A

O
O

Correct Answer : A

O
O

Correct Answer : A

O
O

Correct Answer : C

O
O

Correct Answer : B

Q-11 Change the following active voice sentence into passive voice: “The chef will prepare a delicious meal.”

A A delicious meal will be prepared by the
chef.
C A delicious meal is prepared by the chef.

Q-12 Choose appropriate preposition for the given sentence.

My mother will be here a week.
With

For

Q-13 Oxygen can be mixed with

O
O

O
O

B

A delicious meal will have been prepared by D

the chef.

A delicious meal has been prepared by the D

chef.

gasses such as Hydrogen, Nitrogen and Chlorine.

Correct Answer : A

O
O

Correct Answer : C



Q-14

Q-16

Q-17

Q-19

Another like B Another O

O
The other O D Other D

Correct Answer : D

He takes his turn and she takes
Her D Hers D
Herself D D Himself D

Correct Answer : B

One word substitute for the given word is?
One who possesses many talents.

Exception D B Wisdom D
Versatile D D Nubile D
Correct Answer : C

By the time we got to the cinema, the movie .
Has already started D Already starts O
Will have started D D Started D

Correct Answer : A

He in this company for five years before he was promoted.
Works D B Has been working D
Worked O D Was working O

Correct Answer : B

Read the passage given below and answer the question that follow.

In the heart of the sprawling Sahara desert, an extraordinary phenomenon known as “desert roses” occurs. These are
delicate formations of gypsum crystals that resemble flower petals, hence the name. The process of their creation is
intricate and fascinating.

Desert roses are formed when water laden with dissolved gypsum minerals seeps into the ground. As the water
evaporates due to the intense desert heat, the gypsum crystals begin to precipitate out of the solution. These crystals
accumulate around sand grains and other impurities in the soil. Over time, these growing crystals adopt intricate,
flower-like shapes, which is how the name "desert rose" came about.

While desert roses may appear delicate, they are surprisingly strong. The interconnected crystals lend a robust
structure to the formations, allowing them to withstand the harsh desert winds and occasional sandstorms. People in
the region have long considered desert roses as talismans, believing them to bring luck and protect against evil spirits.
Researchers find these formations of great interest, not only for their aesthetic appeal but also for the insights they
offer into the desert’s geological history. By analyzing the layers of gypsum crystals, scientists can gain valuable
information about changes in the region’s climate and hydrology over time.

Apart from their visual appeal, why are researchers interested in desert roses?

They are a potential source of new minerals O B They provide valuable information about D
climate change

They can be used to predict sandstorms D D They are considered a rare geological D
anomaly

Correct Answer : B

Identify the compound sentence.



Q-20

Q-21

Q-22

Q-23

Q-24

Q-25

Q-26

I was late; however, the class had not D B It was late. D

started.

I was late for my class. O D The class has not started. O
Correct Answer : A

Sentence given is in Direct/Indirect Speech along with four options. You are required to read the Direct and Indirect
Speech question carefully and select the option that expresses the same sentence in the reverse speech.
My brother requested him to lend some money.

My brother asked me, “"Do you have money?” D B The brother ordered me, “Hand over the D
money.”
My brother requested, “"Can you please D D My brother said, “I do not have money.” D

lend me some money?”
Correct Answer : C

Fill in the blanks with the correct idiom.
Andy played hooky from work for a week saying he was sick, now his boss said that he is

Palm off D B On thin ice D

Fly by night O D  Gold digger O
Correct Answer : B

Identify the homophone pair from the following.

O
O

Stick, Flick
Hush, bush

Caught, got O
D  Berth, birth ()]
Correct Answer : D

vy}

Find out which part of the sentence has an error. If there is no mistake, the answer is “no error.”
And though one did not

Understand his project O B One saw no harm O

In granting him permission D D No error D
Correct Answer : D

You have to omit a word from the following sentence to make them grammatically correct. Identify that word.
David went ahead into challenging the warrior even when there was hardly anyone with him.

Into D B Went D
When O D  Hardly O

Correct Answer : A

Given below is a statement with blanks. You are required to fill in the blanks with appropriate words given in the option
so that the sentence appears in the correct form of the tense.

She shall your ice-cream parlour soon because she ice-cream.

Be visiting, likes O B Visits, like O

Have been visiting, is liking D D Going, like D
Correct Answer : A

The treasure is buried the old oak tree.

Beneath D B Under D



Q-27

Q-28

Q-29

Q-30

Q-31

Q-32

Q-33

Below D D Above

Identify the simple sentence.

O

Correct Answer : A

She did not take his class because she did not O B She doesn’t study German on Monday. D

study German.

She read Germany and therefore she could D D Though she read German, she was reluctant. D

read the novel.

Fill in the blank with the correct idiom.

Don't . This is no short cut to success.
Cut any corner D B Bolt from the blue
Eye for an eye D D Good catch

Arrange the following sentences in the correct order.

A - She decided it was time to embrace change.

B - With a heart full of anticipation, she boarded the train.

C - The old town had lost its charm over the years.

D - As the train pulled away, she felt a mixture of excitement and nostalgia.

CADB O B ACBD
CABD O D  DABC

Arrange these sentences in the correct sequence.

A. The museum housed an impressive collection of artefacts from ancient civilizations.
B. Visitors could spend hours exploring the various exhibits.

C. An experienced guide led us through the highlights of the museum.

D. The interactive displays added a unique and engaging dimension to the experience.

BACD O B BDCA
CDBA O D  DCBA
The of this book is fascinating.

Read D Reader
Reading O Reads
The of the cake was delicious.

Taste D B Tasted
Tasting D D Tasty

Correct Answer : B

O
O

Correct Answer : A

O
O

Correct Answer : C

O
O

Correct Answer : A

O
O

Correct Answer : B

O
O

Correct Answer : A

Identify the segment in the sentence which contains the grammatical error. If there is no error, select No error.

He married with a rich heiress next year.



Next year B He married D

A O
C Rich heiress O D No error O

Correct Answer : A

Q-34 Identify the segment in the given sentence which contains the grammatical error.
In spite of facing much problems, she did not lose hope.

In spite of O B She did not O

Much problems D D Lose hope D
Correct Answer : C

Q-35 Select the option that is the indirect form of the given sentence:
Nisha said, “I worked in a company for five years.”

A Nisha said that she had worked in a D B Nisha said that she has worked in a company O
company for five years. for five years.

C Nisha said that she worked in a company for ([} D Nisha said that she had been working in a 0O
five years. company for five years

Correct Answer : A

Q-36 Read the passage given below and answer the question that follow.

In the heart of the dense Amazon rainforest, a hidden paradise awaits those who dare to venture deep into its lush
embrace. This paradise is the "Emerald Oasis,” a secluded area known for its breath-taking beauty and rich
biodiversity. Lined with towering trees and vibrant vegetation, the oasis is centred around a tranquil pool of crystal-
clear water that reflects the canopy above.

To reach the Emerald Oasis, one must navigate through winding pathways, thick undergrowth, and occasionally cross
meandering streams. The journey is not for the faint of heart, but those who persevere are rewarded with a sight that
seems straight out of a fantasy novel. The air is filled with the sweet scent of exotic flowers, and the melodious songs
of birds create a symphony that soothes the soul.

The pool at the centre of the oasis is home to a variety of aquatic life, from tiny iridescent fish to gracefully gliding
turtles. The water is so clear that the bottom can be seen even at its deepest points, revealing intricate patterns of
colourful pebbles. Rare orchids and bromeliads adorn the water’s edge, creating a vibrant border between the aquatic
and terrestrial worlds.

Scientists have marvelled at the unique ecosystem within the Emerald Oasis. Its isolated location has allowed for the
evolution of species found nowhere else on Earth. Researchers have identified several new plant and animal species,
each adapted to thrive in this microcosm of nature. Efforts are underway to protect and preserve the oasis, as its
delicate balance is threatened by deforestation and climate change.

What contributes to the sensory experience in the Emerald Oasis?

The scent of food from nearby settlements O B The presence of domesticated animals O
The sweet scent of exotic flowers and D D The sounds of machinery from a nearby D
bird songs construction site

Correct Answer : C

Q-37 Read the passage given below and answer the question that follow.

Global warming, a consequence of human activities such as burning fossil fuels and deforestation, has become a critical
issue that demands urgent attention. The Earth’s average temperature has risen significantly over the past century,
leading to a range of environmental impacts. One of the primary drivers of global warming is the release of greenhouse
gases like carbon dioxide (C0O2) into the atmosphere, which trap heat and contribute to the greenhouse effect.

As temperatures rise, glaciers and ice sheets are melting at an alarming rate, leading to rising sea levels. Coastal
regions are already experiencing the effects, with more frequent and severe flooding events. Rising sea levels also
threaten coastal ecosystems and can displace communities that rely on these areas for their livelihoods.



Q-38

Q-39

Furthermore, changes in temperature patterns can disrupt ecosystems and biodiversity. Some species may struggle to
adapt to the changing climate, potentially leading to shifts in the distribution and behaviour of plants and animals.
Coral reefs, highly sensitive to temperature changes, are suffering from bleaching events that result in their
deterioration.

Extreme weather events, such as hurricanes, droughts, and heat waves, have become more frequent and intense due
to global warming. These events can cause widespread destruction, affect agriculture, and compromise access to clean
water. The increased frequency of forest fires can also lead to habitat loss, worsen air quality, and release even more
carbon dioxide into the atmosphere.

Addressing global warming requires international cooperation and efforts to reduce greenhouse gas emissions.
Transitioning to renewable energy sources, promoting sustainable land use, and implementing policies to curb
emissions are crucial steps. The consequences of inaction are dire, with potential long-term impacts on the planet’s
habitability and future generations

How does global warming affect coral reefs?

It accelerates their growth D B It increases their resistance to bleaching D

It leads to the development of new species O D It causes bleaching events and O
deterioration

Correct Answer : D

Read the passage given below and answer the question that follow.

Global warming, a consequence of human activities such as burning fossil fuels and deforestation, has become a critical
issue that demands urgent attention. The Earth’s average temperature has risen significantly over the past century,
leading to a range of environmental impacts. One of the primary drivers of global warming is the release of greenhouse
gases like carbon dioxide (C0O2) into the atmosphere, which trap heat and contribute to the greenhouse effect.

As temperatures rise, glaciers and ice sheets are melting at an alarming rate, leading to rising sea levels. Coastal
regions are already experiencing the effects, with more frequent and severe flooding events. Rising sea levels also
threaten coastal ecosystems and can displace communities that rely on these areas for their livelihoods.

Furthermore, changes in temperature patterns can disrupt ecosystems and biodiversity. Some species may struggle to
adapt to the changing climate, potentially leading to shifts in the distribution and behaviour of plants and animals.
Coral reefs, highly sensitive to temperature changes, are suffering from bleaching events that result in their
deterioration.

Extreme weather events, such as hurricanes, droughts, and heat waves, have become more frequent and intense due
to global warming. These events can cause widespread destruction, affect agriculture, and compromise access to clean
water. The increased frequency of forest fires can also lead to habitat loss, worsen air quality, and release even more
carbon dioxide into the atmosphere.

Addressing global warming requires international cooperation and efforts to reduce greenhouse gas emissions.
Transitioning to renewable energy sources, promoting sustainable land use, and implementing policies to curb
emissions are crucial steps. The consequences of inaction are dire, with potential long-term impacts on the planet’s
habitability and future generations

How can global warming impact extreme weather events?

It can reduce the frequency of heat waves O B It has no effect on extreme weather events O
It can make hurricanes less intense D D It can lead to more frequent and intense D
events, such as hurricanes and heat
waves

Correct Answer : D

Select the word or phrase that is similar in meaning to the underlined word/phrase.
Funny how you can get a bee in your bonnet about the most unlikely matters.

Go wild D B Obsessed with an idea D

Speak succinctly O D Stay up O
Correct Answer : B




Q-40

Q-41

Q-42

Q-43

Q-44

Q-45

Q-46

In the following question, find out which part of the sentence has an error. If there is no mistake, the answer is “"No

error”:

He was the trusted secretary / of his boss / so he got an increment.

He was the trusted secretary D
So he got an increment O

Of his boss D

No error D

Correct Answer : D

You have to omit a word from the following sentence to make them grammatically correct. Identify that word.
She was an extremely dedicated worker; she took up into all responsibility.

Was O
Up O

Into D
An O

Correct Answer : B

Given below is the sentence with idioms and phrases underlined. You are required to choose the most correct meaning

of the phrase from the given options.

They thought that Ria would simply give up if her complaint had to go to the court. Now, they will realize they have

caught a Tartar.
Dealing with an expert D

Dealing with a troublesome person D

Forced to leave something D

Wasting time O
Correct Answer : C

Sentence given below is in direct/indirect speech along with four options. You are required to read the question
carefully and select the option that expresses the same sentence in the reverse speech:

My uncle asked me to drop Neha at her school.

My uncle said, “You go to school.” D

My uncle yelled at me, “Take Neha to school.” D

Lover of nature is called

Autophile O
O

Dendrophile

The uncle ordered, “Don’t worry and go to D
school.”

My uncle said to me, “"Drop Neha to D
school.”

Correct Answer : D

Green panther D

Petrichor D
Correct Answer : B

Given below are four jumbled sentences. Select the option that gives their correct order.
A- Although I had a fear of water, I thought it was an important skill I should learn.

B- However, what I didn’t realize was that it would also make me a more confident person.
C- I also thought it would be a good exercise that would make me physically stronger.

D -One of the hardest things I have had to do was to learn how to swim.

DCBA 0O
DACB O

ACDB O
BADC O

Correct Answer : C

In the given sentence, identify the segment which contains the grammatical error.
Raja Ravi Verma was one of the first artist who tried to create a style that was both modern and traditional.

To create D

Raja Ravi O



C One of the first artist D D Both modern and traditional D
Correct Answer : C

Q-47 Give the meaning of the idiom below.
A bull in a china shop

A A person who is very ugly but loves the D B A person who takes a sadistic delight in D
beautiful things of life harming innocent people

C A person who becomes too excited where no O D A rough and clumsy person at a place D
excitement is warranted where skill and care are required

Correct Answer : D

Q-48 Select the most appropriate option to fill in the blank.
Colours, they say have the power to calm, pacify and relax; they can energise, activate and

Involve D B Invigorate D

C Enrage D D Interest D
Correct Answer : B

Q-49 pompous he was an entertaining person.
A Though O B Never O
C Despite O D Before O

Correct Answer : A

Q-50 Select the antonym of FIDGETY.
A Composed Restive D

0O B
C Twitchy D D Antsy D

Correct Answer : A

Q-51 Which of the following sentences is correctly punctuated?

A Everyone has special skills; some people D B Everyone has special skills; and some people D
use them very well. use them very well.

C Everyone has special skills some people use D D Everyone has special skills and, some people D
them very well. use them very well.

Correct Answer : A

Q-52 In the following question, choose the closest word in meaning for the given word:

SMUG
Without hesitation D B Feeling pleased in a self-important way D
C Broke into two parts D D Mixture of smoke and fog D

Correct Answer : B

Q-53 In the following question, choose the opposite word of the given word:

PONDER
Thoughtless D B Think carefully D
C Painful D D To go away D

Correct Answer : A



Q-54 In the following question, state the meaning of the idiom:
Upset someone’s applecart.

A Do something that causes a plan to go D B Do something nice D
wrong
C Do something that upsets someone D D Do something unpleasant D

Correct Answer : A

Q-55 Given below is the sentence with Idioms and Phrases underlined. Choose the most correct meaning of the phrase.
The new testing procedure to evaluate employees will separate the wheat from the chaff.

Bond D B Separate valuable from worthless. D
Segregate bad from good D D Separate employees on the basis of their D
salary

Correct Answer : B

Q-56 Sentence given below is in direct/indirect speech along with four options. You are required to read the question
carefully and select the option that expresses the same sentence in the reverse speech:
Rochelle asked her parents, "Can we have an environment-friendly birthday party for me?”

A Rochelle requested for an environmentally D B Rochelle requested that they organise a D
friendly party. birthday party.

C Rochelle asked her parents to have an D D Rochelle informed her parents that she D
environment-friendly birthday party for wanted an environment-friendly birthday
her. party.

Correct Answer : C

Q-57 Fill in the blanks with the correct idiom:
Rohan was asked to be alert and he was suggested to

Eyes open O B Keep his ear to the ground D

C Catch 22 D D Sleep peacefully D
Correct Answer : B

Q-58 Given below is a statement with blanks. Fill in the blanks with appropriate words given in the option so that the
sentence appears in the correct form of the tense.

I give my best the examination tomorrow.
Be visiting, to O B Will, in D
Have been, is liking D D Going to, like D

Correct Answer : B

Q-59 In the sentence, four words/ groups of words which are labelled (a), (b), (c), and (d) have been printed. One of which
may be either inappropriate in the context of the sentence or wrongly spelt. If all the four are appropriate and also
correctly spelt, mark ‘All correct’ as the answer.

The editor blew hot and cold

Over the story for few days B And then finally O

C  Decided to publish it O D Al correct O
Correct Answer : D

Q-60 Choose the meaning of the phrase/idiom underlined.
The policeman apprehended three criminals and saw other one running but didn't chase him, because he knew a bird
in one hand is better than two in the bush.




Q-61

Q-62

Q-63

Q-64

Q-65

Q-66

Q-67

An opportunity in hand, currently, is D
better than a prospect in the future

A golden opportunity O

Identify the homophone pair from the following
Hatch, tender D

Jagger, jabber

Identify the gerund in the sentence.

An opportunity that is too good to let go D

If you have caught three birds than you O

should not run after one more

Flour, fought
Hit, heat

Walking for few miles, the man stopped to notice the beauty of nature.

Walking D

Beauty O

Find out which part of the sentence has an error. If there is no mistake, the answer is “no error.”

In times of emergencies like flood

The local people O
To deals with such situation D

Choose the option which grammatically incorrect.
The sportsperson

Had prepared D
To the greatest challenge D

Identify the gerund in the sentence.

B
D

O

(o8]

Miles

Nature

Come together

No error

Himself

No error

George loves photographing nature and so he is always with a camera.

Loves D
Nature D

Choose the closest word in meaning for the given word:
CLAMOUR

To pull sharply D
A kind of dress O

Choose the closest word in meaning for the given word:
BUNCHED UP

Without permission D
Collected to form a group D

B
D

O W

O @

Photographing

Camera

Din

Farce

Without delay
Nipped

Correct Answer : A

O
O

Correct Answer : D

O
O

Correct Answer : A

O
O

Correct Answer : C

O
O

Correct Answer : C

O
O

Correct Answer : B

O
O

Correct Answer : A

00



Correct Answer : C

Q-68 Choose the opposite word of the given word:

SHEATH
To cover for a knife or other sharp weapons D B Unwrap D
Composing songs 0O D Rang out loudly 0O

Correct Answer : B

Q-69 Choose the appropriate word.

Tom talking to his friend, then decided a little snooze before going on his work.
Had have been, through D B Got, through D
C Got, to have D D Get, had D
Correct Answer : C
Q-70 State the meaning of the idiom:
By the skin of one’s teeth.
To do something by a narrow margin D B Hard labour D
C Useful opportunity O D To do something well ahead of time O
Correct Answer : A
Q-71 He was accused cheating during the exam.
A From O B With O
C For D D Against D
Correct Answer : C
Q-72 The plane flew the clouds.
A Between Above D

00

C Over

Beyond O

Correct Answer : C

Q-73 In the sentence with Idioms and Phrases underlined. You are required to choose the most correct meaning of the
phrase from the given options.
My sister will keep quiet only when pigs fly.

Super B Suddenly O

O
Impossible D D Easy O

Correct Answer : C

Q-74 In the sentence with Idioms and Phrases underlined. You are required to choose the most correct meaning of the
phrase from the given options.
They initiated a plan for the betterment of the village but they were not sure how the people of the village would
support them when the rubber meets the road.

When efforts are put to test D B Available D

C Miss a catch D D Rip off D
Correct Answer : A



Q-75
A

Q-76

Q-77

Q-78

Q-79

Q-80

Identify the simple sentence.

It felt so good to be home after so many D B Being home after a long time, it made me feel O
days. good.

I was feeling good because I was home after D D The sight of home brought me joy as I was D
a long time. coming back after a long time.

Correct Answer : A

Sentence given below is in Direct/Indirect Speech along with four options. You are required to read the Direct and
Indirect Speech question carefully and select the option that expresses the same sentence in the reverse speech.
David asked me, "Have you read the article?"

David shouted at me and told me to read the D B David asked me if I had read the article. D

article.

David asked me if I had written the article. O D David asked me if I had commented on the O
article.

Correct Answer : B

Fill in the blanks with the correct idiom: I have seen people fall prey for his
Sticky tongue D B Sugary tongue D

Oily tongue O D Bad mouth O
Correct Answer : C

What is the word for “the practice of seeking to promote the welfare of others, typically by donating money, goods, or
services"?

Philanthropy O B Altruism O

Benevolence D D Charity D
Correct Answer : A

What is the word for “a person who hates or despises mankind”?

Misogynist O B Misanthrope D
Xenophobe D D Philanthropist D

Correct Answer : B

Read the passage given below and answer the question that follow.

Ancient civilizations have left an indelible mark on the course of human history, shaping cultures, technologies, and
societies that continue to influence us today. From the awe-inspiring pyramids of Egypt to the advanced mathematics
of the Greeks, the achievements of ancient civilizations are a testament to human ingenuity and innovation.

The Egyptians, renowned for their monumental architecture, constructed massive pyramids as tombs for their
pharaohs. These architectural wonders not only served as burial sites but also showcased the engineering prowess of
the ancient Egyptians. The precise alignment of the pyramids with celestial bodies demonstrates their deep connection
to astronomy and religious beliefs.

In ancient Greece, philosophers like Plato and Aristotle laid the foundations of Western thought. Their inquiries into
ethics, politics, and metaphysics have resonated throughout the ages. Additionally, the Greeks made significant
contributions to mathematics and geometry, with Euclid’s "Elements" becoming a cornerstone of mathematical
knowledge for centuries.

The Romans, known for their organizational skills, built an expansive empire that encompassed a diverse range of
cultures. Their advanced engineering allowed for the construction of impressive aqueducts, roads, and buildings. The
Roman legal system, known as "Roman Law," had a profound influence on modern legal systems worldwide.



Q-81

Q-82

In the Indian subcontinent, the Indus Valley Civilization flourished around 2500 BCE. They developed a sophisticated
urban culture with advanced systems of town planning and drainage. The extensive trade networks of the Indus Valley
connected them with other civilizations, allowing the exchange of goods and ideas.

The ancient Maya civilization, nestled in the rainforests of Central America, developed a complex calendar system and
a hieroglyphic writing system. They built monumental structures and observatories to track celestial events. Despite
their achievements, the Maya civilization faced mysterious decline, leaving scholars puzzled over the reasons for their
collapse.

What is the significance of the pyramids in Egypt?

They were used for agricultural purposes D B They demonstrated the Egyptians’ knowledge D
of mathematics

They were astronomical observatories D D They were ceremonial sites for religious D
rituals

Correct Answer : C

Read the passage given below and answer the question that follow.

The modern education system places significant pressure on students, fostering a competitive environment that can
have both positive and negative effects. As students strive for academic excellence, they often face intense
expectations from parents, teachers, and society at large. While some level of challenge can motivate students to
achieve their best, excessive pressure can lead to detrimental consequences for their mental and emotional well-being.

The pressure to perform well academically can lead to stress, anxiety, and burnout. Students may experience sleep
disturbances, physical ailments, and a decline in overall mental health. The constant pursuit of high grades and
standardized test scores can rob students of the joy of learning and curtail their creativity and exploration.

Moreover, the hyper-competitive environment can foster a sense of comparison and self-doubt. Students may
constantly compare themselves to their peers and feel inadequate if they do not measure up. This can lead to feelings
of low self-esteem and an unhealthy obsession with achievements rather than personal growth.

Parents and educators often play a role in perpetuating this pressure by placing unrealistic expectations on students.
The pursuit of a prestigious career or a high-paying job can overshadow the importance of holistic development.
Students may feel trapped in a cycle of meeting others’ expectations rather than exploring their true passions and
interests.

However, a balanced approach to education is possible. Encouraging a growth mind set, where effort and learning are
valued over mere grades, can help alleviate the pressure on students. Fostering a supportive environment that
recognizes each student’s unique strengths and challenges can contribute to their overall well-being. It is crucial to
prioritize mental health, teach stress-management techniques, and promote a healthy work-life balance to ensure that
students thrive both academically and emotionally.

What can excessive pressure in the education system lead to?

Increased creativity and exploration D B Improved overall mental health D

Physical ailments and burnout D D A decline in academic performance O
Correct Answer : C

Read the passage given below and answer the question that follow.

The modern education system places significant pressure on students, fostering a competitive environment that can
have both positive and negative effects. As students strive for academic excellence, they often face intense
expectations from parents, teachers, and society at large. While some level of challenge can motivate students to
achieve their best, excessive pressure can lead to detrimental consequences for their mental and emotional well-being.

The pressure to perform well academically can lead to stress, anxiety, and burnout. Students may experience sleep
disturbances, physical ailments, and a decline in overall mental health. The constant pursuit of high grades and
standardized test scores can rob students of the joy of learning and curtail their creativity and exploration.

Moreover, the hyper-competitive environment can foster a sense of comparison and self-doubt. Students may
constantly compare themselves to their peers and feel inadequate if they do not measure up. This can lead to feelings
of low self-esteem and an unhealthy obsession with achievements rather than personal growth.



Q-83

Q-84

Q-85

Q-86

Q-87

Q-88

Parents and educators often play a role in perpetuating this pressure by placing unrealistic expectations on students.
The pursuit of a prestigious career or a high-paying job can overshadow the importance of holistic development.
Students may feel trapped in a cycle of meeting others’ expectations rather than exploring their true passions and
interests.

However, a balanced approach to education is possible. Encouraging a growth mind set, where effort and learning are
valued over mere grades, can help alleviate the pressure on students. Fostering a supportive environment that
recognizes each student’s unique strengths and challenges can contribute to their overall well-being. It is crucial to
prioritize mental health, teach stress-management techniques, and promote a healthy work-life balance to ensure that
students thrive both academically and emotionally.

Why is it important to teach stress-management techniques to students?

To increase competition among students O B To discourage personal growth O

To ensure a high GPA D D To promote their overall well-being and D
mental health

Correct Answer : D

What is the word for “a long journey, especially one undertaken on foot”?
Excursion D B Expedition D

Odyssey O D Trek D

Correct Answer : D

What is the word for “a person who is excessively fond of eating and drinking”?
Gourmet D B Glutton D
Epicure D D Connoisseur D

Correct Answer : B

What is the word for “a person who believes in or tries to bring about a state of lawlessness or chaos”?
Anarchist D B Rebel D
Revolutionary O D Dissenter O

Correct Answer : A

Give one word for “the practice of giving a false appearance; pretending to be what one is not.”
Deception D B Dissimulation D
Simulation D D Pretense D

Correct Answer : B

Choose the most appropriate word for “a person who is skilled in foreign languages.”
Linguist D B Polyglot D
Bilingual O D Interpreter O

Correct Answer : A

What is the word for “a person who is devoted to sensual pleasure, particularly in food and drink”?
Hedonist D B Ascetic D

Aesthetic D D Stoic D

Correct Answer : A



Q-89 Choose the correct active voice form of the sentence: “The story had been told by my grandmother.”
A My grandmother was telling the story. O B My grandmother told the story. D

C My grandmother has told the story. D D My grandmother was being told the story. D
Correct Answer : B

Q-90 Choose the correctly spelled word.
Apology D

Apologee O
Correct Answer : B

A Appology

00

C Appologee

Q-91 Choose the correctly spelled word.
Embelesh O

D Embellesh D
Correct Answer : A

A Embellish

0o

C Embelish

Q-92 Identify the correctly spelled word.
A Acheive Achieve D

O B
C Acheeve O D Achiive O

Correct Answer : B

Q-93 Choose the option that corrects the sentence: “The weather was too hot that we decided to stay indoors.”

A The weather was very hot that we decided to O B The weather was so hot that we decided D
stay indoors. to stay indoors.

C The weather was so hot so we decided to stay D D The weather was too hot so we decided to D
indoors. stay indoors.

Correct Answer : B

Q-94 Choose the option that corrects the sentence: “She sings more beautifully than any other singer in the choir.”

A She sings most beautifully than any O B She sings beautifully than any other O
other singer in the choir. singer in the choir.

C She sings beautifully than any other D D She sings more beautiful than any other D
singer of the choir. singer in the choir.

Correct Answer : DROPPED

Q-95 Choose the option that corrects the sentence: “The cake was baked by Mary and myself.”
A The cake was baked by Mary and I. O B The cake was baked by Mary and me. D

C The cake was baked by Mary and myself. D D The cake was baked by Mary and mineself. D
Correct Answer : B

Q-96 Identify the option that improves the sentence: “He was tired and therefore he couldn’t concentrate.”

A He was tired and so he couldn’t D B He was tired and however he couldn’t D
concentrate. concentrate.
C He was tired, because he couldn’t O D He was tired and then he couldn’t O

concentrate. concentrate.



Correct Answer : A

Q-97 Put the following sentences in the right order.
A. The technology conference attracted innovators from around the world.
B. Speakers shared their insights into the latest advancements.
C. Attendees eagerly discussed and debated the future of tech.
D. Networking sessions provided opportunities to make valuable connections.

ABCD O B ABDC O

C  DBCA O D  CABD O
Correct Answer : B

Q-98 Arrange these sentences in the correct sequence.
A. The artist's masterpiece was unveiled at the gallery's opening night.
B. Guests were in awe of the stunning colours and meticulous details.
C. The artwork conveyed a deep sense of emotion and beauty.
D. Critics praised the artist's unique style and creative vision.

ADCB O B ABCD O
CABD O D  CADB O

Correct Answer : B

Q-99 What does the term “acumen” refer to?

A Confusion in making important decisions D B Curiosity D
C Skill in making quick and accurate D D Nervousness D
judgments

Correct Answer : C

Q-100 What is the synonym for the word “voracious”?

A Extremely dangerous O B Hungry or eager to consume large D
amounts
C Not attentive while doing a work D D Vicious D

Correct Answer : B

Q-101 ﬁgwﬁw@fﬁ@rﬂ?@gwywﬁ|
Ol ;- PII SISHIRIRS @ ?
Select the related word from the given alternatives.
Oxygen : Burn : : Carbon dioxide : ?

A S HRA O B ™MW O
Isolate Foam

C ggdmEg O D fawple O
Extinguishes Explode

Correct Answer : C

Q-102 T T fopedl # ¥ Fefd vt &1 797
ZX i AC:: VT :?
Select the related letter from the given alternatives.
ZX :AC:: VT :?

A EG O B DF O

EG DF



AB
AB

D

AE
AE

O

Correct Answer : A

Q-103 U FIfET WIS #, CHHAPAK 1 DIKEUGR & U H $IfSd bl STl 81 MALANGA &1 38 HIWT # 54 BIfSd fbar Srem?
In a certain language, CHHAPAK is coded as DJKEUGR. How will MALANGA be coded in that language?

A

C

NCEOSMC
NCEOSMC

NCOEMH
NCOEMH

O
O

B

NCOCSMC
NCOCSMC

NCOCMSC
NCOCMSC

Q-104 FERIET & A HH A1 ey -1 T TC 2eal & e orgepH ® a=ifan 82

A

C

1) 9gd 2) I 3) HUN 4) TG 5) HUYST 6) diel
Which of the following options represents a meaningful sequence of the words given below?
1) Yarn 2) Growing 3) Cotton 4) Manure 5) Fabric 6) Seeds

4’ 2[ 6’ 3’

4,2,6,3
4,1,6, 3
4,1,6, 3

I

I I I

(O IO 2 I

I I

O
O

B

D

0
EN

Ill
lll

4

N
N

4 I

14 4

gﬁm NN
NN
)

~

r 3y
3

4

O
O

Correct Answer : C

O
O

Correct Answer : D

Q-105 TRT @ afaror faxn # 81 H &g g1 § R 20 Hiex e g1 fihR 3¢ g3aT1 ¢ 3R 10 Hiex Ferel 81 fihr a1 g8aT 8 81k 10 #Hiex =
81 foh aT¢ gadr 8 8k 20 Hex gad g1 H R ¥ a1 gea1 § iR 60 Hicx gadr §1 & urfYe fog @ forg fezn & g2

My face is in South Direction. I turn Right and walks 20 m. Then turns Right and walks 10 m. Then turns left and walks
10 m. Then turns right and walk 20 m. I again turn right and walks 60 m. In which direction I am from (starting) Initial

point?

3R

North
IR-TlEH
North-West

Q-106 ad M W _fgg _eg_eeff _ef _gg

A

Q-107 &dl Gt B3 1024,

A

Fill the blanks: _ fgg _ eg_ eeff _ ef _ gg

eefge
eefge

efege
efege

Complete the series: 1024,

1350
1350

1125
1125

O
O

OO0

, 1600, 2000, 2500, 3125
, 1600, 2000, 2500, 3125

O
O

B

D

SW-gd

North-East

o

East

fegef
fegef

fgege
fgege

1440
1440

1280
1280

O
O

Correct Answer : B

O
O

Correct Answer : B

O
O

Correct Answer : D



Q108 St T AT BT

Find the missing number:

58 O B 60 O

58 60
62 O D 64 O
62 64

Correct Answer : C

Q-109 TE "s" @7 31ef "qun” g, "v" &1 3 "Herr B, "M" BT 31 "SST W 7 SR "L BT 3 "W g, 343L7S6V 94 M1l =
?

If "S" denotes "multiplied by", "V" denotes "subtracted from", "M" denotes "added to" and "L" denotes "divided by",
then343L7S6V94 M1l ="

189 O B 200 O
189 200
211 O D 305 O
211 305

Correct Answer : C

Q-110 $© FHIBRUN &I T R YUITell & SMUR W & BT S &1 3 YR W SFYTe FHIBRU BT Hgl IR @ol |

4x5=42,5x6=56,6x7=72,7x8="7?

Some equations are solved on the basis of a certain system. Find the correct answer for the unsolved equation on that
basis.

4x5=42,5x6=56,6x7=72,7x8="7

84 O B 90 O

84 90
92 O D 102 O
92 102

Correct Answer : B

Q-111 B8 ol TR, Helly, o1, He, Td= 3R R Rig 0 g & qwge & vfckrdl F 9 §1 Gefi b2t off ofd & it e &1 #e o

R I & TRt 3R A GART 81 g & VM FAW & Fove § 3R Ted & el R 31 10w o1 R 98= & Pvean s & B
T TFHRI & YR W FaNd fF I0 & Audia & a7 g

Six friends Narendra, Santosh, Rajesh, Madan, Satyendra and Shiv Singh are sitting in two rows facing each other.
Santosh is not at the end of any line. The position of Madan is second to the left of Satyendra. Narendra's position is
adjacent to Santosh and diagonal to Madan. Rajesh's position is in the immediate neighbourhood of Satyendra. On the
basis of this information, tell who is sitting opposite to Rajesh.

e O B wdW O
Madan Santosh
RERY 0O D  Edx O
Rajesh Satendra

Correct Answer : B

Q-112 MBI UM N BI gg 81 P, O BI UM g, Sl M BT T81 51 P, N 3 b UbR et 82

A

M's wife is N's daughter-in-law. P is the husband of O, who is the sister of M. How is P related to N?

urg O &8 TxuE O



Brother Cousin

c  wdlon O »o zame O

Nephew Son in law
Correct Answer : D

Q3 g rpfa x @ ugt adur sfa 7=

Choose the correct mirror image of the given figure X:

LSS

A1 O B 2 O
1 2

c 3 O D 4 O
3 4

Correct Answer : D

Q-114 3 3P BT UgdH ol Yo &I T HT 8|
Identify the figure that completes the patter "7 (Ctrl) ~

@hﬁh?

(2) (3) (4)
O B

O D

O
O

Correct Answer : D

(@]
wWww ==
BB NN

Q-115 U O I8 T Bl 2 JH Yl a1t BIe 125 T1 # AHITeIa fobam Sirert €, A 99 31 U 1 Yol &1 <ars o1 grir?
A solid large cube is divided into smaller 125 cubes with a side of 2 cm, then what will be the length of the side of the
larger solid cube?

A 10%H O B 153l O
10 cm 15cm

c e O D 8dH O
6 cm 8 cm

Correct Answer : A

Q-116 3T ¢ fwedt & & wefid ez &1 997 B
SMTGH! @ Sfta : qg . ?
Select the related word from the given alternatives.
MAN : BIOGRAPHY : : NATION : ?



A anT
PEOPLE

C U
GEOGRAPHY

Q-117 ’j@?ﬂ@ﬁ :ac _ cab _ baca _ aba _ acac

OO0

Complete the series: ac _ cab _ baca _ aba _ acac

A bbbc
bbbc
C bbcc
bbcc

O
O

ST
POPULATION

gfder

HISTORY

cabb
cabb

aacb
aacb

O
O

Correct Answer : D

O
O

Correct Answer : D

Q-118 TE '+ &1 3 U B, 'x* 1 31ef TN 1§, - 1 31 Sl ofR '+ b1 3ef wer &, o Frafafad geiewor & o IR sy

20-8x4+3+2=7

If '+' means multiplication, 'x' means to divide by, '-' means to add and ' +' means to reduce, then what answer will

come from the equation
20-8x4+34+2=7

A 16
16
C 19
19

O
O

18
18

41
41

O
O

Correct Answer : A

Q-119 TG 7 U TSt A R 39 UPR IWI b 6 &1 e Bl G SR BI 3R 3M1d BRI 09:15 a1 g foby fezm # gHir?

Rahul placed his watch on the table in such a way that at 6 o'clock, the hour hand points towards north. Which

direction will the needle point at 09:15?

A af&mon
South

C uf¥w
West

Q-120 T T et & § wefa sier/wem o1 97 F
R : 10 : :Eﬁ?ﬁ 1 ?

Select the related letter/number from the given alternatives.

BORE : 10 : : HOTEL : ?

A 12
12
C 18
18

Q-121 U FIfEd % HIN H, 'INERTIA' &1 'RGVKGBZ' el SIIell &1 39 HI%T # 'FLOWER' &9 ferar siga?

O
O

O
O

North

o

East

15
15

30
30

O
O

Correct Answer : C

O
O

Correct Answer : A

In a certain code language, 'INERTIA' is written as 'RGVKGBZ'. How will 'FLOWER' be written in that language?

A UELPVK
UELPVK

C ULEVPK
ULEVPK

O
O

B

EVPMUL
EVPMUL

VEMPUL
VEMPUL

O
O



Correct Answer : A

Q-122 & WM U@ &1 8918 o1 A L= 1d &1 A 50 el gd &1 3R Il 1 B 15 fbHfl IR BT 3R I3l 8, R gd 1 3R HSel & MR 20
foret Igar 8, AR 30t o1 8ik Yo B 8IR 15 5l Isar 81 3@ A & T & B 3l 32
Two Planes start from the same airport. A flies 50 km East. B flies 15 km North then turns East and flies 20 km, then
turns to its right and flies 15 km. Where is B with respect to A now?

A 30 fediod O B 70 fPHiqd O
30 km East 70 km East

c 3o & ufim O D 70 fo+ ufgm ()]
30 km West 70 km West

Correct Answer : C

Q123 fygfaRad uy # fou U fadedl & ¥ 98 Te 9T o uy a8 (0) & RIF R @1 ST
gl
In the following question, select the number which can be place at the sign of question mark
(?) from the given alternatives.

1 7 6 56
1 4 8 45
2 3 6 ?
A 32 O B 35 O
32 35
c 46 O »o 4 O
46 47

Correct Answer : B

Q-124 3T ¢ wfieRur & fve 89 a1a1 weliel & OE) TE BT 9 B2
5_3_8_4_2=21
Select the correct group of symbols that fit the given equation.
5_3_8_4_2=21

A *I+I_I+ D B -’*'+’+ O

*I+I_I+ -I*I+I+
C +’*,+,+ D D +I*I_l+ D
+,05 4+ +, %, -, =

Correct Answer : A

Q-125 TP Hafl H Ielld B b SW I 1241 8, WM &1 ¥ A2 ¥ 2691 &, fd I7 o9 5 BH &, @ Fal # A I HH fba- ©F &2
In a class, Rajiv's rank is 12th from the top, Krishna's rank is 26th from the bottom, if there are 5 students between
them, then at least how many students are there in the class?

A 42 O B 31 0O
42 31

c 53 O D 46 O
53 46

Correct Answer : B

Q-126 < AT&T 3R & TR "Se"; T BT VG T, § T T 7 F IR 3R IR, <eror, gd iR ufdm 1 iR 7w v 93 71 foredt oft
Afgar &1 @ g BI 3R T 31 S A TP g & Audd 38 § 3 T 6 & 6 €1 U o o7 g <faur i oiR 7. Farai
Higenai o1 g@ by foxn & 82



Two female and two male "Breeze"; playing a card game. All of them are sitting around a table facing north, south,
east and west. No woman is facing 'East'. The persons who are sitting opposite to each other are not of same gender. A
man is facing south. Tell which direction the women are facing?

A TR R R ) & @eRuhm O
North and West East and West

c  uEw IR O D SR O
West and South North and East

Correct Answer : A

Q-127 Statements:
All clerks are superintendents.
All superintendents are managers.
All managers are supervisors.
Conclusions:
I. All supervisors are clerks.
II. Some clerks are supervisors.
III. Some managers are clerks
IV. All superintendents are clerks.
Statements:
All clerks are superintendents.
All superintendents are managers.
All managers are supervisors.
Conclusions:
I. All supervisors are clerks.
II. Some clerks are supervisors.
ITII. Some managers are clerks
IV. All superintendents are clerks.

A Only (I) follows O B Only (II) follows O
Only (I) follows Only (II) follows

C Only (I1), and (III) follow D D Only (IIT) and (1IV) follow D
Only (II), and (III) follow Only (III) and (IV) follow

Correct Answer : C

U128 et ot T i —

Count the number of rectangles —

AN
N

A 9 O B 11 O

9 11
c 13 O D 14 O
13 14

Correct Answer : A



Q-129

&1 a1 wel aiur 83 T

Choose the correct mirror image of the given figure.

Question Figure :
M

N7
|
N
Answer Figures :

B || ]| || X

(1) (2) (3) (4)

A1 O B 2 O
1 2

c 3 O D 4 O
3 4

Correct Answer : D

Q-130 TP TY (9 ¥7ft x 15 Jft x 18 Y7ft) FY 3 It & BIC o9 H FTeT 9T B, A VI T Pt FoI YA I FHC?

A cuboid (9 cm x 15 cm x 18 cm) is cut into small cube of 3 cm, then find the total number of small cubes.

A 90 O B 180 0O
90 180

c 320 O D 360 O
320 360

Correct Answer : A

Q-131 9 30 A 8% 30 e H ™R3 & AU 99 Mebad 1 Yo Feidb 3 A &1 &l fb A3 & e s 10 e ugd S gobt & SR el
T Y98 10:30 Fof Hhalll. YBAIS ae - Hgl, 98 THg o1 UT?
Bus to Meerut leaves every 30 minutes from the bus depot. The inquiry clerk told the passenger that the bus for
Meerut had left 10 minutes before and the next bus would leave at 10:30 in the morning. What was the time when the
inquiry clerk said?

A 10:10 O B 10:20 O
10:10 10:20

C  10:00 O D  09:50 O
10:00 09:50

Correct Answer : A

Q-132 T 6 # 8 =28 3R 5 # 12 = 13, W9 # 40 =?
If6 #8=28and 5 # 12 = 13, than 9 # 40 = ?

A 47 O B 63 O
47 63

c 4 O D 53 O
41 53

Correct Answer : C

Q-133 W@ﬁ 113, 14, 18, 27, ?, 68, 104,
Complete the series: 13, 14, 18, 27, ?, 68, 104,



A 36 O B 41 O

36 41
c 43 O D 54 O
43 54

Correct Answer : C

Q-134 TG %@" o7 3 et T, @1 3 o, @ @1 31 AU 3R "% @1 o muerr ®, @ Fufafed ¥ ¥ o1 a1 gefteR
I 82

If *@"” denotes “added to”, “#" denotes “multiplied by”, "®"” denotes “divided by” and “%" denotes “subtracted from”,
then which of the following equation is true?

A B8Q@8®8#8%8=9 O B 42%26® 13 #2@ 8 = 46 O
8@8®8#8%8=09 42% 26 ® 13 #2@ 8 = 46

C 19%84®4@3#4=12 O D 31%4®2#19@3=4 O
19%84®@4@3#4=12 31%4®2#19@3 =4

Correct Answer : B

Q-135 foee] 1 iR # I F 31 e fiyed, QfebT HAT J BHH| IHY DI &I F DA Al IO F 3Afeyeb 3fep et | FAIW DI oW A HH
3iep i, o 3 ¥ Fe oifdep sis it
Billu got more marks in history than Suresh, but less than Santosh. Ramesh got less than Harish but more than
Rajesh. Santosh got less marks than Rajesh, who got the highest marks among them?

A faeg 0O & =& O
Billu Harish

c W O D T O
Ramesh Suresh

Correct Answer : B

Q-136 719 & T8 THSRI U¢ IR Fufafed uy F Iw d
Fd 10 AN, 5 GBY 3R 5 Higamd, & YHMIGR Ufdaal & Th-guR & I 96 €1 Ui g3y, 31yl sefid, wRd, R, Ry 3R 3o
SR0T B 3R TG B 88 § 3R ufe wiRay, dia, Hiq, sifefam, ha 3R iftfar IR @1 3R 7@ P 90 B
WA, Sl 4RH F 3P S8 3R g, Sl & faudd gl
foRTT 3R i T W & fyspufa: faudia &1
T Sifeefdar & fawid @ St Hivd & die ava d B
Wi, S siftien & i a1 iR B, oR¥ & faudid &1
o Ui & T SRR &
Ufed & a1 Sifdd B8R R 319 ¥ & Afad 98 82
Read the information given below and answer the following question:
A total of 10 people, 5 men and 5 women are sitting in two parallel lines, facing each other. Five men, namely, Ajit,
Bharat, Chirag, Dharam and Ejaz are facing to the south and the five women, Meenal, Neelu, Octavia, Preeti and Arpita
are facing towards the north.
Bharat, who is just next to the left of Dharam, is opposite to Arpita.
Chirag and Neelu are diagonally opposite to each other.
Ejaz is opposite Octavia who is just next to Meenal.
Preeti, who is just to the left of Arpita, is opposite to Dharam.
Meenal is at one end of the line
Which two people are sitting at the two extreme ends of the line?

A 3O, WA O B 3ia, R O
Ejaz, Bharat Ajit, Chirag

c  frRm, e O D SWe# IR T O
Chirag, Dharam None of the above

Correct Answer : B

Q-137 MaffEd siies! &1 eryded siere B 3R IS AR AT ¢ U3 b IR <
s,vatunfigI P, SR THTfUar g, st M &1 U 81 vV, R &t Tae 31
R, T I fod UeR Faferd g2



Study the following data carefully and answer the question that follow.
S is the sister-in-law of V. P is the father of S and T, who is the father of M. V is the daughter-in-law of R.

How R is related to T?

A T 0O & = 0O
Grandmother Mother

c S O D = O
Sister Aunt

Correct Answer : B

Q-138 71d & T8 TSR U¢ IR Fafifed uy & Iw <
TP YR # fafid Hufal - Ffeds, s, fhue, afa, AR, Sswis 3R Wi & urd &R FAgfaRad w0 & gd @t 3R g9
1. $fEdAd BHT & ¢ &77a & g
2. B fiue & 3 § 9 R R g
3. ARfd R TSR 3R SIS & o gl
4. fopue S TER & IR SR R WM W 8, T&h B8R W g
fofafea & @ oF @t 9k o 98t fRufa 82
Read the information given below and answer the following question:
In an Exhibition seven cars of different companies - Cadillac, Ambassador, Fiat, Maruti, Mercedes, Bedford and Fargo
are standing facing to east in the following order:
1. Cadillac is next to right of Fargo.
2. Fargo is fourth to the right of Fiat.
3. Maruti car is between Ambassador and Bedford.
4. Fiat which is third to the left of Ambassador, is at one end.
Which one of the following is the correct position of Mercedes?

A FfEAD b a1 3R | 0O B JSHIS & T 3R | O
Next to the left of Cadillac. Next to the left of Bedford.

C  ISBIS 3R BE & o | O D  Hofd & T & =T | O
Between Bedford and Fargo. Fourth to the right of Maruti.

Correct Answer : D

Q-139 UE BIS AN HIAR 5 SHat 2021 B U fawrd e AT &, @ 9 I e oo fawr gy e wmeit?

If a country celebrates its Victory Day on Tuesday 5th January 2021, when will they celebrate their Victory Day on the

same day?

A 5SFdRI 2026 O B 59adl 2027 O
5 January 2026 5 January 2027

C  5WFa12028 O D 5 SHadt 2029 @
5 January 2028 5 January 2029

Correct Answer : B

Q-140 A 3! IS H gpM # 31 GfSal TRea & g ardt o off| T uSt H PR & Aiae e  Fead 8, @ gEd # S & 30N
e & FAgadt g1 TR 12 §9 §F SH1ad T 91y et | 3 ST R &d Ty 3T Qe
In Ravi's watch shop, two watches were brought in for repairs. In one clock the cuckoo comes out every sixteen
minutes, while in the other the cuckoo comes out every eighteen minutes. Both the cuckoos came out together at
12.00 noon. When will they both come out together again?

A 02:00 WG O B 02:08 3R O
02:00 PM 02:08 PM

C 02:20 3WRTE O D  02:24 3WRIE 0O
02:20 PM 02:24 PM

Correct Answer : D

Q-141 3MTelid, T¥U A 300 fa7 o181 & 3R Iy, 3felles A 50 HTE &1 1 Ul HY BT ST HIGAR BT 3N oI, AN G0 BT O by fa
EEURIE
Alok is 300 days older than Varun and Sandeep is 50 weeks older than Alok. If Sandeep was born on Tuesday, then on



which day was Varun born?

A fEER O B
Sunday

cC WEaR O D
Tuesday

IR
Monday

ECCIN

Wednesday

O
O

Correct Answer : C

Q-142 U fbdl e WIS § ORGAN &I 17141518 3R FINGER ®1 56791418 %eg (51 7T &, @ 3T NECK Bl $ Fedg HI?
If in a code language, ORGAN is coded as 17141518 and FINGER is coded as 56791418, then how will you code NECK?

A 113497 O B
113497

C 351114 ()] D
351114

248741
248741

532761
532761

O
O

Correct Answer : C

Q-143 WRI fig T 4 = &cll 8, WY g U 0 =ercll & Sl 4 Wie &R &1 98 90 &l W a1¢ gt © 31k 4 Wie ¥ W &1 3R =awdh ¢, 90 33
T gl § 3R 3 WiT Iad P i 3R St 8, 90 feuht e gach 8 3R 1 Wi gaar Q &t 8RR St 8, 90 fetht R At gedt 8 siR v
DI SR S g1 S 1 e R e 3R Th IR R 90 fSM e gedr g iR 3 Bie RO W Wl 81 T 3R O & &t BT g3 &7 §?
Mira starts at point T, walks straight to point U which is 4 ft. away. She turns left, at 90 degree and walks to W which is
4 ft away turns 90 degree right and goes 3 ft. to P, turns 90 degree right and walks 1 ft. to Q, turns left at 90 degree
and goes to V, which is 1 ft. away and once again turns 90 degree right and goes to O, 3 ft. away. What is the distance

between T and O?

A 40 O B
4 ft.

cC 70k O o»o
7 ft.

Q-144 @ g8 &3

Z1A, X2D, V6G, T21], R88M, P445P, ?
Complete the series
Z1A, X2D, V6G, T21], R88M, P445P, ?

A N2676T O B
N2676T

C  N2676S O D
N2676S

Q-1453@ 0, 1,2, 3, ..., 9@l a, b, ¢, d......, j, I ¥4 H ferar &Il &1
R dc x f - (bf - d) x d I BT

If0,1, 2,3, ..... , 9is writtenas a, b, c, d....., j,
Than find dc x f - (bf - d) xd

A bcf O B
bcf

C  abb O D
abb

5 Bie
5 ft.

8 Wic
8 ft.

T2670N
T2670N

T2677N
T2677N

abe
abe

bce
bce

Q-146 el & T SHSR 1 G i B AR Y Frfifed vy & oW <
TS G, Ufq SR, ST, Srgar, snasiam, fer, gfaewt, dflieT iR = T MeaTeR A9 & IRY iR 93 § 3R 374 ¥ UAF H

TG $g B AR B

O
O

Correct Answer : D

O
O

Correct Answer : C

O
O

Correct Answer : D



BRI T & G Y G RIM WR § Sl 3T 3R dfAPBT Bl TSR Bl

TR HIAY BT TSI 8T B

dfRreT, gfaewT &t TSRl Bl

SMIRYRT ST 3R famm & ofe & = 2|

fe=m, gfaewr iR stz & o & T8 31

feram @R & Frar # 7 331 B

ST & dieh fauda B 937 82

Study the information given below carefully and then answer the following question:
Eight friends, namely, Kashish, Anamika, Amrita, Akansha, Trina, Yuvika, Vanshika and Disha are sitting around a
circular table and each of them is facing the centre.

Kashish is second to the right of Trina who is the neighbour of Amrita and Vanshika.
Akansha is not the neighbour of Kashish.

Vanshika is the neighbour of Yuvika.

Anamika is not between Akansha and Disha.

Disha is not between Yuvika and Akansha.

Disha does not sit next to Kashish.

Who is sitting exactly opposite to Anamika?

A BRE O B 3N O
Kashish Akansha

c Rk ()] D fa=m O
Vanshika Disha

Correct Answer : C

Q-147 19 & TS THSR! HT AHYHS AT B AR T Fafed gy & Iw &
TS T, 31T BRI, SATHDT, T, ebien, fo, gfaw, dfiwT SR G te MAsR A9 & IRY 3R 93 § 3R I8 J TS &
TG $% 3T 3R B
FHR 1 & a7 I g ™M W g S 3T 3R dfRresT &t ugiit g1
MBI BRI BT TSR T 21
dfRrepT, gfawT &t TSRt Bl
SFAIAGT SMHTRT SR faxn & e & =& &
faam, gfder &k aneian & o & T 21
fo=n SR & e § 76 93 7
a1 & BN 3 W VM R I 937 82
Study the information given below carefully and then answer the following question:
Eight friends, namely, Kashish, Anamika, Amrita, Akansha, Trina, Yuvika, Vanshika and Disha are sitting around a
circular table and each of them is facing the centre.
Kashish is second to the right of Trina who is the neighbour of Amrita and Vanshika.
Akansha is not the neighbour of Kashish.
Vanshika is the neighbour of Yuvika.
Anamika is not between Akansha and Disha.
Disha is not between Yuvika and Akansha.
Disha does not sit next to Kashish.
Who sits third to the immediate right of Yuvika?

A fem O B &N O
Trina Akansha

c oM O D  dfRrr O
Amrita Vanshika

Correct Answer : D

Q-148 URA+BHIIBA BHH G A-BIAIITA BB UES; A%BHI IS A BHIUMEMRAxBHF BB A, B
B ve 8, Faffa A s wexfa? 5 p, Q #TamI R?
If A + B means A is the mother of B; A - B means A is the brother B; A % B means A is the father of B and A x B
means A is the sister of B, which of the following shows that P is the maternal uncle of Q?

A Q-N+MxP O B  P+SxN-Q 0O
Q-N+MxP P+SxN-Q
C P-M+NxQ O D Q-S%P O

P-M+NxQ Q-S%P



Correct Answer : C

Q-149 TP TS UG 9¢ F GRM T e, g 9 & ofd # & fiFe, R o2 & ofd 4 firfe, 91 9 & ofd 7 og e ok 3t R agalt
Igdt 81 fhg 1 & oid o ug U<l u18 fide ¥ 3ifde o gift?
A clock accelerates by one minute during the first hour, two minutes at the end of the second hour, 4 minutes at the
end of the third hour, eight minutes at the end of the fourth hour, and so on. At the end of which hour, will this clock be

faster than sixty minutes?

A fEEl O B ®0l O

fifth sixth
c  ¥mwai O D 3 O
seventh eighth

Correct Answer : C

Q-150 MafefEd s FafefEd SeRt iR onumid &:
1. 8-US — 3T, 3G, UUHdI, 3FR, g, Fal, ITUL 3R I9 &1 et & 4 §, AP IR 3R afar ot ik 399 7l
2. g o 3R 9 & o9 # § Afb 9ee & 31 [Awd g
3. AT TP U & T BR R 8 3R 3HFE & 31P T8 3R € T HA P US 3" P Us & 3P a1¢ ¢
4. IS BT US o T Ufad & U BR W, 3TH & US & 31 Al fTusia g1
D A1 TS Fd & U & 31 [Judid g2
The following question is based on the following information:
1. 8-trees — mango, guava, papaya, pomegranate, lemon, banana, raspberry and apple are in two rows 4 in each
facing North and South.

2. Lemon is between mango and apple but just opposite to guava.
3. Banana is at one end of a line and is just next in the right of guava or either banana tree is just after guava tree.

4. Raspberry tree which at one end of a line, is just diagonally opposite to mango tree.
Which tree is just opposite to banana tree?

A 3 O B 3R O

Mango Pomegranate
c ol O D  Sa3waiEd O
Papaya Data is inadequate

Correct Answer : A

Q-151 TP BR 9 § H 540 e 3t gt 7@ et 71 e SR TAE g 20 foeflyder dieft fa & 7@ Fait B, @ v v w@vm?

A car travels a distance of 540 km in 9 hours. If the car travels the same distance at a speed that is 20 km/h slower,
how much longer will it take?

A 25 O B 3 O
2.5 hours 3 hours

C 45%W O D 5% 0O
4.5 hours 5 hours

Correct Answer : C

Q-152 X U &1 B 25 ol # Q1 &R Fhell & 3R Y I B B1 20 faAi 7 G R Il 81 Ffe 3 5 a1 9 Tob 1 1 &l § SR R
X BS AR, AY B P R A § fbam foT e
X can complete a task in 25 days and Y can complete the same task in 20 days. If they work together for 5 days and
then X leaves, how many more days will it take for Y to complete the task?

A 8fd O B 10fm O
8 days 10 days

c 1ufa (J b 1sfd O
11 days 15 days

Correct Answer : C



Q-153 T Ufed &1 g 98 JHt §1 T9a<l &t Ge o 59 1540 Wer &t gl 77 eht gt

The diameter of a wheel is 98 cm. The number of revolutions in which it will have to cover a distance of 1540 m is

A

500
500

700
700

O
O

B

250 O
250

1000 0O
1000

Correct Answer : A

Q-154 Y1 I TP SAAPR e 40 JH x 15 I §1 4 Y YOI AT FHM G I PII W PIe &1 S § 3R AV B TP Gal 3MAABR

ST g9 & fore A e orar ®1 S7ag &1 emud

A rectangular sheet of metal is 40 cm by 15 cm. Equal squares of side 4 cm are cut off at the corners and the
remainder is folded up to form an open rectangular box. The volume of the box is

896 cm:3
896 cm3

600 cm3
600 cm3

Q-1553UCA:B=7:93RB:C=15:7,dAA:C=
IfA:B=7:9andB:C=15:7,thenA:C =

A

5:3
5:3
15:7
15:7

O
O

O
O

B

986 cm3 O
986 cm?3
916 cm3 0O
916 cm3

Correct Answer : A

O
O

Correct Answer : A

NN Ww
= = 01U

U »n

Q-156 et fdT BT I TG 20% TR Il 7, PR 20% ¥ fobam SITa 31 3% 9o H Y R 8

The salary of a person is first increased by 20%, then it is decreased by 20%. The net change in his salary is

A

4% It

4% increase

8% fIRTaC

8% decrease

O
O

4% fiRTae O
4% decrease
g uRad e O

No net change
Correct Answer : B

Q-157 T 4 faferar 4 g ®1 4 fife & AR Febdlt ©, A1 8 ffeerdl 1 8 ! I ARA H fba e i

If 4 cats can kill 4 rats in 4 minutes, how many minutes will it take 8 cats to kill 8 rats?

A

8

8
2
2

Q-158 FAREd & ¥ S w1 ¥ §91 32

A

Which of the following is largest?

(2+2+2)2
(2+2+2)2

(2 x2x2)2
(2 x2x2)2

O
O

OO0

B

4 O

4

1 O

1

Correct Answer : B

[(2 + 2)2]2 O
[(2 + 2)2]2

2 + 22 + (22)2 O

2 + 22 + (22)2
Correct Answer : D



Q-159 18 Wi $d TN &I BT 20 Wic el &1 Fd B FHM $HaTs W 27 BIC dd GH P! O/ BI daTg ril
The shade of a 18 ft high pole is 20 ft long. The length of the shade of a 27 ft long pole at the same elevation of the

sun will be

A 30®k O B 25 O
30 ft 25 ft

cC 29Wk O D 35Wlc O
29 ft 35 ft

Correct Answer : A

Q-160 A 3R B HHT: IR 3R <l fezmeit & v M f§g 9 Hiex Asfod R T 91U T 81d 81 A B 1 80 fobefi/der 8 ok B &1 1fay
65 fadil/ect g1 12 fiFe a1g A 3R B & o9 &t gt &1 giifi?
A and B start simultaneously from a certain point in the North and South directions respectively on motor cycles. The
speed of A is 80 km/hr and that of B is 65 km/hr. What will be the distance between A and B after 12 minutes?

A 14.5km O B 16 km 0O
14.5 km 16 km

C  19km O D 29km O
19 km 29 km

Correct Answer : D

Q-161 Tl T &1 1/2 I FSA & 1/3 ¥ 17 (% 8| 6 WS T 82
1/2 of a number is greater than 1/3 of that number by 17. What is the number?

A 51 O B 102 O

51 102
cC 56 O D 112 O
56 112

Correct Answer : B

Q-162 SR 4R PRIl & TUE BT Wepd H 3raTa fba fFam SR 39 Pfa $1 2feb HYRRIATR T@1?

Who translated the collection of South Indian tales into Sanskrit and titled the work as Kathasaritsagara?

A  dWeg O B el O
Somdev Kalhane

C  SHd O D  XexmE™ O
Jaidev Shankaracharya

Correct Answer : A

Q-163 IS @M & ARSI P GRIF FG! 3 HRA TR HHY fobar

The Mongols under Chengez Khan invaded India during the reign of

A SaE O B fiv gae O
Balban Feroz Tughlaq

fo Sogarty O D AgHG-foA-gras O
Iltutmis Mohammad-bin-Tughlaq

Correct Answer : C

Q-164 "B A WY” &1 TR AR # 4 b4 sifcie § wifdd 2

With which one of the following movements is the slogan “Do or Die” associated?

A I Mg O &  srwEgm sfidem 0O
Swadeshi Movement Non-Cooperation Movement
c  ufaTa sfaw sfdeH O D  HRd BIS! g 0O

Civil Disobedience Movement Quit India Movement



Q-165 2023 T Fmfafed & 4 foy I3 # 23 1 §2

A

Which of the following states have 23 districts as in 20237

SITH
Assam

uf$ dma
West Bengal

O
O

B

Correct Answer : D

M O
Goa
JWR U O

Uttar Pradesh
Correct Answer : C

Q-166 MARTET H A fe 2016-17 YZUHT G2 GAS! 3 T TR BT GIBR Siidl?
Who among the following won the 2016-17 UEFA Men's player of the year award?

A

fopfeart J-Test

Cristiano Ronaldo

foramgsTt

Gianluigi

O
O

B

R fret 0O
Lionel Messi
e Rl ()]

Frank Ribery
Correct Answer : A

Q-167 FERIET ¥ 3 S W1 3T I WER I T U= Gfdd FA &1 A ar 82

Which of the following article directs State Government to organize village panchayats?

A

w5 32

Article 32

35 48

Article 48

O
O

3¢ 40 O
Article 40

35 51 O
Article 51

Correct Answer : B

Q-168 MHfeiEd & A B At sicfer Toid sidRer # Go ST 1 HUM &R I8! 62

Which one of the following space agency is attempting to grow flowers in space?

A

Q-169 Pt fifs & T3 uRadT &t R Feam &

The rate of change of momentum of a body is called

A

Q-170 R Frafss & forg a1 & o ST T 22

A

_arr
NASA

IR
ROSCOSMOS

T
Velocity

3TaT

Impulse

Silicon Carbide is also known as

L]

R

Quartz
PRSH

Corundum

O
O

O
O

OO0

B

= O
ISRO
SR O
JAXA

Correct Answer : A

I O
Force
Xl ()]
Energy

Correct Answer : B

gSTRIEe O
Tridynite

PTASH O
Carborundum



Correct Answer : D

Q-171 Ty wafaRur feaw wem wman @

The World Environment Day is celebrated on

A 5% O B 10 O
June 5 June 10

c 17 O D 2197 O
June 17 June 21

Correct Answer : A

Q-172 25V3 HicX el gART & MY A, Sl W B a¥g &1 3@+ B0 60° 81 FARA & W 3R a¥g & o9 B g8 (HIex #) B
From the top of building 25v3 m high, the angle of depression of an object on the ground is 60°. The distance (in m)
between foot of the building and the object is

A 25 O B 20 O
25 20

c 30 O D 15 O
30 15

Correct Answer : A

Q-173 (86 x 86 x 86 + 14 x 14 x 14) / (86 x 86 - 86 x 14 + 14 x 14) =
(86 x 86 x 86 + 14 x 14 x 14) / (86 X 86 - 86 x 14 + 14 x 14) =

A 100 O B 110 O
100 110

c 92 O D 102 O
92 102

Correct Answer : A

Q-174 TR x+y=14,x-y=43fRx=py - 18, A p B AT
Ifx+y=14,x -y =4 and x = py - 1, then the value of p is

O B
0O D

O
O

Correct Answer : B

A

(@]
wWw ==
AP NN

Q-175 A et simfRha Trify &7 Ugel Ug - 5 § $IR IR SR 2 7, o 9P USA 6 UGl H1 AN 7

If the first term of an arithmetic progression is — 5 and the common difference is 2, the sum of its first 6 terms is

A 0 O B 5 O
0 5

c 6 O D 15 O
6 15

Correct Answer : A

Q-176 U fbdll g1 & = &1 Ub R (2, 3) § 3R &% (6, 3) &, A U BT I R &

If one end of a diameter of a circle is (2, 3) and the centre is (6, 3), the other end of the diameter is

A (3,3) O 8 &3 O
(3,3) (4, 3)
c (83 O D (10, 3) 0O

(8, 3) (10, 3)



Q-177 T FuiRd FA & g R &1 Iuam far o &

A

A histogram is used to determine

goft O B W

range mean
e O D Wga®
median mode

Q-178 Tl T ity Uipd AeTel H H Ub WIS AT I 1 UTfdehal &

A

Out of all one digit natural numbers, the probability of selecting a prime number is

1/9 O B 4/9
1/9 a/9
2/9 O D 5/9
2/9 5/9

Q-179 FaffEd & 3 B w1 FaRkal ol wieHIfeaw & o Ara R # fbar &1 R 81 82

A

Which of the following is not a place of action in human body for a malaria parasite Plasmodium?

GIEN O B fbst
Liver Kidney
AT e HIRBTY 0O »op =
Red Blood Cells Brain

Q-180 " &1 ST9” fb& FHT STl 82

A

Who is called the “Tiger of Bengal”?

o e O B Sifar Haif

Jatin Das Jatin Mukherjee
STy Fasit O D fFaEAaw
Ashutosh Mukherjee Chitya Ranjan Das

Q-181 R84 [T ST & 3remal HIF A?

A

Who was the chairman of the Thirteenth Finance Commission?

ek &l O B THel i
Subir Dutta SD Mishra

& T O p faa deew
K Santhanam Vijay Kelkar

Q-182 "Xl f8g Slea” Iu=ury fbw forar &2

A

Who has written the novel, “"Adarsha Hindu Hotel”?

IR Hg T O B dR®R SEUIe™
Sarat Chandra Chattopadhyay Tarasankar Bandyopadhyay
EQCREERINGE O p Ry seiaram

Kumud Ranjan Mallick Bibhutibhusan Bandyopadhyay

Correct Answer : D

O
O

Correct Answer : D

O
O

Correct Answer : B

O
O

Correct Answer : D

O
O

Correct Answer : C

O
O

Correct Answer : D

0 0



Q-183 T YT 30T I=cH T U Hell &
Fresh water achieves its greatest density at

A 0°C
0°C

C 2.5°C
2.5°C

Q-184 T THRM @ 5w a¥ F <R T fawar T ure

Correct Answer : D

O B 4°C 0O
4° C

O D -4°C O
-4° C

Correct Answer : B

The Ganga Action Plan was initiated during the year

A 1986
1986
C 1990
1990

Q-185 &9l 3B BI Y °IAP FAH Ha 35 ot

(0 B8 1988 O

The deadliest Tsunami in recorded history took place on

A 26 f&diR, 2004

December 26, 2004

C 15 9, 1990
November 15, 1990

1988
O D 1992 0O
1992
Correct Answer : A
O B 26 fa¥sR, 2000 0O
December 26, 2000
O D 15w, 1999 O

December 15, 1999
Correct Answer : A

Q-186 S iR WRA F ATl F o Vgaa I AT g f§3-22" Pl S foam mam ar?

Where was the joint military exercise ‘Austra Hind-22' organized between the armies of Australia and India?

A G|
Kerela

C giearom
Haryana

O B ORI O
Rajasthan
O D  fRHme uew O

Himachal Pradesh
Correct Answer : B

Q-187 SFaRT 2023 H 743 MU feaw YHRIE H oA Sl I a2
Who was the chief guest at the 74th Republic Day celebrations in January 20237

A G g
Sheikh Hasina
C QYT SfeaTiTet

Anthony Albanese

Q-188 FSSAI gRT frd TMaR &1 Es ufma o faar m 2

O B v was o R 0O
Abdel Fateh Al Sisi
O »o @A O

Emmanuel Macron
Correct Answer : B

Which animal has been given the Food Animal Tag by FSSAI?

A IREISEE R
Himalayan Bear
C feureas oo

Himalayan Yak

O B i) O
Panda

O D U O
Zebra



Correct Answer : C

Q-189 TR 2022 H TAUIT HE 7 ¥ < &1 3MdpaIe H1 YRS A BT 52

In November 2022, which country has been declared by the European Parliament as a sponsor of terrorism?

A WA O B 3®ISR O
Iran Ecuador

c Uik O D &9 O
Pakistan Russia

Correct Answer : D

Q-190 MR faaRur # 5 AR a7l # | YA B1 =STS 5 8 3R Fgan a7 &1 Fe=redl War 10 81 I=Taw avf o1 S A 8
The width of each of 5 continuous classes in a frequency distribution is 5 and the lower limit of the lowest class is 10.
The upper limit of the highest class is

A 15 O B 25 0O
15 25

c 35 O D 40 O
35 40

Correct Answer : C

Q-191 fFafafea 5 9 (x + y)3 - (x3 + y3) BT HPRB HT g2
Which of the following is a factor of (x + y)3 - (x3 + y3)?

A X2 + xy + 2y? D B X2 + y2 - xy D
X2 + Xy + 2y2 X2 + y2 - xy

C Xy?2 D D 3xy D
Xy2 3xy

Correct Answer : D

Q-192 74 A 3R B 150 fobHl R & 3IR Ush-gaX @1 3R L= &Il &1 Wi Uit 7 A 3R B &1 M A 14 fei/der 3R 11 fbefl/der g1 afe
A YRT & 2 ST 8 SR B URT & S a1 8, o 3 91¢ § fierd 8
Boats A and B are 150 km apart and start towards each other. The speeds of A and B in still water are 14 km/hr and 11
km/hr respectively. If A goes down the stream and B goes up the stream, then they meet after

A 4HR O B 6% O
4 hours 6 hours

c 5% O D e fbar o Feha O
5 hours Cannot be determined

Correct Answer : B

Q-193 U ¢ 180 HIcR ofd WehH B 30 Ahs H 3R 130 HIeR od JoT &I 25 Yebs # UR IR Il ¢ | I8 THY & o g U faefedl &
Y Pl UR IR THT §
A train can cross a 180 m long platform in 30 seconds and a 130 m long bridge in 25 seconds. The time in which it can
cross an electric post is

A 10 3PS O B 123998 0O
10 seconds 12 seconds

c  15%&s O D 8ddbs O
15 seconds 8 seconds

Correct Answer : B

Q-194 U® ST H 101g150?@@%@3‘%1ﬁwmmwﬁmm%,ﬁﬁm%%wwwsm%@%
8 HT U -Tal g

A bag contains cards numbered from 101 to 150. If a card is drawn at random, the probability that it shows a multiple



Q-195 % Ry & sfdera # Wpd Wil # ugd! fasTH gafers o1 1 o1 82

A

6 which is not a multiple of 8 is

1/10
1/10

7/50
7/50

0 0

B

D

3/25
3/25

4/25
4/25

O
O

Correct Answer : C

What is the name of the first science documentary in Sanskrit language in the history of world cinema?

Gl
Nabhyaan

=Y
Drishyam

O
O

B

D

feem

Divyam

qr-H
Yanam

Q-196 SITUM & R W I A1 4 g1 H H= WU BT g8 Fo T3] IAGH & TAT?

Which country replaced Japan to become the second largest producer of crude steel in the world?

A

HRd
India

g
Russia

O
O

B

Eik|
China

3R

America

Q-197 BT & & ¥ I0 TR A YRA P Ugal AAMR TR TRASHT I Bl 52

A

Which state government has recently launched India’s first Nilgiri Tahr project?

afraaTg

Tamil Nadu
EE‘

Telangana

O
O

B

3TY TSR
Andhra Pradesh
A

Kerela

O
O

Correct Answer : D

O
O

Correct Answer : A

O
O

Correct Answer : A

Q-198 3fCAIE, BB H SRS fay e s AR # < ued SiieH aret Uge HRAT B a2

Who became the first Indian to win two medals in the World Blitz Chess Championship held in Almaty, Kazakhstan?

A i EEdE O B BAIUN O
Tania Sachdev Richa Ghosh

C A FER O D &M gdlt O
Amrita Kumari Koneru Humpy

Correct Answer : D

Q-199 HRdY arg I 4 SU-30 MK I 81 faram forarsd & faRaTia ¥ SRl &1 Ihadigde usien faan
Indian Air Force successfully test-fired the extended range version of missile from SU-30 MK I fighter.

A T 0O & f=w O
Brahmos Trishul

c B O D -1 O
Fearless Agni - I

Correct Answer : A



Q-200 Wﬁﬁ%ﬁ%mﬁﬁw;@ﬁwm&a%%%m 16 99 ¥ 3% IU &1 s +ff Afad s ot aga
Tl 82

Which of the following countries has recently passed a transgender law under which anyone above the age of 16 years
can change their gender?

A T 0O & o 0
Italy Switzerland
c  ids O D HA O

New Zealand Spain

Correct Answer : D



